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SEQ 0003
1.0 ABSTRACT
This program tests the LSI-11 floating instruction set <FADD, FSUB,
FMUL , FDIV> option with fixed r patterns, using each register

at least once as the stack pointer. It also checks stack overflow and
that the floating instructions can be interrupted (by the console
teletype). [However, this test will not be executed when bit 5 of
$ENW  byte is highl. The program should be run for at least 2 passes
with all switches Low. The program is designed to run under APT, and
ACT, systems. When running under APT, with bit 5 of SENVM low it will
be required to have a SLU with TTY registers having add esses of
176 and interrupt vectors of 70 for receiver and 74 for
transmitter. uUnder such a condition it will also be required to
change the run time of first pass from 5 seconds to the time given 1n
Sec. B,1, and the run time for the lLongest test from 3 seconds to 30

seconds.

2.0 REQUIREMENTS
LTC SWITCH MUST BE IN OFF POSITION TO RUN DIAGNOSTIC.

.1 Equipment
LSI=11 standard computer with FIS option and 4K of memory.

2.2 Storage

Program Storage = The routines use memory Q = 17500.
|

2.3 Preliminary Programs

None .,

.0 LOADING PROCEDURE

Jse standard procedure tor ABS Tapes.




E
— SEQ 0004

4.0 STARTING PROCEDURE

4.1 Control Switch Settinas

see 5.1.1 (ali ow tor worst rase testing).

4.2 Starting Address

After Loading the program it should always be started at 200. it it
is desired to save the pass counter then the program should be
restarted at location RESTRT (i,e. 222) otherwise the program can be
restarted at 200.

4.% Program And/or Operator Action

4.%3.1 Stand Alone -
1. Load program into memory usirg ABS (oader.

2. Set switches (see Sec 5.1.1) ali low except bit 7 for worst
case,

3. Type 200G.

4, The program will loop and "END PASS"' will be typed after
completion of every pass. However type out will be
suppressed if bit 5 of location $ENVM is high.

5. A minimum of two passes should always be run.

L]

4.3.2 under Apt - Load the pro?ram, set the switches (see Sec.
§.1.1) and start. When under APT, with bit 5 of $ENVM low it will be
required to have a SLU with TTY re$1sters having addresses of
1?8%60766 and 1nterruﬁt vectors of 70 for receiver and 74 for
transmitter. Under such a condition it will also be required to
change the run time of first pass from 5 seconds to the time given 1n
Sec. 8.1, and the run time for the longest test from 3 seconds to_ 30
seconds. The test times and pass times are suggested with bit 7 of
$SWREG, low, 1t 1t is desired to enable the iterations then the times
should be multiplied by a factor of 256.
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5.0 OPERATING PROCEDURE

5.1 Operational Switch Sertings

ALl switches Low except SW<11> is worst case testing. With bit 11 of
the Llocation S$SWREG (i.e. Llocation 422), high each subtest will be
looped upon until completion of 256 passes of that subtest. END
PASS'' will be typed upon ¢ tetion of a pass of the entire program.
Alternate pass will run with the T=bit set.

5.1.1 Switch Settings Are = A 16 bit location called SSWREG (i.e.
location 422) has been used to give the following options by inserting
al in their respective positions.
BIT # OCTAL VALUE FUNCTION

15 100000, . .cc000000s . Halt On Error

14 040000......0...... Scope Loop

13 L R . Inhibit Printout

12 010000...... cesesss Inhibit Trace_Trapp1ng

" 004000.....c00000n-- Enable Iterations Of Subtest

10 L R B8ell On Error

09 QU0 o cco00ss .... Loop On Error _

08 O006XX .o cvococsssess Loop On Test In Bits 7 Thru 0

An 8 bit byte SENVM (i.e. location 421) has been used to define the
operating mode. All typeouts can be suppressed by making bit 5 of
byte $ENVM high, in other words by placing a 20000 in location 420.

5.2 Subroutine Abstracts

5.2.1 Scope = This subroutine call (via a_ TRAP instruction) is
placed between each subtest in the instruction section. It records
the starting address of each subtest as it is being entered 1in
location 'TA $''. It a scope loop is requested, the current subtest
will be looped upon. SW<11> is a 1 inhibits iteration of subtests.
The contents of ‘LAD$'' may be used to determine the last subtest
successfu Ly completed.

5.2.2 HLT = This routine (called by an EMT instruction) prints out
an error message (see 6.1). [If SW<9> is a 1 and a HLT is executed,
the subtest will be Looped upon until 256 gonsecutlve good passes are
completed. To inhibit typeouts, make Sw<13> a 1. To ring the bell on
an error, make SW<10> a 1. A high bit 5 in location SENVM wil!
inhibit any typeouts and ringing of be!ls.

SEQ 0005




G 1
Page 6

5.2.3 T Bit Trap - f SwWw<12> is a 0, the T-Bit will be set on
alternate passes. When the T-Bit is set, the processor traps after
each instruction, The first instruction executed upon trapping 1s_ an
"RTT'* which returns to the interrupted sequence of instructions. This
sequence is continued unti. the end of the program is reached.

5.2.4 Trap Catcher = A '',+2'" = "WALT" sequence is repeated from
0-776 to catch any unexpected traps. Thus any unexpected traps or
interrupts will hait at the vector +2.

5.2.5 Floating Error Trap (To 244) - It a tloating point error
(overflow, underflow, or divide by zero) was expected, the vector will
point to a unique ISR within the subtes: where the error occurred
which checks the data on the stack(s). If an error was not
anticipated, an erroneous trap will be detected in traper.

5.2.6 NOP - A NOP is placed just before each FIS instruction. This
al lows the operator to patch in a halt for debugging purposes.

6.0 ERRCRS
6.1 Error Printout

The format is as follows:
FRRNM ADR PS SP ANST ANS2 ANS3 ANS4  ANSS  ANS6

where:

ERRNM . = Error Number

ADK = Address of Error HLT

PS = Processor Status

SP = (ontents of Stack Pointer Register

ANG 1 =6 = Error Data Read from the Stack(s). From 0 to 6 ot

these may be typed depending on the number fott0uin?
the HLT; e.g., HLT+3 would type ANST thru ANS3, HL
(by itself) would stop after ERRNM, ADR, PS, and SP.

'o tind the failihg test, loop at the listin? above the aduress typed.
In most cases the comment beside the HLT telils what was being checked
and what was expected. ALl gfvnt0uts will be suppressed when bit 5 of
'ocation S$ENVWM 1., high. wWwhile running under APT the diagnostic wil!
not support spooi'ng of console outputs,

SEQ 0006
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6.6 Error Recovery

Restart at 200 or 222 («ee Sec. &.2).

6.3 Error Counter

An error count is kept in location "ERRORS''. It can only be cleared
trom the console or by reloading the program.

7.0 RESTRICTIONS
None .

8.0 MISCELLANEOQUS

8.' Execution Time

Due to the random characteristics of the interrupt tests, the
execution time can be half a minute or more. However, normally "END
PASS'' will be typed within 40 seconds with_ all switches down.

fxecution time will increase by a factor ot 256 when iterations of
each subtest are enabled.

8.2 Stack Pointer
Stack is initially set to 600.

B.% Pass (ount

A 16 bi* location 'SPASS'' (i.e. location 406) is used to keep pass
count. It can be cleared by restarting the program at 200.

B.4 Test Number

A4 16 bit location "STESTN'' (i.e. lccaton 404) is used to keep track
ot the test number. Upper byte of this location gives the iteration
number and the [ower byte the test that was being executed.

SEQ 0007
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00U0B.5 Power Fail "

fach test can be power failed with no errors. To use, start the . test
as usual and power down then up at any time. The program should type
"POWER'" ana continue to run from where the power fail Interrupted with
no other error t/peouts.

00009.0 PROGRAM DESCRIFTION

This program tests all the FIS instructions of the LSI-11 (FADD, FSUB,
FMUL, and FDIV). ALL registers are checked to see if they function
properly as the stack pointer. The program has mang subtests (the
code between 2 scope statements) which are run once before continuing
to the next subtest. SW<11> set to a 1 causes each subtest to be run

00256 times SW<9> set to a 1 enables Loop on error. The location $ICNT
contains the iteration count and the location $TESTN contains the test
number. ALl the subtests should be run seguentially by starting at

00200 not by starting at the beginning of the subtest. To loop on a
gart1cular subtest, put the test number (see Listing) in the right
yte of the location $SWREG and Sw<8> set to a 1. This test will be
looped wupon until SwW<B> is set to a O or the right byte is changed.
It the test is non-existent, the program will be run as usual.

.ENDR
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CVKACC.P11 16=-AUG=-78 (8:4 TABLE OF CONTENTS . SEQ 0009
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CVKACC MACY11 30A(1052) 21-AUG-78 15:28 PAGE 3
%gigg CVKACC.P11 16=AUG=-78 0B8:41 SEQ 0011
00400 el 31900

00 3 32000 .ABS
4 LTITLE CVKACC -
¢ :«COPYRIGHT (C) AUGUST 1978
00800 3 :*DIGITAL EQUIPMENT CORP.
00900 7 ;*MAYNARD, MASS. 01754
01000 # i
8} 1% 18 - «PROGRAM BY DIAGNOSTIC ENGINERRING
- %

01500 1 *xTHIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMA(C
01400 12 “«PACKAGE (MAINDEC-11-DZQAC-B),JULY 11,1975.
01500 13 a o* ; i
01600 14 000001 $TN=1
01700 15 160000 $SWR=160000 ::HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT
01800 16 32900 . ¢ ,
01900 17 23600
02000 18 34000
02100 19 35400
05200 20 35500 ‘
02300 21 36900
02400 22 40200
02500 23 40700
02 24 41200
027 25 42000
02800 26 45100
C2900 27 49600
03000 28 54900
03100 29 55300
03200 30
03 3
03400 22
03500 32 : SWITCH USE - -
03600 34 &L "
Oge% 35 : g o LOOP ON TEST IN SW<7:0>
0 36 ; 9 LOOP ON ERROR
03900 27 : 10 1 - BELL ON ERROR
04088 28 : 1 INHIBIT ITERATIONS
041 3G 12 INHIBIT TRACE TRAP
0‘0% 40 13 INHIBIT ERROR TYPEOUTS
04 41 : 14 LOOP ON TEST
04400 42 ; 15 HALT ON ERROR
04500 43
04600 44 55500 :ERROR MESSAGE FORMAT:
04700 45 55600 - ERRNM ADR PSW SP ANS1 ANS2 ANS3 ANS4 ANSS5 ANS6
04800 46 55700
04900 47 55800 -WHERE ERRNM= ERROR NUMBER
05000 48 55900 ADR = ADDRESS OF "HLT'" INSTRUCTION + 2
051 4«9 56000 ; PSW = PROCESSOR STATUS WORD
0S S0 56100 ; SP = STACK POINTER
05 51 56200 : ANS1 THRU ANS6 = DATA OFF THE STACK(S)
05400 52 56300 : NOTE: ANST THRU ANS& ARE NOT ALWAYS TYPED, DEPENDING ON THE
05500 53 56400 NUMBER ADDED TO THE "MLT™, "MLI'* ALONE TYPES NONE,
05% 54 , 56500 : "HLT+1'* TYPES ANS1, "HLT+2'' TYPES ANS1 AND ANS2, ETC.
05 59 : 56600
05800 56 104000 56700 H.'= EMT '
05900 &7 000000 56800 RO-= %0
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MACY11 3%0A(1052) 21-AUG-78 15:28 PAGE 4
P11 16~-AUG~78 08:41 SWITCH OPTIONS AND ASSIGNMENTS SEQ 0017

000001 56900 Rl= %1
000002 57000 R¢Z= %2
200003 57100 R3= %3
000004 57200 Ré4= %4
00C005 57300 RS5= %5
000005 57400 TTY= %5
000006 57500 SP= %6 :
000007 57600 PC= x7
000024 . 57700 PWRVEC= 24
104400 57800 SCOPE= TRAP
100000 57900 SwW15= 100000
040000 58000 SW14= 40000

» 020000 58100 SW13= 20000
010000 58200 SwWi12= 10000
004000 58300 Swilil= 4000
002000 58400 SwW10= 2000
001000 58500 SwWO9= 1000
000400 58600 SWO8= 400
000004 58700 TYPE=  IOT
000001 58800 N= 1
000001 58900 $F= 1

;*ttttt.ttt‘it;ttiiitit***ttttﬁﬁ‘i‘Qtt*i*.tii*ttttttittt'tt'!ttt

: 59100
000000 23588 .= 0 -TRAP CATCHER FROM 0 - 776
;tit*itti**t*tﬁ.*it*.itttttttitttttttt*iﬁt.ﬁ!itti'iittittttlﬁtQQ
SBTTL  ACT11 HOOKS
:HOOKS REQUIRED 3Y A(CT11
001000 $SVPC=, :SAVE PC
000046 g
000046 863823 SgggAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
000052 000000 "WORD O° £:2)SET LOC.52 TO ZERO
001000 .=$SVP( :: RESTORE RC
60200
60300
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CVKACC.P11 16~AUG~78 08:41 VECTOR AREA, STACKS, ANSWER AREA, AND SETUP ROUTINE SEQ 0013

95 60800
000400 60900 .= 400

:tlttttttttt*liitt.'itittttttt"!t"l.tt.ltltiitllitttttt.ttﬁ'tl

.SBTTL APT MAILBOX-ETABLE

R

%
98
79
100
01 10
01 10%
1%% 10 .EVEN
1 104 000400 $MAIL : ::APT MAILBOX
1400 105 000400 0QC0000 $MSGTY: .WORD AMSGTY :;:MESSAGE TYPE CODE
01500 106 000402 000000 $FATAL: .WORD AFATAL ;.;FATAL ERROR NUMBER
01900 107 000404 000000 $TESTN: .WORD ATESTN ;.TEST NUMBER
81 00 108 000406 000000 $PASS: .WORD APASS ; ;PASS COUNT
1800 109 000410 000000 $DEVCT: .WORD ADEVCT ;:;DEVICE COUNT
819& 110 000412 000000 $UNIT: .WORD  AUNIT ;2170 UNIT NUMBER
111 000414 000000 $MSGAD: .WORD AMSGAD ;;MESSAGE ADDRESS
02100 11§ 000416 000000 $MSGLG: .WORD AMSGLG ; :MESSAGE LENGTH
0 i% 11 000420 $ETABLE: : :APT ENVIRONMENT TABLE
114 000420 000 $ENV: .BYTE AENV _ : :ENVIRONMENT BYTE
4% 115 000421 000 $ENVM: _.BYTE AENVM : :ENVIRONMENT MODE BITS
5 116 000422 000000 $SWREG: .WORD ASWREG ;;APT SWITCH REGISTER
8 117 000424 000000 $USWR: - .WORD AUSWR ::USER SWITCHES
00 118 000426 000000 / $CPUOP: .WORD ACPUOP ;:CPU TYPE,OPTIONS
8800 119 i* © BITS 15-11=CPU TYPE
120 % - 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
0 121 Ix 11/70=06,PDQ=07,0=10
03100 122 o % BIT 10=REAL TIME CLOCK
Og 00 123 o BIT 9=FLOATING POINT PROCESSOR
0 124 o BIT 8=MEMORY MANAGEMENT
034 125 000430 ) SETEND:
%is 156 JMEXIT
127 / .-ttttttttt*tttttttttlrtttttttttt**ttttttt*ttttttttttttttﬁ&ttttttt
128
83% 1§9  JSBTTL APT PARAMETER BLOCK
3 130 :SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
04 13 :ttttttttt*ttttttt*ttl'lttttttttttttitttttttttttttttttttttttttttt
041 13% 000430 $X=, ::SAVE CURRENT LOCATION
04 13 000024 =24 ::SET POWER FAIL TO POINT TO START OF PROGRAM -
04 134 000024 000200 200 ::FOR APT START UP
04400 135 000044 . =244 ::POINT TO APT INDIRECT ADDRESS PNTR.
045 136 000044 000430 $APTHDR ::POINT TO APT HEADER BLOCK
Od 137 . 000430 =.8X ::RESET LOCATION COUNTER
04 1 :tttttttttttttitt*tttttttttttttttt*ttt*ttt*ttttttttttttttttttttt
04800 13 :SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC
04900 140 s INTERFACE *SPEC. -
050% 141
os1 14% 000430 $APTHD :
05% 14 30 000000 $HIBTS: .WORD C ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR
05 144 32 000400 $MBADR: .WORD $MAIL ::ADDRESS OF APT MAILBOX (BITS 0-15)
05400 145 0004% 000003 - $TSTM: .WORD 3 :2RUN TIM OF LONGEST TEST
55 146 8882 000005 $PASTM: .WORD 5 ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VER
147 40 000000 $UNITM: .WORD ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADD ]
0s 148 000442 000014 . _WORD SETEND-SMAIL/Z2 ::LENGTH MAILBOX~E TABLE (WORD )
05800 149 000430 61200 2 $APTHD
05900 150 000430 61300 HLTADS:
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE ¢
P11 16-AUG~-78 08:41 APT PARAME TER BLOCK SEQ 0014
000432 61400 " HLTADS+2
000432 61500 $PSW: :PROCESSOR STATUS WORD
0004 34 61600 o= - $PSW+2
000434 61700 $SP: :STACK POINTER
000436 61800 o= $SP+?2
000436 61900 ANS1: :FIRST ANSWER (SEE CODE’
000440 62000 .= ANS1+2
000440 62100 ANS2:
000442 62200 o= ANSZ2+2
000442 62300 ANS3:
000444 62400 " ANS3+?2
000444 000000 62500 ANS4: 0
000446 000000 62600  ANSS: 0
000450 000000 62700  ANS6: 0
000452 000000 000000 000000 628C0 0,0,0.0 :NON=%6 STACK BUFFER
000460 000000
000462 000000 62900 ERRORS: 0
000464 000244 63000 FISVEC: 244 :FIS TRAP VECTOR ADDRESS
0004 000246 63100 FISLVL: 246
000470 000000 63200 LADS: 0
000472 006412 000 63300 RETURN: .ASCIZ <12><15> :RETURN AND LINEFEED
888?53 883 020012 020040 63400 SPACE: .ASCIZ <15><12>'* "' ;RETURN AND 3 SPACES
000503 000 63500 SICNT: .BYTE O
€¢3600 .EVEN
000504 000007 63700 S$BELL: .WORD 7 :RING A BELL
000506 000000 63800 SAVIPS: O :LOC TO SAVE TELEPRINTER. STATUS
000510 000000 63900 STACKO: 0 *NON-%6 STACK NORMAL LIMIT
000512 000000 64000 STACKZ2: O :
000514 000000 64100 STACK4: O 3
000516 000000 64200 STACK6: 0 :
000520 000000 000000 000000 64300 STACk8: 0,0,0,0,0 :NON=-%6 STACK BUFFER
000526 000000 000000
000532 000000 64400 STAK10: C
000511 64500 STACK1 = STACKO+1
000534 000000 64600 TEMP: 0
000536 000000 64700 TIMES: O
000540 000000 64800 TYPCNT: O
000542 000006 64900 YESRT: RTI :RETURN FROM TRACE TRAP
000544 000000 65000 .PR: C :COUNT AND SWITCH
000546 000064 65100 TTYOUT: 64
000550 177564 65200 $TPS: 177564 :TTY PRINTER STATUS REG.
000552 177566 65300 $TPR: 177566 STTY PRINTER BUFFER REG.

.
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE
P11 16~AUG~78 08:41
38200
38300
8400
38500
000200
000200 000167 017104 38700
000204 000167 000370 38800
38900
39000
39100
39200
000600 39300
39400
000600 012706 000600 39500
000604 012737 000542 000014 39600
000612 012737 017170 000020 39700
000620 012737 017030 000024 %3388
000626 012700 000030 40000
000632 012720 016464 40100
000636 012720 000340 40200
000642 012720 015716 40300
000646 012710 000340 40400
000652 012737 000006 000004 40500
000660 132737 000007 000420 40600
001410 40700
000670 012700 000554 40800
000674 012740 176566 40900
000700 012740 176564 41000
000704 012740 000074 41100
000710 005067 177470 41200
000714 005067 177550 41300
41400
41500

7

c 2

APT PARAMETER BLOCK

SEQ 0015

.'ﬁttltﬁ.Q'Qt‘t..ttti.ittiitittt.ttQQt‘Q!Q‘t."iliititt.'tt....‘.

.SBTTL STARTING OF THE PROGRAM

RESTRT:

BEGIN:

1%:

2%:

200
JMP
JMP

NOOOP
BEGIN

#BEGIN, SP
H#YESRT, a#14
#STYPE, a#2C
#SPWRDN ,a#24

#30, RO
AHLTS, (Q)+
#340, (0)+
#SCOPES, (0) +
#340, (0

#$T1PB+2 R0
#176566,-(R0O)
#176564 ,-(R0)
#74,-(R0O)
$TESTN

LADS

;GO TO TYPE HEADING & INITIALIZATION
;START THE PROGRAM

;INITIALIZE STACK POINTER

;SET TRACE TRAP VECTOR

sSET UP VECTOR 20

:SERVICE POWER DOWN ROUTINE FOR ANY FUTURE
;POWER DOWN

:SET RO TO VECTOR 30

;SET EMT VECTOR

:SET TRAP VECTOR
JRESTORE TIME-OUT VECTOR
;ARE WE UNDER APT ?

;IF NOT THEN GO TO 2%
;OTHERWISE SET FOR THE OTHER SLU

;CLEAR LOOP ADDRESS
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE 8

P11 16=AUG-78 08:41 FADD TEST SECTION SEQ 0016
:tttttttttttttttttt!.ﬁttltttttItttttitttt!t!tt't.tittt..t!it...ttOQQQt.!
‘ “TEST 1: “FADD (LSI=11 FLOATING ADD INSTRUCTION)
: 000000,000000 + 000000,000000 = 000000, 000000
Ps = 004, STACK POINTER = RO
:ttttttt'ttt!tttttttttttttitittttttltttttﬁ....l‘i'ttittttttqtttt.ttt‘tl‘
000720 104400 SCOPE
000722 004567 015260 IST1:  JSR RS PUSHR  :PUSH 4 WORDS ONTO RO STACK, SET PRIORITY
000726 000000 000000 .WORD  000000,000000 :SECOND OPERAND ON TOP
000732 000000 000000 "WORD  000000.000000 :FIRST OPERAND ON BOTTOM
000736 000000 WORD 000 "PROCESSOR PRIORITY LEVEL
000740 016456 000340 .WORD TRAPER,340 :FIS TRAP VECTOR
000744 012700 000510 MOV #STACKO.RO “SET UP STACK POINTER
000750 000240 NOP
000752 075000 FADD RO :FLOATING ADD ON THE RO STACK
000754 004767 015260 JSR PC, POPR :POP THE ANSWER
000760 010067 177450 MOV RO, $SP “SAVE ''STACK POINTER''
000764 122767 000004 177440 cmeB #004, $PSW  :CHECK PS (EXCEPT T BIT)
000772 001402 BEQ .+6 *BRANCH IF OK
000774 104000 HLT :PS NOT EQUAL TO 004
000776 1 1 “THE ERROR NUMBER IS 1
001000 022767 000514 177426 ! CMP #STACKS , $SP :CHECK THE STACK POINTER (RO)
001006 001402 BEQ .46 *BRANCH IF OK
001010 104000 HLT *STACK POINTER (RO) NOT EQUAL TO #STACK4
001012 000002 2 “THE ERROR NUMBER IS 2
001014 005767 177416 ST ANS 1 :CHECK FIRST HALF OF ANSWER
001020 001402 BEQ .46 “BRANCH IF OK
001022 104002 - HLT+2 *ANS1 NOT EQUAL TO 000000
001024 000003 2 “THE ERROR NUMBER IS 3
001026 005767 177406 ST ANS?2 :CHECK SECOND HALF OF ANSWER
001032 001402 BEQ .46 *BRANCH IF OK
001034 104002 HLT+2 *ANS2 NOT EQUAL TO 000000
001036 4 “THE ERROR NUMBER IS &
001040 122767 000001 177336 ENDT: CMPB  #1, $TESTN :CHECK THE TEST NUMBER
001046 001402 BEQ 6 ‘BRANCH IF OK
001050 104000 HLT :WRONG TEST! PC MUST HAVE FOULED uP,
001052 000005 5 :THE ERROR NUMBER IS 5
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CVKACC.P11 16=AUG=-78 08:41 FADD TEST SECTION SEQ 0017

7

575 :ttttttttttitltﬁttttQttttttttﬁtltt'tittl.tttttt..&llQ...t'tttttittt.ttlt

27 STEST 2: " FADD (LSI=11 FLOATING ADD INSTRUCTION)

278 ; 000000,000000 + 152525,052524 = 152525,052524

279 ; PS = 010, STACK POINTER = R3

280 :ttttt*ttttttttttﬁtttttttitttttttttttQtttit't.titittttttitttttt!tIQQQQ!I

281

282 001054 104400 SCOPE

283 001056 004567 015124 TST2:  JSR RS PUSHR  :PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY

284 001062 152525 052524 LWORD  152525,052524  :SECOND OPERAND ON TOP

285 001066 000000 000000 "WORD 000000,000000 ;FIRST OPERAND ON BOTTOM

286 001072 000040 .WORD 040 “PROCESSOR PRIORITY LEVEL

287 001074 016456 000340 "WORD  TRAPER, 340 “FIS TRAP VECTOR

533 001100 012703 000510 MOV #STACKO,R3 “SET UP STACK POINTER

290 001104 000240 NOP

335 001106 075003 FADD R3 :FLOATING ADD ON THE R3 STACK

293 001110 004767 015124 JSR PC, POPR :POP THE ANSWER

294 001114 010367 177314 MOV R3, $SP “SAVE '‘STACK POINTER''

295 001120 122767 000010 177304 cMeB8 #0710, $PSW  :CHECK PS (EXCEPT T BIT)

296 001126 001402 BEG .46 *BRANCH IF OK

297 001130 104000 HLT . *PS NOT EQUAL TO 010

ggg 001132 000006 6 “THE ERROR NUMBER IS 6

300 001134 022767 000514 177272 CMP #STACKS , $SP :CHECK THE STACK POINTER (R3)

301 001142 001402 BEQ .46 “BRANCH IF OK

302 001144 104000 : HLT *STACK POINTER (R3) NOT EQUAL TO #STACK&

382 001146 000007 7 “THE ERROR NUMBER IS 7

305 001150 022767 152525 177260 CMP #152525,ANS1 :CHECK FIRST HALF OF ANSWER

206 001156 001402 BEQ +6 *BRANCH IF OK

307 001160 104002 HLT+2 *ANS1 NOT EQUAL TO 152525

%83 001162 000010 : 10 *THE ERROR NUMBER IS 10

310 001164 022767 052524 177246 CMP #052524 ,ANS2 -CHECK SECOND HALF OF ANSWER

311 001172 001402 BEQ .46 :BRANCH IF OK

312 001174 104002 HLT+2 *ANS2 NOT EQUAL TO 052524

g}z 001176 000011 11 “THE ERROR NUMBER IS 11

2315 001200 122767 000002 177176 END2: C(MPB  #2, $TESTN :CHECK THE TEST NUMBER

316 001206 001402 BEQ .46 *BRANCH IF OK

317 001210 104000 HLT *WRONG TEST! PC MUST HAVE FOULED UP.

;}g 001212 000012 12 “THE ERROR NUMBER [S 12

320
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16=AUG-78 08:41 FADD TEST SECTION ' SEQ 0018
"ilt.Q‘“Q"Q..tit.iﬁii.ltﬁtﬁﬁi*tﬁtt.‘ﬁit."“ti'..ii"'t.'.i..Q.'.Q.t..
“TEST 3: "FADD (LSI-11 FLOATING ADD INSTRUCTION)
: 040200,000000 + 040200,000000 = 040400,000000
Ps = 000, STACK POINTER = R1

-‘tﬁ"IQ'tit't‘*tﬁtil’tttittIﬁﬁﬁ.‘.....'..i....ti.iItt.tl"..QQttt.'ttttttt

104400 SCOPE

006567 014764 1ST3:  JSR RS PUSHR  :PUSH 4 WORDS ONTO R1 STACK, SET PRIORITY

040200 000000 .WORD  040200,000000 :SECOND OPERAND ON TOP

040200 000000 "WORD  040200.000000 :FIRST OPERAND ON BOTTOM

000040 'WORD 040 "PROCESSOR PRIORITY LEVEL

016456 000340 "WORD  TRAPER,340 “FIS TRAP VECTOR

0127017 000510 MOV #STACKO R1 “SET UP STACK POINTER

000240 NOP

075001 FADD  R1 . :FLOATING ADD ON THE R1 STACK

004767 014764 JSR PC, POPR  :POP THE ANSWER

010167 177154 MOV R $SP “SAVE ‘'STACK POINTER''

105767 177146 ST $PSW “CHECK PS (EXCEPT T BAD)

001402 BEC Y *BRANCH IF OK

104000 LT *PS NOT EQUAL TO 000

000013 13 “THE ERROR NUMBER IS 13

022767 000514 177134 rmp #STACKS , $SP :CHECK THE STACK POINTER (R1)

001402 BEQ .46 "BRANCH IF OK

104000 % “STACK POINTER (R1) NOT EQUAL TO #STACK4

000014 14 *THE ERROR NUMBER IS 14

022767 040400 177122 -mp #040400,ANST  :CHECK FIRST HALF OF ANSWER

001402 BEQ 46 "BRANCH IF OK

104002 ML Te2 "ANS1 NOT EQUAL TO 040400

000015 . . 14 “THE ERROR NUMBER IS 15

005767 177112 1§17 ANS2 " :CHECK SECOND HALF OF ANSWER

007402 BEQ .6 *BRANCH IF OK

104002 T2 “ANS2 NOT EQUAL TO 000000

000016 % “THE ERROR NUMBER IS 16

122767 000003 177042 ENDZ: TMPB 3, $TESTN :CHECK THE TEST NUMBER

001402 8EQ L+ "BRANCH IF OK

104000 LT "WRONG TEST! PC MUST HAVE FOULED UP.

000017 17 “THE ERROR NUMBER 15 17
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FADD TEST SECTION SEQ 0019
"..!t'ttit.'....'tQQQ...'t'tt.'l.t'i...tlii.i.l....tt..!t'!tt'...t.tt.'l
STEST & FADD (LSI=11 FLOATING ADD INSTRUCTION)
: 077?77 177777 « 177777177777 = ,000000
004, STACK POINTEP = R2
;ttlttttttt'tttttl.tttt..t.tttt't'..'Q.Qt‘t"t..t..tti.t...t...Q.ltt..tt
SCOPE
TST4:  JSR PUSHR  :PUSH &4 WORDS ONTO R2 STACK, SET PRIORITY
.WORD 17?777 177777  :SECOND OPERAND ON TOP
"WORD 077777.177777  :FIRST OPERAND ON BOTTOM
.WORD 100 *PROCESSOR PRIORITY LEVEL
"WORD  TRAPER, 340 “FIS TRAP VECTOR
MOV #STACKO . R2 "SET UP STACK POINTER
’
NOP
FADD  R2 <FLOATING ADD ON THE R? STACK
JSR PC, POPR :POP_THE ANSWER
MOV R2, $SP :SAVE "'STACK POINTER''
177010 cmoB #004., SPSW  :CHECK PS (EXCEPT T BIT)
BEG Ry “BRANCH IF OK
HLT :PS NOT EQUAL TO 004
20 *THE ERROR NUMBER IS 20
176776 CMP #STACKL ,$5F :CHECK THE STACK POINTER (R2)
BEQ L+6 “BRANCH IF 0K
HLT "STACK POINTER (R2) NOT EQUAL TO #STACK&
21 *THE ERROR NUMBER [S 21
ST ANS 1 :CHECK FIRST HALF OF ANSWER
BEQ .+ *BRANCH [F OK
HLT+2 “ANST NOT EQUAL TO 000000
22 *THE ERROR NUMBER [S 22
ARTY! ANS? -CHECK SECOND HALF OF ANSWER
BEC Ry *BRANCH IF OK
H%T*Z SANS2 NOT EQUAL TO 000000
2 *THE ERROR NUMBER [S 23
17670€ END4: (MPB 4, $TESTN :CHECK THE TEST NUMBER
BEG Y3 SBRANCH IF OK
LT “WRONG TEST! PC MUST HAVE FOULED uP.
2, “THE ERROR NUMBER 1S 24
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CVRACC P 16=-AUG-78 (08:41 FADD TEST SECTION SEQ 0020

e

41
412 .'Ittttttttt.t'tttttﬁlttlttltttttttitt.t..t..tt..tt'tl.ttttttttt....!....
415 :TEST S: - FADD (LSI=11 FLOATING ADD INSTRUCTION)
00700 L6 | : 052525,052525 + 152525.,052524 = 044600,000000
00800 417 : PSs = 200, STACK POINTER = SP
m 418 :ttlttttttittt.tttt.t.ttt'ttttttttttt'lttttttﬂtt".ttl..iitltitttt't.t't
01000 619
01100 420 001504 104400 SCOPE
01388 421 001506 004567 0143222 TSTS:  JSR RS PUSHS :;PUSH 4 WORDS ONTO STACK, SET PRIOR]
01 422 001512 152525 052524 LWORD 152525,052524  :SECOND OPERAND ON TOP
01400 42% 201516 082525 052525 .WORD 052525.052525 :FIRST OPERAND ON BOTTOM
01500 424 001532 000217 .WORD 217 :PROCESSOR PRIORITY LEVEL
8}988 222 001524 016456 000340 .WORD  TRAPER, 340 :F1S TRAP VECTOR
01800 427 001530 000240 NOP
81900 2%3 001532 (075006 FADD SP :FLOATING ADD ON THE STA(K
02100 43 001534 004767 014334 JSR PC, POPS :POP THE ANSWER
02%88 431 001540 022706 C00600 CMP #BEGIN, SP :CHECK THE STACK POINTER
432 001544 001405 BEQ TSAS :BRANCH IF OK
02400 43% 001546 012706 000600 MDY #BEGIN, SP :RESTORE STACK POINTER
02500 43 001552 104000 HLT :STACK POINTER FOULED UP
02600 435 001554 000025 25 :THE ERROR NUMBER IS 25
85;88 2%9 001556 000421 HR ENDS :SKIP REST OF TEST
02900 438 (001560 122767 000200 176644 TSAS:  (MPB #200, $PSW :CHECK PS (EXCEPT T BIT)
03000 439 001566 001402 BEQ .6 :BRANCH IF OK
03100 440G 001570 104000 HLT :PS NOT EQUAL TO 200
8588 22; 001572 000026 2¢€ :THE ERROR NUMBER IS 26
03400 463 001574 022767 044600 176634 CMP #0464600 ,ANS T :CHECK 7IRST HALF OF ANSWER
03500 464 001602 001402 BEQ L6 :BRANCH IF 0K
0 445 001604 104002 HLT+2 :ANST NOT EQUAL TO 044600
8 700 22? 001606 000027 : 27 :THE ERROR NUMBER IS 27
0390C 448 001610 005767 176624 ST ANS?2 :CHECK SECOND HALF OF ANSWER
04000 449 001614 1402 BEQ .*6 :BRANCH IF OK
04100 450 001616 104002 HLT#2 :ANS2 NOT EQUAL TO 000000
82%88 231 001620 000030 20 :THE ERROR NUMBER IS 30
04400 453 001622 122767 000005 176554 ENDS:  CMPB »s5, $TESTN :CHECK THE TEST NUMBER
04500 456 D01630 001402 BEQ .*6 :BRANCH IF 0K
04600 455 001632 104000 HLT -WRONG TEST! PC MUST HAVE FOULED UP,
0 700 456 001636 000031 31 . THE ERROR NUMBER [S 31
(800 FAY,
04900 58
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CVKACC P11 16=AUG=78 08:41 FADD TEST SECTION SEQ 0021

459 .

[.60 ttttttttt.'t.tttttttttttittitttittQt...ll!ttt.itt't.tttt.nn.tl.!Q.o.ntt

pry STEST 6: FADD (LSI=11 FLOATING ADD INSTRUCTION)

4b¢ : 125 00,000000 + 025177,177777 = 117200 000000

463 ; 210, STACK POINTER =

‘6{. '-ttttttttttttttttittttitttttitttttﬁtl'tttttttttttttttt".i..t-.ttﬁtti0.0

465

Lh6 001636 104400 SCOPE

467 001640 004567 014170 TST6:  JSR RS PUSHS :PUSH & WORDS ONTO STACK, SET PRIORI

468 001644 025177 177777 _WORD 025177.177777  :SECOND OPERAND ON TOP

469 001650 125200 000000 "WORD  125200.000000 :FIRST OPERAND ON BOTTOM

470 001654 000307 .WORD 307 *PROCESSOR PRIORITY LEVEL

2;1 001656 016456 000340 "WORD  TRAPER, 340 “FIS TRAP VECTOR

73 001662 000240 NOP

2;2 001664 075006 FADD  SP :FLOATING ADD ON THE STACK

476 001666 004767 0146202 JSR PC, POPS :POP THE ANSWER

477 001672 022706 ©00600 CMP MBEGIN, SP “CHECK THE STACK POINTER

478 (001676 001405 BEQ TSAS “BRANCH IF OK

479 001700 012706 000600 MOV #REGIN, SP “RESTORE STACK POINTER

480 001704 104000 HLT :STACK POINTER FOULED UP

481 001706 000032 32 *THE ERROR NUMBER IS 32

23% 001710 000421 BR END6 SKIP REST OF TEST

484 001712 122767 000210 176512 TSA6: CMPB  #210, $PSW  ;CHECK PS (EXCEPT T BIT)

485 001720 001402 BEQ Y *BRANCH IF OK

486 001722 104000 HLT :PS NOT EQUAL TO 210

23; 001724 000033 33 :THE ERROR NUMBER IS 33

489 001726 022767 117200 176502 CMP #117200,ANS1 :CHECK FIRST HALF OF ANSWER

490 00173& 001402 BEQ .46 *BRANCH IF OK

491 001736 104002 HLT+2 *ANST NOT EQUAL TO 117200

23; 0017%0 000034 L . “THE ERROR NUMBER IS 34

494 001742 005767 176472 ST ANS?2 . :CHECK secouo HALF OF ANSWER

495 001746 001402 BEG 46 “BRANCH IF OK

49 001750 104002 HLT+2 *ANS2 NOT EQUAL TO 000000

23; 001752 000035 35 “THE ERROR NUMBER IS 35

499 001754 122767 000006 176422 END6: C(MPB  P6, $TESTN ;CHECK .THE rssr NUMRE R

500 001762 001402 BEQ RY *BRANCH: IF 0K

501 001764 104000 LT “WRONG TEST! PC MUST HAVE FOULED UP,
00036 36 *THE ERROR NUMBER [S 36
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: FADD TEST SECTION SEQ 0027
"l‘l‘.tl’..'....t..t..'l'Q".Q"!.l‘..l..'.......Ittli.t.....Ql..tlttttl...
“TEST 7: FADD (LSI=11 FLOATING ADD INSTRUCTION)
: 135753,024642 + 100125,052525 = 135753,024642
; ps = 210, STACK POINTER = RS
:!.t..Q.t.tii....I............Q.“..Q.'Q.i'.‘i...‘.‘il.llﬁl.li!'Q.Q..!tl
SCOPE
014210 1ST7:  JSR RS PUSHR  :PUSH & WORDS ONTO RS STACK, SET PRIORITY
052525 "WORD  100125.052525 :SECOND OPERAND ON TOP
024642 "WORD 135753024642 :FIRST OPERAND ON BOTTOM
"WORD 347 *PROCESSOR PRIORITY LEVEL
000340 "WORD  TRAPER, 340 *FIS TRAP ‘£~ TOR
00051C MOV #STACKO RS “SET UP ST “.. POINTER
NOP
FADD RS :FLOATING ADD ON THE RS STACK
014210 JSR PC, POPR  :POP THE ANSWER
176400 MOy RS $sP “SAVE ''STACK POINTER'
000210 176370 cmeR #2710, $PSw  :CHECK PS (EXCEPT T BIT)
BEG .6 *BRANCH IF OK
HLT *PS NOT EQUAL TO 210
37 “THE ERROR NUMBER IS 37
000514 176356 CMP #STACKG , $SP :CHECK THE STACK POINTER (RS)
BEQ .+6 "BRANCH IF OK
LT “STACK POINTER (RS) NOT EQUAL TO #STACK4
40 “THE ERROR NUMBER IS 40
135753 176344 : CMP 2135753, ANS1 :CHECK FIRST HALF OF ANSWER
BEQ .46 *BRANCH IF OK
HLT+2 *ANST NOT EQUAL TO 135753
41 “THE ERROR NUMBER IS 41
024642 176332 MP 8024642 ANS?  :CHECK SECOND HALF OF ANSWER
BEC .+ “BRANCH IF OK
HLT+2 *ANS2 NOT EQUAL TO 024642
42 “THE ERROR NUMBER IS 42
000007 176262 END7: (MPB  #7, $TESTN :CHECK THE TEST NUMBER
BEQ gt | ‘BRANCH IF OK
ML T "WRONG TEST! PC MUST HAVE FOULED UP.
43 “THE ERROR NUMBER 1S 43
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FADD TEST SECTION SEQ 0023

AR AR AR AN A AR AR A AR ARRRARARARAAA AR AR AAAA AR CARRR RN R RdaR Rt an

STEST 10: "FADD (LSI=11 FLOATING ADD INSTRUCT!ON)
$ 000052,125252 + 001357,024642 = 001357,024642

ps = 200, STACK POINTER = R1
:t.tttttittttttttttitti‘.!.'ittt..tti"tt.'itt!it..tttttﬁQttt.ititt!ti.t
SCOPE
014050 1ST10: JSR RS, PUSHR  :PUSH &4 WORDS ONTO R1 STACK, SET PRIORITY
024642 _WORD 001357,024642 :SECOND OPERAND ON TOP
125252 "WORD 000052.125252  :FIRST OPERAND ON BOTTOM
"WORD 257 *PROCESSOR PRIORITY LEVEL
000340 "WORD  TRAPER, 340 *FIS TRAP VECTOR
000510 MOV #STACKO.R1 “SET UP STACK POINTER
NOP
FADD  RI :FLOATING ADD ON THE R1 STACK
014050 JSR PC, POPR  :POP THE ANSWER
176240 MOV R1 $SP "SAVE ''STACK POINTER''
000200 176230 cmee #2200,  $PSW -CHECK PS (EXCEPT T BIT)
BEC .+6 *BRANCH IF OK
HLT *PS NOT EQUAL TO 200
44 “THE ERROR NUMBER IS 44
000514 176216 CMP #STACKS , $SP :CHECK THE STACK POINTER (R1)
BEQ .+6 "BRANCH IF OK
\ HLT “STACK POINTER (R1) NOT EQUAL TO #STACK4
' 45 *THE ERROR NUMBER IS 45
001357 176204 CMP #001357 ,ANS1 :CHECK FIRST HALF OF ANSWER
BEQ .+6 "BRANCH IF OK
HLT+2 *ANST NOT EQUAL TO 001357
L6 “THE ERROR NUMBER IS 46
024642 176172 CMP 8024642 .,ANS2  :CHECK SECOND HALF OF ANSWER
BEQ .+6 *BRANCH IF OK
HLT+2 SANS2 NOT EQUAL' TO 024642
47 “THE ERROR NUMBER IS 47
000010 176122 END10: CMPB  #10,  STESTN :CHECK THE TEST NUMBER
BEQ .46 *BRANCH IF OK
HLT "WRONG TEST! PC MUST HAVE FOULED UP.
50 “THE ERROR NUMBER IS 5C
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001 CVKACC MACY11 30A(1052)
gg CVKACC.P11 16~AUG~78 08: FADD TEST SECTION : SEQ 0024
00400 597
msm 598 ;-mtttttttttttt--ntﬁtuantttttttntttt-tttt.ttttttto.-nnt--o-tottnnton.--
00988 599 STEST 11: _FADD (LSI=11 FLOATING ADD INSTRUCTION)
00 600 3 1 00 + 00 ,000000 = 100200, 000000
00800 601 : Ps = 010, STACK POINTER = RS
|IH.) 60% .-tttltttttttttﬁitt'ttttttttti.tttittt.ttttttttttt'ttt!tttlttttttt..q.t!'
01000 60
01100 604 002270 104400 SCOPE
01§88 605 002272 004567 013710 TST11: JSR RS PUSHR  :PUSH & WORDS ONTO RS STACK, SET PRIORITY
01 606 002%6 000200 000000 _WORD  000200,000000 :SECOND OPERAND ON TOP
01400 607 002 100400 000000 .WORD  100400,000000 ;FIRST OPERAND ON BOTTOM
01500 608 002 000140 .WORD 140 :PROCESSOR PRIORITY LEVEL ;
01900 609 002310 016456 000340 .WORD TRAPER,340 :FIS TRAP VECTOR :
8}888 g}? 002314 012705 000510 MOV #STACKO RS “SET UP STACK POINTER
01900 612 002320 000240 NOP
02?88 ggz 002322 075005 FADD RS :FLOATING ADD ON THE RS STA(K
8gg88 615 002324 004767 013710 JSR PC, POPR :POP THE ANSWER
0 616 002330 010567 176100 MOV RS, $SP :SAVE ''STACK POINTER''
400 617 002334 122767 000010 176070 CMPB #010, $PSW :CHECK PS (EXCEPT T BIT)
02500 618 002342 001402 BEG .+6 :BRANCH IF OK
02600 619 002344 104000 HLT :PS NOT EQUAL TO 010
0 ;88 25? 002346 000051 51 :THE ERROR NUMBER IS 51
0 622 002350 022767 000514 176056 ; CMP #STACKSG , $SP :CHECK THE STACK POINTER (RS)
0 623 002356 001402 BEQ .+6 :BRANCH IF OK
03100 624 002360 104000 HLT *STACK POINTER (RS) NOT EQUAL TO #STACK&
83 gsg 002362 000052 52 :THE ERROR NUMBER IS 52
03400 627 002364 022767 100200 176044 CMP #100200,ANS1 :CHECK FIRST HALF OF ANSWER
03500 628 002372 001402 BEQ 6 :BRANCH IF 0K
03% 629 002374 104002 HLT+2 :ANST NOT EQUAL TO 100200
8; 23? 002376 000053 g3 :THE ERROR NUMBER IS 53
03900 632 002400 005767 176034 TST ANS?2 :CHECK SEEOND HALF OF ANSWER
04000 633 002404 001402 BEQ .46 :BRANCH IF 0K
04100 634 002406 104002 HLT+2 :ANS2 NOT EQUAL TO 000000
82;88 g;g 002410 000054 54 :THE ERROR NUMBER S 54
04400 637 002412 122767 000011 175764 END11: CMPB 11, $TESTN :CHECK THE TEST NUMBER
04500 638 002420 001402 BEQ .+6 :BRANCH IF 0K
oagpo 639 002422 104000 HLT “WRONG TEST! PC MUST HAVE FOULED UP.
04700 640 002424 000055 55 :THE ERROR NUMBER IS 55
04800 (A
046900 642
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m 2

FADD TEST SECTION

SEQ 0025

AR A AR R AR R AR AR AR AR AR A AR AR AR AAAARNAAAARARAAA AR A NGRS R R RN G RRRRERRR R

STEST 12:

000425,052525 + 100252,125
STACK POINTER =

PS =

200,

FADD (LSI=11 FLOATING ADD INSTRUCTION)
000000

252 = 000200

;ttt*ttttt*t‘ﬁlt'titttitittttttt‘t!ﬁ..‘Q........i....t'i.i't'.'t.tt'.tl.

TST12:

END12:

SCOPE

RS
106252.125252
000425 052525
TRAPER 340
#STACKO RS

R4

PC, POPR
R& $SP
#200, $PSW
.+6

#STACKSG ,$SP
.+6
#000200,ANS1
.+6

ANS2

.46

r12, $TESTN
.+6

;PUSH 4 WORDS ONTO R/o STACK SET PRIORITY
;SECOND OPERAND ON T

:FIRST OPERAND ON NTTO’I

:PROCESSOR PRIORITY LEVEL

sFIS TRAP VECTOR

*SET UP STACK POINTER

;FLOATING ADD ON THE Ré& STACK

:POP THE ANSWER

:SAVE ‘‘STACK POINTER''
:CHECK PS (EXCEPT T BIT)
:BRANCH IF OK

;PS NOT EQUAL TO 200
;:THE ERROR NUMBER IS 56

;CHECK THE STACK POINTER (R4)

:BRANCH IF OK

;STACK POINTER (R4) NOT EQUAL TO #STACK4
;THE ERROR NUMBER IS 57

;CHECK FIRST HALF OF ANSWER
:BRANCH IF OK

;ANS1 NOT EQUAL TO 000200
:THE ERROR NUMBER IS 60

s CHECK SECCN) HALF OF ANSWER
:BRANCH IF OK

:ANS2 NOT EQUAL TO 000000
:THE ERROR NUMBER IS 61

;CHECK THE TEST NUMBER

sBRANCH IF OK
:WRONG TEST! PC MUST HAVE FOULED UP.
;THE ERROR NUMBER IS 62
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00 CVKACC.P11  16~AUG-78 08:4 FADD TEST SECTION SEQ 0026
wsm ggg -ttattttwtttttttttttttttttttn-tttanwatttqtt--tttttttttttw'n---qa-.----t
691 STEST 13: FADD (LSI=11 FLOATING ADD INSTRUCTION)
00700 692 " : 100425,052525 + 000252,125252 = 100200 000000
693 : PS = 210 STACK POINTER
00900 694 ;tttttttttttt-qitttttntttutttttttwtttt-tttttttttw\nt-'ttn----ctt.tt-ttc-
01000 695
01100 696 00c.64 104400 . SCOPE
01%88 697 002566 004567 013242 TST13: JSR RS PUSHS ;PUSH 4 WORDS ONTO STACK, SET PRIORI
01 698 002572 000252 125252 .WORD 000252 1252 52  :SECOND OPERAND ON TOP
01400 699 002576 100425 052525 "WORD 100425.052525 :FIRST OPERAND ON BOTTOM
01500 700 002602 000307 .WORD 307 *PROCESSOR PRIORITY LEVEL
01900 701 002604 016456 000340 .WORD - TRAPER, 340 ;FIS TRAP VECTOR
01700 702 . - ‘
01800 703 002610 000240 NOP
81900 ;8‘5' 002612 075006 FADD SP :FLOATING ADD ON THE STACK
02100 706 002614 004767 013254 JSR PE, POPS ;POP THE -ANSWER
0 i&‘ 707 002620 022706 000600 CMP #BEGIN, SP :CHECK THE STACK POINTER
708 002624 001405 BEQ TSA13 BRANCH IF 0K
02400 709 002626 012706 000600 MOV #BEGIN, SP REST(RE STACK POINTER
02500 710 002632 104000 HLT °* :STACK POINTER FOULED UP
600 711 002634 000063 63 :THE ERROR NUMBER IS 63
0 ;&9 ;} 002636 000421 BR END13 SKIP REST OF TEST
0 714 002640 122767 000210 175564 TSA13: C(MPB #210, $PSW ;CHECK PS (EXCEPT T BIT)
0 715 002646 001402 ! BEQ .46 *BRANCH IF OK
03100 716 002650 104000 HLT :PS NOT EQUAL TO 210
8%;88 ;4; 002652 000064 : 64 :THE ERROR NUMBER IS 64
03400 719 002654 022767 100200 175554 CMP #100200 ,ANS1 :CHECK FIRST HALF OF ANSWER
03500 720 002662 001402 BEQ .46 :BRANCH IF OK
03900 721 005664 104002 HLT+2 *ANS1 NCT EQUAL TO 100200
83 00 ;S; 002666 000065 €5 $ . :THE ERROR NUMBER IS 65
0%% 724 002670 005767 175544 TST ANS2 ;CHECK SECOND HALF OF ANSWER
D 725 002674 001402 BEQ .46 *BRANCH IF OK
8:1 726 002676 104002 HLT+2 *ANS2 NOT EQUAL TO 000000
% ;25 002700 000066 66 :THE ERROR NUMBER IS 66
044 729 88 702 122767 000013 175474 END13: (MPB ”13, $TESTN ;CHECK THE TEST NUMBER
045 730 710 001402 BEQ .t ;BRANCH [F OK
04 731 002712 104000 HLT SWRONG TEST! PC MUST HAVE FOULED UP.
04 700 232 002714 000067 67 :THE ERROR NUMBER IS 67.

04 73 -
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CVKACC P11 16-AUG-78 08:41 FADD TEST SECTION SEQ 0027
5

7
7 ;t'ttt.tt'Q‘ttt..ttlittttltlitt't.ll..t.t't.Q".itti..t.ttttll..'.'Q.Q.Q
7 STEST 1 FADD (LSI=11 FLOA 5 ; “?S ;9~>
7 : 077652 125252 + 077452.125252 = or 777,177
7 : ps = 200, STACK POINTER =
?l.o . ;tttitttt!ttttttttt..tQt.ltl'ttt.tttt't'l.i..i.t...tt...".QQQQ'....Q'..
741 _
74 002716 104400 SCOPE
74 720 567 013110 TST14: JSR RS PUSHS :PUSH 4 WORDS ONTO STACK, SET PRIORI
74 704 07745 155255 .WORD 077452.155352 :SECOND OPERAND ON TOP
745 730 077652 12525 "WORD 077652.125252 :FIRST OPERAND ON BOTTOM
74 7 80025 WORD 257 *PROCESSOR PRIORITY LEVEL
;28 7 16456 000340 "WORD  TRAPER, 340 “FIS TRAP VECTOR
749 002742 000582 NOP
;g? 002744 075 FADD SP :FLOATING ADD ON THE STACK
762 00274 7267 013122 JSR PC, POPS  :POP THE ANSWER
763 002752 022706 000600 CMP #BEGIN, SP “CHECK THE STACK POINTER
754 88 756 001405 BEQ TSA14 “BRANCH IF OK
755 760 012706 000600 MOV #BEGIN, SP “RESTORE STACK POINTER
, 75 88 764 104000 HLT *STACK POINTER FOULED UP
D¢ 75 7 70 70 *THE ERROR NUHBER IS 70
0 ;gg 002770 000422 BR END14 *SKIP REST OF TEST
L )78
029 760 002772 122767 000200 175432 TSA14: C(MPB #4200, SPSW  ;CHECK PS (sxcspr T BIT)
8' 761 88 001402 BEQ L +6 *BRANCH 1F
7e§ 104000 HLT *PS NOT EOUAL 10 200
8 ;24 003004 000071 71 *THE ERROR NUMBER IS 71
0 765 00 022767 077777 175422 CMP 8077777 ,ANS1  :CHECK FIRST HALF OF ANSWER
0 766 003014 001402 BEQ .46 *BRANCH IF OK
036 767 003016 104002 HLT+2 *ANS1 NOT EQUAL TO 077777
8 ;68 003020 000072 70 *THE ERROR NUMBER IS 72
039 770 gs 022767 177777 175410 (MP #177777 ,ANS2  :CHECK SECOND HALF OF ANSWER
A 771 1402 BEQ 46 *BRANCH IF OK
041 77 gg 1 ogg . u%roz :ANS2 NOT EQUAL TO 177777
82 ;;4 0030 7 “THE ERROR NUMBER IS 73
04 775 ggzo 122767 000074 175340 END14: C(MPB  M14,  STESTN ;CHECK THE TEST NUMBER
045 77 4 001402 BEQ .46 ‘BRANCH IF OK
Od 7?7 3846 104000 HLT "WRONG TEST! PC MUST HAVE FOULED UP.
04 778 003050 000074 74 “THE ERROR NUMBER 1S 74
04800 779
04900 780
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823 003206
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104400
004567
177652
177452
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012704

000240
075004
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010467
122767

001402

21-AUG-78
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177777
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15:28 PAGE 20
FADD TEST SECTION

SEQ 0028

T 122222322222 2232332223333 32 RSttt Rttt ittt ld)

_FADD (LSI=11 FLOATING ADD_INSTRUCTION)

STEST 15:
: 177452

;PUSH 4 WORDS ONTO R4 STACK, SET PRIORITY

;FIRST OPERAND ON BOTTOM
;PROCESSOR PRIORITY LEVEL

;FLOATING ADD ON THE R4 STACK

;CHECK PS (EXCEPT T BIT)

;THE ERROR NUMBER IS 75
;CHECK THE STACK POINTER (R4).

*STACK POINTER (R4) NOT EQUAL TO #STACK&
*THE ERROR NUMBER IS 76

;CHECK FIRST HALF OF ANSWER

;ANS1 NOT EQUAL TO 177777
:THE ERROR NUMBER IS 77

HALF OF ANSWER

;ANS2 NOT EQUAL TO 177777
: THE ERROR NUMBER [S 100

PC MUST HAVE FOULED UP.

: 125252 + 177652.,125252 = 177777 ,177777
ps = 210, STACK POINTER = R4
:tttt!*tttittittiitttttlttittﬁit*ti.itiiti'itttittiilt'ttitﬁtttt..tttti.
SCOPE
TST15: JSR RS PUSHR
_WORD  177652,125252 :SECOND OPERAND ON TOP
"WORD  177452.125252
.WORD 357
"WORD  TRAPER,340 “FIS TRAP VECTOR
MOV #STACKO R4 “SET UP STACK POINTER
NOP
FADD R4
JSR PC, POPR  :POP THE ANSWER
MOV R& . $SP “SAVE ''STACK POINTER''
175306 cMPB #2710,  $PSW
BEQ .+6 *BRANCH IF OK
;%T *PS NOT EQUAL TO 210
175274 CMP #STACKSL , $SP
BEQ .+6 *BRANCH IF OK
HLT
76
175262 cCMP 8177777 ,ANS1
BEQ .+6 *BRANCH IF OK
HLT+2
77
175250 CMP #177777.ANS2  :CHECK SECOND
BEQ .+6 “BRANCH IF OK
HLT+2
100
175200 END15: CMPB  #15, $TESTN :CHECK THE TEST NUMBER
BEQ s *BRANCH IF OK
75¥ “WRONG TEST!

:THE ERROR NUMBER IS 1C1
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CVKACC.P11 16-AUG~78 08:4 FADD TEST SECTION SEQ 0029
827
828 :t'ttttt'ttttittﬁttttttt!'ttttttiitlttittt‘Qttlltt.tt.ttttttti.tttttt't'
8%8 :TEST 16: . FADD (LSI=11 FLOATING ADD INSTRUCTION)
8 : 004000,105004 + 104000,104000 = 000401,000000
831 ; Ps = 000, STACK POINTER = Pf
85% :ttttIttittttt!ﬁtttttittltttttttttttttttttttttttﬁ'tﬁﬁthtl!ttittttttttt.
83
834 003212 104400 SCOPE
835 003214 004567 013140 TST16: JSR RS, PUSH? :PUSH 4 WORDS ONTO STACK, SET PRIORITY
836 003220 003244 .WORD STK16 ;TOP OF STACK
837 003222 104000 104000 .WORD  104000,104000 ;SECOND OPERAND ON TOP
838 003226 004000 105004 .WORD 004000,105004 ;FIRST OPERAND ON BOTTOM
839 003232 000144 .WORD 144 :PROCESSOR PRIORITY LEVEL
329 003234 016456 000340 .WORD TRAPER, 340 ;FIS TRAP VECTOR
842 003240 000240 NOP
B43 003242 075007 FADD PC :FLOATING ADD ON FOLLOWING 4 WORDS
844 003244 104000 STK16: 104000 :SHOULD CONTAIN 104000
845 003246 104000 104000 :SHOULD CONTAIN 104000
846 003250 004000 004000 :BEFORE FADD, 004000; AFTER, 000401
gzg 003252 105004 105004 :BEFORE FADD, 105004; AFTER, 000000
849 003254 004767 013130 JSR i POP7 :POP THE ANSWER
850 003260 105767 175146 TSTB $PSW :CHECK PS (EXCEPT T BIT)
851 003264 001402 BEQ .46 ;BRANCH IF 0K
852 003266 104000 HLT :PS NOT EQUAL TO 000
ggz 003270 000102 102 :THE ERROR NUMBER IS 102
855 003272 022767 104000 175136 CMP #104000,ANS1 :CHECK FIRST HALF OF INPUT DATA (STK16)
856 003300 001402 BEQ .+6 ;BRANCH IF 0K
857 003302 104002 HLT+2 :ANST NOT EQUAL TO 104000
ggg 003304 000103 103 :THE ERROR NUMBER IS 103
860 003306 022767 1064000 175124 CMP #104000 ,ANS2 :CHECK SECOND HALF OF INPUT DATA (STK16+2)
861 003314 001402 BEQ .*6 ;JBRANCH [F OK
862 003316 104002 HLT+2 ;ANS2 NOT EQUAL TO 104000
ggz 003320 000104 104 :THE ERROR NUMBER IS 104
865 003322 022767 000401 175112 CMP #000401,ANS3 ;CHECK FIRST HALF OF ANSWER
866 003330 001402 P BEQ .+6 :BRANCH IF 0K
867 003332 104004 HLT+4 :ANS3 NOT EQUAL TO 000401
ggg 003334 000105 105 :THE ERROR NUMBER IS 105
870 003336 005767 175102 TST ANS4 :CHECK SECOND HALF OF ANSWER
871 003342 001402 BEQ .*6 :BRANCH IF OK
872 003344 104004 HLT *4 ;ANS4 NOT EQUAL TO 000000
g;‘ 003346 000106 106 :THE ERROR NUMBER IS 106
875 003350 122767 000016 175026 ENC16: CMPB 26, $TESTN ;CHECK THE TEST NUMBER
876 003356 001402 BEG .+6 ;BRANCH IF 0K
877 003360 104000 HLT ‘ :WRONG TEST! PC MUST HAVE FOULED UP,
g;g 003362 000107 107 :THE ERROR NUMBER [S 107
880 ‘
B&1 .

88,_ A AR AP R RRER TP AN AR I AP AN R AR E SRR R A AR R AR AR AR AR AR AP RA RS RIS SN R R RRRRRRR R RN RO RY
L
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P11 16=-AUG=7 TEST FLOATING ADD INSTRUCTION WITH UNDERFLOW SEQ 0030
sTEST 17: FADD (LSI-11 FLOATING ADD INSTRUCTION)
: 100200,000000 + 000377,177777 ==> UNDERFLOW

PS(ON STACK) = 012, STACK POINTER = R3
AR AR RN R AR AR AR AR AR AR R AR SRR RN R R a R

003364 104400 SCOPE :
003366 004567 012614 TST17: JSR RS PUSHR  ;PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY
003372 000377 177777 .WORD  000377,177777  :SECOND OPERAND ON TOP

003376 100200 0GO000 .WORD  100200,000000  ;FIRST OPERAND ON BOTTOM'
003402 000157 .WORD 157 ;PROCESSOR PRIORITY LEVEL
003404 003436 000000 .WORD ISR17, 000 ;FIS TRAP VECTOR

003410 012703 000510 MOV #STACKO,R3 ;SET UP R3 AS STACK POINTER
003414 000240 NOP

003416 075003 FADD R3 ;FLOATING ADD ON THE R3 STACK
003420 004767 012614 RTA17: JSR . POPR ;POP THE ''ANSWER''

003424 010367 175004 MOV R3, $SP :SAVE STACK POINTER (R3)

003430 104002 HLT+2 ;FIS TRAP DIDN'T OCCURE !

003432 000110 110 :THE ERROR NUMBER IS 110

003434 000462 BR END17

003436 004767 012626 ISR17: JSR P, POPER  ;POP ALL DATA OFF THE STACKS
003442 010367 174766 MoV R3, $SP ;SAVE STACK POINTER (R3)

003446 105767 174760 1STB $PSW ;CHECK PS AFTZR FIS TRAP

003452 001402 BEQ .+6 ;BRANCH IF OK

003454 104000 ' HLT :PS AFTER FIS TRAP NOT EQUAL TO 000
003456 000111 in ;THE ERROR NUMBER IS 111

003460 022767 000510 174746 (me #STACKOQ,$SP ;CHECK THE STACK POINTER (R3)
003466 001402 BEQ .*6 ;BRANCH IF OK

003470 104000 oy HLT ;STACK POINTER (R3) NOT EQUAL TO #STACKO
003472 000112 112 :THE ERROR NUMBER IS 112
003474 022767 003420 174734 (MP #RTA17, ANSI ;CHECK FIS TRAP RETURN ADDRESS
003502 001402 BEQ .*6 ;BRANCH IF OK

003504 104001 HLT+1 ;FIS TRAP AT WRONG ADDRESS
003506 000113 S i i ;THE ERROR NUMBER IS 113

003510 022767 000012 174722 CMP #012,  ANSZ ;CHECK PS BEFORE FIS TRAP
003516 001402 BEQ .+6 ;BRANCH [F OK

003520 104002 HLT+2 ;PS AT FIS TRAP TIME NOT 012
003522 000114 : 114 ;THE ERROR NUMBER IS 114
003524 022767 000377 174710 (MP #000377 ,ANS3 ;CHECK DATA FROM THE STACK
003532 001402 BEQ .6 ;BRANCH IF OK

003534 104004 HLT+4 ;DATA ON STACK (000377) CHANGED
003536 000115 115 ;THE ERROR NUMBER IS 115

003540 022767 177777 174676 (MP #177777 ,ANS4 ;CHECK DATA FROM STACK

003546 001402 BEQ .+6 ;BRANCH IF OK

003550 104004 HLT+4 :DATA ON STACK (177777) (HANGED
003552 000116 116 :THE ERROR NUMBER [S 116

003554 Q227¢7 100200 74664 (MP #100200,ANSS ;CHECK DATA FROM STACK

003562 001402 BECG .6 JBRANCH IF Ok
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15:28 PAGE 23
TEST FLOATING ADD INSTRUCTION WITH UNDERFLOW

HLT+6
117

TST
BEQ
HLT +6
120

CMPB
- BEQ

HLT

121

ANS6
.+6

217,
.*6

END17:

$TESTN

SEQ 0031

;DATA ON STACK (100200) C(HANGED
:THE ERROR NUMBER IS 117

:CHECK DATA FROM STA(CK

;BRANCH IF Ok

:DATA ON STACK (000000) CHANGED
:THE ERROR NUMBER IS 120

sCHECK THE TEST NUMBER

;BRANCH IF OK
;WRONG TEST! PC MUST HAVE FOULED UP.

: THE ERROR M{"BER IS 121
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CVKACC P11 16-AUG-78 08:4 TEST FLOATING ADD INSTRUCTION WITH UNDERFLOW SEQ 0032
953
95‘ .'l...t'.‘...'..’...t..........‘ti‘.."i.'.."'..‘...Q......"‘i.l.....'..t
955 “TEST 20: "FADD (LSI-11 FLOATING ADD INSTRUCTION)
956, : 000200,000000 + 100377,177777 ==> UNDERFLOW
957 : PS(ON STACK) = 212, STACK POINTER = SP
958 "‘.Iﬁ‘ﬁﬁ‘.'.‘*....'.ﬁii‘ﬁﬁ..'.‘...........'.'...‘I‘..’.I"I‘l.'.t...Q.t'..'i.
959
960 003616 104400 SCOPE
961 003620 004567 012210 TST20: JSR RS PUSHS :PUSH 4 WORDS ONTO STACK, SET PRIORITY
96% 003624 100377 177777 "WORD  100377.177777  :SECOND OPERAND ON TOP
93 003630 000200 000000 .WORD 000200,000000 :FIRST OPERAND ON BOTTOM
964 003634 000257 ‘WORD 257 "PROCESSOR PRIORITY LEVEL
%2 003636 003664 000340 .WORD ISR20, 340 :FIS TRAP VECTOR
967 003642 000240 NOP
323 003644 075006 FADD  SP :FLOATING ADD ON THE STACK
970 003646 004767 012222 RTA20: JSR PC, POPS :POP THE ''ANSWER''
971 003652 104002 HLT+2 “FIS TRAP DIDN'T OCCURE'
972 003654 000122 122 “THE ERROR NUMBER IS 122
973 003656 012706 000600 MOy #BEGIN, SP "RESTORE THE STACK POINTER
g;‘so 003662 000463 BR END20
976 003664 004767 012236 ISR20: JSR PC, POPES  :POP ALL DATA OFF THE STA(CK
977 003670 022706 000600 CMP #BEGIN, SP “CHECK THE STACK POINTER
978 003674 001405 BEQ 1SA20 “BRANCH IF OK
979 003676 012706 000600 MOV #BEGIN, SP “RESTORE THE STACK POINTER
980 003702 104000 HLT *STACK POINTER FOULED UP
981 003704 000123 123 :THE ERROR NUMBER IS 123
gg§ 003706 000451 BR END20 “SKIP REST OF TEST
984 003710 122767 000340 174514 ISA20: (MPB  #340, $PSW  :CHECK PS AFTER FIS TRAP
985 003716 001402 BEQ .6 :BRANCH IF OK
986 003720 104000 HLT *PS AFTER FIS TRAP NOT EQUAL TO 340
ggg 003722 000124 124 *THE ERROR NUMBER IS 124
989 003724 022767 003646 174504 cMP #RTA20, ANS1 :CHECK FIS TRAP RETURN ADDRESS
990 003732 001402 BEQ .+6 :BRANCH IF Ok
991 00373 104007 HLT+ “FIS TRAP AT WRONG ADDRESS
gg 003736 000125 125 :THE ERROR NUMBER IS 125
994, 022767 000212 174472 CMP #212, ANSZ  :CHECK PS BEFORE FIS TRAP
995 001402 BEG 46 *BRANCH IF OK i
996 104002 HLT+2 ‘PS AT FIS TRAP TIME NGT 212
ggg 000126 126 “THE ERROR NUMBER 1S 126
999 022767 100377 174460 CMP #100377,ANS3  :CHECK DATA FROM THF STACK
1000 001402 BEQ 6 *BRANCH IF 0K
1001 104004 ML T+4 *DATA ON STACK (100377) CHANGED
;88% 000127 127 *THE ERROR NUMBER 1S 127
1004 882767 177777 174446 (MP 8177777 ,ANS& :CHECK DATA FROM STACK
1005 1402 BEQ RYs "BRANCH [F OK
1006 104004 HL T4 “DATA ON STACK (177777) (HANGED
328; 000130 130 “THE ERROR NUMBER 1S 130
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VKACC P11 16-AUG-78 08:4 TEST FLOATING ADD INSTRUCTION WITH UNDERFLOW SEQ 0033
1009 004 022767 000200 1744% CMP #000200,ANSS :CHECK DATA ram STACK

1010 004012 001402 BEQ .6 SBRANCH IF OK

1011 004014 104006 HLT+6 . :DATA ON STACK (000200) CHANGED

}g}i 004016 Q00131 13 :THE ERROR NUMBER S 131

1014 0040 005767 174424 TST ANS6 :CHECK DATA FROM STACK

1015 004026 001402 BEQ .+6 “BRANCH IF OK

1016 004026 101.026 HLT+6 :DATA ON STACK (000000) CHANGED

;8}; 0040 000132 132 :THE ERROR NUMBER S 132

1019 004032 122767 000020 174344 END20: C(MPB #20, $TESTN ;CHECK THE TEST NUMBER

1020 004040 Q01402 BEQ .6 :BRANCH IF 0K

10217 004042 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP,
183 004064 000132 133 :THE ERROR NUMBER ]S 133

1006
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MACY1] SOA(IOSS) 21-AUG=78 15:28 PAGE 26
P 16-AUG~-78 08:41 TEST FLOATING ADD INSTRUCTION WITH OVERFLOW SEQ 0034
L L bt bbbt AR AL LR L
;TEST 21: FADD (LSI=11 FLOATING ADD INSTRUCTION)
: 177452,125253 + 177652,125252 ==> QVERFLOW
PS(ON STACK) = 002, STACK POINTER = R1

"-tttttttttttttttitttttlttttttttttlttt.tﬁttttittttttttttttttt.-.tﬁitttttt

006046 104400 SCOPE
004050 006567 012132 1ST21: JSR RS PUSHR  :PUSH &4 WORDS ONTO R1 STACK, SET PRIORITY
004054 177652 125252 _WORD  177652,125252  :SECOND OPERAND ON TOP
004060 177452 125253 "WORD  177452.125253  :FIRST OPERAND ON BOTTOM
004064 000105 .WORD 105 :PROCESSOR PRIORITY LEVEL
006066 004120 000252 .WORD ISR21, 252 :F1S TRAP VECTOR
004072 012701 000510 MOV #STACKO,R1 :SET UP R1 AS STACK POINTER
004076 000240 NOP
004100 075001 FADD R1 :FLOATING ADD ON THE R1 STACK
004102 004767 012132 RTA21: JSR PC, POPR :POP THE ''ANSWER''
004106 010167 174322 MOV R1, $SP :SAVE STACK POINTER (R1)
0064112 104002 HLT+2 :FIS TRAP DIDN'T OCCURE'
004114 000134 13 :THE ERROR NUMBER [S 134
004116 000464 BR END21
006120 004767 012144 ISR21: JSR PC, POPER  ;POP ALL DATA OFF THE STACKS
004.1%:. 010167 174304 MOV R1 $SP :SAVE STACK POINTER (R1)
004130 122767 000252 174274 (MPB #4252, $PSW  :(CHECK PS AFTER FIS TRAP
004136 001402 BEQ . +6 :BRANCH IF OK
004140 104000 HLT “PS AFTER FIS TRAP NOT EQUAL TO 252
004142 000135 135 :THE ERROR NUMBER [S 135
004144 022767 000510 174262 CMP #STACKO,$SP :CHECK THE STACK POINTER (R1)
004152 001402 BEQ .6 :BRANCH IF 0K :
004154 104000 KT SSTACK POINTER (R1) NOT EQUAL TO #STACKO
004156 000136 136 :THE ERROR NUMBER IS 136
004160 022767 004102 1724250 (MP #RTA21, ANSI1 :CHECK FIS TRAP RETURN ADDRESS
004166 001402 BEQ .+6 :BRANCH IF 0K
004170 104001 HLT#1 “FIS TRAP AT WRONG ADDRESS
00417% 000137 137 :THE ERROR NUMBER IS 137
004174 Q22767 000002 174236 (MP #002, ANS? :CHECK PS BEFORE FIS TRAP
004202 001402 BEQ .6 :BRANCH IF OK A
0045846 104002 v HL T2 “PS AT FIS TRAP TIME NCT 002
004 000140 140 :THE ERROR NUMBER IS 14C
006210 022767 177652 174224 CMP 8177652 ,ANS3 :CHECK DATA FROM THE STACK
004216 001402 BEQ . +6 :BRANCH IF 0K
004230 104004 HL T+4 “DATA ON STACK (177652) CHANGED
004222 000141 141 “THE ERROR NUMBER IS 141
88: g& %2767 125282 17421, CMP 8125252 ,ANS4 :CHECK DATA FROM STACK

2 1402 REG .46 “BRANCH [F OK iy
004234 104004 HLT 4 :DATA ON STACK (125252) (HANGED
0062% 00014° 142 :THE FRROR NUMBER [5 147
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00 C(vxACC Cv11 30AC1052) 21-AUG-78 15:28 PAGE 27
CvRACC P 16~-AUG~78 08:41 TEST FLOATING ADD INSTRUCTION WITH OVERFLOW SEQ 0035
1081 006240 2767 177452 174200 MP 8177452 ,ANSS :CHECK DATA iROM STACK
1 004 1402 BEQ .*6 :BRANCH [F OK
1 88: 104006 . HLT+6 . :DATA ON STACK (177452) (HANGED
; . 52 000143 143 ; :THE ERROR NUMBER S 143
1 % 54 %gror 125253 174166 CMP #125253,ANS6 :CHECK,DATA FROM STACK
1 62 40?2 BEQ .+6 :BRANCH IF Ok
1 004264 104006 HLT+6 :DATA ON STACK (125253) CHANGED
1090 004266 000144 144 :THE ERROR NUMBER [S 144
1091 00627C 122767 00002 174106 END21: C(MPB 221, $TESTN :CHECK THE TEST NUMBER
109§ 004276 001407 BEQ L+6 :BRANCH IF OK
1093 004 104000 HLT ] :WRONG TEST! K MUST HAVE FOULED UP.
;8% 006302 000145 145 :THE ERROR NUMBER IS 145
109¢
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MACY1] 30A(1055) 21-AUG-78 15:28 PAGE 28
" g 16-AUG~-78 08:41 TEST FLOATING ADD INSTRUCTION WITH OVERFLOW SEC 0036
AR AR AR AR AR AR RARRA RN R AR AR AR R R R A NNE RN AR RA AR RRR S ERTRR RN
FADD (LSI=17 FLOATING ADD INSTRUCTION)

STEST 22:
; 077652,125253 + 077452,125252 ==> QVERFLOW
PS(ON STACK) = 002, STACK POINTER = SP

"iitttﬁiti'."Q‘lt'lt‘ttttlttti.....ﬁ.'ﬁ..""Q...'......ii.itttt....!!..'.

004304 104400 AN SCOPE

004306 004567 011522 TST22: JSR RS PUSHS :PUSH 4 WORDS ONTO STACK, SET PRIORITY
006312 077452 125252 _WORD 077452,125252 :SECOND OPERAND ON TOP

004316 Q77652 125253 .WORD 077652,125253 ;FIRST OPERAND ON BOTTOM

004322 000003 .WORD 003 “PROCESSOR PRIORITY LEVEL
004324 004352 000344 .WORD ISR22, 344 :FIS TRAP VECTOR

004330 000240 NOP

00433%2 075006 fFADD SP :FLOATING ADD ON THE STACK
004334 Q04767 011534 RTA22: JSR PC, POPS :POP THE ''ANSWER''

0043{-0 104002 HLT+2 :FIS TRAP DIDN'T OCCURE !

00472 000146 146 :THE ERROR NUMBER IS 146
004344 012706 000600 MOV MBEGIN, SP :RESTORE THE STACK POINTER
0064350 000464 BR END22

004352 004767 011550 ISR22: SR o POPES :POP ALL DATA OFF THE STA(K
004356 022706 000600 CMP #BEGIN, SP SCHECK THE STACK POINTER
004362 001405 BEQ [SA22 “BRANCH IF OK

004364 0127 000600 MOV #BEGIN, SP :RESTORE THE STACK POINTER
004370 104000 HLT :STACK POINTER FOULED UP
004372 000147 147 :THE ERROR "'MBER IS 147
004374 000452 BR END22 “SKIP REST OF TEST

004376 122767 000344 174026 I5A22: (MPB 8344, $PSW :CHECK PS AFTER FIS TRAP

004404 001402 BEG Ry *BRANCH IF OK

004406 104000 HLT :PS AFTER FIS TRAP NOT EQUAL TO 344
004410 000150 150 :THE ERROR NUMBER IS 150
004412 022767 004334 17407€ CMP #RTA2?, ANSI :CHECK FIS TRAP RETURN ADDRESS
004420 001402 BEQ L +6 *BRANCH IF OK

004422 104001 HLT*1 “FIS TRAP AT WRONG ADDRESS
004424 000157 15 :THE ERROR NUMBER IS 151

004652 022767 000002 174004 (MP #002. ANSZ2 :CHECK PS BEFORE FIS TRAP

004434 001402 BEQ L+ *BRANCH IF OK

004436 104002 H%T*E :PS AT FIS TRAP TIME NCT 002
004440 000152 152 :THE ERROR NUMBER IS 152
004442 022767 077452 173772 CMP #077452 ,ANS3 :CHECK DATA FROM THE STACK
004450 001402 BEQ 6 *BRANCH IF OK

004452 104004 HL T+4 :DATA ON STACK (077452) (HANGED
004454 000153 152 *THE ERROR NUMBER S 153
004456 02€7¢7 125252 173760 iMP 8125252 ,ANS4 :(HECK DATA FROM STACK

004464 001402 BEQ . +6 *BRANCH IF OK

0044 104004 HLT+4 “DATA ON STACK (125252) (HANGED
004470 000154 154 “THE ERROR NUMBER IS 154
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P11 16-AUG-78 08:4] TEST FLOATING ADD INSTRUCTION WITH OVERFLOW SEQ 0037

767 077652 173746 (MP O77652,ANSS  iCHECK DATA FROM STACK
00500 Qotade - BEQ  .+6 *BRANCH 1§ OK
004502 104006 HLT+6 DATA ON' STACK (077652) CHANGED
004504 000155 . 155 :THE ERROR NUMBER IS 155

767 125253 17373% (MP  #125253.ANS6  ;CHECK DATA FROM STACK
00ate O01d0s BEG ~ .+6 ZBRANCH IF OK
004516 104006 HLT +6 IDATA ON STACK (125253) CHANGED
004520 000156 156 :THE ERROR NUMBER 15 156

22767 000022 173654 END22: (MPB  #22,  STESTN ;CHECK THE TEST NUMBER

00330 001402 - BEQ  .+6 :BRANCH_IF OK |
004532 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.
004534 000157 157 :THE ERROR NUMBER 1S 157
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FSUB TEST SECTION SEQ 0038
:tilt!i..'i.tttitttttttﬁiltﬁi"ﬁ‘lﬁ‘*tti....i.........tlt.QQ.Q.tt..ttt.t
STEST 23: FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
; 177520,017552 - 135352,051107 = 177520,017552
PS = 010, STACK POINTER = R1
:ttttitttttttttittttﬁttﬁ.lttittttttttilitttt'ttt.!titt....ltt-.ttlttitlt
. SCOPE 5
011442 TST23: JSR RS PUSHR  :PUSH & WORDS ONTO R1 STACK, SET PRIORITY
051107 _WORD  135352,051107 :SECOND OPERAND ON TOP
017552 "WORD 177520.017552  :FIRST OPERAND ON BOTTOM
"WORD 040 "PROCESSOR PRIORITY LEVEL
000340 'WORD TRAPER, 340 “FIS TRAP VECTOR
000510 MOV #STACKO R “SET UP STACK POINTER
NOP
FSUB  RI1 :FLOATING SUBTRACT ON THE R1 STACK
011442 JSR PC, POPR  :POP THE ANSWER
173632 MOV R1. $SP  -SAVE ''STACK POINTER''
000010 173622 cMPB #0710, $PSW - :CHECK PS (EXCEPT T BIT)
BEC .+6 *BRANCH IF OK
HLT *PS NOT EQUAL TO 010
. 160 “THE ERROR NUMBER IS 160
000514 173610 CMP #STACKG , $SP :CHECK THE STACK POINTER (R1)
: BEQ .+6 *BRANCH IF OK
HLT “STACK POINTER (R1) NOT EQUAL TO #STACK4
161 *THE ERROR NUMBER IS 161 i
177520 173576 CMP #177520 ,ANS1 :CHECK FIRST HALF OF ANSWER
- BEQ .46 *BRANCH IF OK
. HLT#2 *ANS1 NOT EQUAL TO 177520
162 “THE ERROR NUMBER IS 162
017552 173564 CMP #017552.ANS2  :CHECK SECOND HALF OF ANSWER
BEQ Y *BRANCH !F OK
HLT+2 *ANS2 NOT EQUAL TO 017552
163 “THE ERROR NUMBER IS 163
000023 173514 END23: (MPB  #23,  STESTN ;CHECK THE TEST NUMBER
BEQ .46 *BRANCH IF OK
HLT "WRONG TEST' PC MUST HAVE FOULED UP.
164 “THE ERROR NUMBER IS 164
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00100 CvkACC
83 CVKACC.P11 16~AUG-78 08:41 FSUB TEST SECTION SEQ 0039
00400 1215
00500 1216 ;ttttttttttttttttcttttttﬁttttttttttnttttttttttttttﬁntntat-t--tt.t-ttt-tc
1217 sTEST 24: FSuB (LSI-11 FLOAnNg SUBTRACT INSTRUCTION)
00700 1218 : 125252,125252 = 125252,125253 = 017420,000000
00800 1219 : ps = 000, STACK POINTER = RO
m 1220 '-lttttttttitlttttttttttttttttttttttttttitittttttttt!ttttttttt'tttt'tttla
01000 1221 .
01100 1222 004676 104400 SCOPE .
01;83 1223 004700 004567 011302 TST24: JSR RS PUSHR ;PUSH &4 WORDS ONTO RO STACK, SET PRIORITY
01 1224 004704 125252 125253 WORD  125252,125253  :SECOND OPERAND ON TOP
01400 1225 004710 125252 125252 JWORD 125252.125252  ;FIRST OPERAND ON BOTTOM
01500 1226 004714 000047 .WORD 047 :PROCESSOR PRIORITY LEVEL
01600 1227 004716 016456 000340 .WORD TRAPER, 340 :FIS TRAP VECTOR
8}% %ggg 004722 012700 000510 MOV #STACKO,RO “SET UP STACK POINTER
01900 1230 004726 000240 NOP
8%(1)88 }5%12 004730 075010 FSuUB RO ;FLOATING SUBTRACT ON rHE RO STACK
02200 1233 004732 004767 011302 : JSR PC, POPR :POP THE ANSWER
03300 1234 736 010067 173472 MOV RO, $SP :SAVE ''STACK POINTER''
02400 1235 004742 105767 173464 T1STB $PSW :CHECK PS (EXCEPT T BIT)
02500 1236 004746 001402 BEQ .+6 :BRANCH IF OK
02600 1237 00475C 104000 HLT .:PS NOT EQUAL TO 000
8%% }533 004752 000165 165 :THE ERROR NUMBER IS 165
')
oggg% 1240 004754 022767 000514 173452 1 CMP #STACKS ,$SP :CHECK THE STACK POINTER (RO)
0 1241 004762 001402 BEQ ) :BRANCH IF OK
03100 1242 004764 104000 HLT :STACK POINTER (RO) NOT EQUAL TO #STACK4
8%% }522 004766 000166 166 :THE ERROR NUMBER IS 166
03400 1245 004770 022767 017400 173440 CMP #017400,ANS1 :CHECK FIRST HALF OF ANSWER
03500 1246 004776 001402 ] BEQ L+6 :BRANCH IF OK
03900 1247 005000 104002 _ HLT+2 ;ANST NOT EQUAL TO 017400
83 00 }gzg 005002 000167 "t 167 :THB ERROR NUMBER IS 167
03900 1250 005004 005767 173430 \ TST ANS?2 {CHECK SECOND HALF OF ANSWER
04 1251 005010 001402 BEQ .46 :BRANCH IF OK
041 1252 005012 104002 HLT+2 :ANS2 NOT EQUAL TO 000000
82 }ng 005014 000170 170 :THE ERROR NUMBER S 170
044 1255 005016 122767 000024 173360 END24: CMPB r24, $TESTN ;CHECK THE TEST NUMBER
045 1559 005024 001402 BEQ .+6 :BRANCH IF OK
04600 125 ooso.%a 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.
04 700 1258 005030 000171 171 :THE ERROR NUMBER 1S 171
04800 1059 | ,
04900 1260 |
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE 32

P11 16=AUG-78 08:41 FSUB TEST SECTION SEQ 004(
:ttttt.t.i"tttﬁ“ll“...l..i......tt.i.tttltl...t.'..'.l.!i....!tt.ti..
STEST 25: CFSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
: 002460 123456 - 100177,177777 = 002460,123456
ps = 000, STACK POINTER = SP

:ttﬁttttt'tttt‘tttlt.Qttittiitiittltiiitt..‘.t.QQ.QQ.QQ!.!...Q...Q...li.

005032 104400 SCOPE

5034 004567 010774 1ST25: JSR RS PUSHS  :PUSH 4 WORDS ONTO STACK, SET PRIORITY

005040 100177 177777 "WORD 100177.177777  :SECOND OPERAND ON TOP

005044 002460 123456 WORD 002460,123456  :FIRST OPERAND ON BOTTOM

005050 000015 ‘WORD 015 *PROCESSOR PRIORITY LEVEL

005052 016456 000340 "WORD TRAPER, 340 “FIS TRAP VECTOR

005056 000240 NOP

005060 075016 FSUB  SP :FLOATING SUBTRACT ON THE STACK

005062 004767 011006 JSR PC, POPS  :POP THE ANSWER

5066 022706 000600 CMP #BEGIN, SP “CHECK THE STACK POINTER

005072 001405 BEQ TSA2S *BRANCH IF OK

005074 012706 000600 MOV #BEGIN, SP "RESTORE STACK POINTER

005100 104000 HLT :STACK POINTER FOULED UP

005102 000172 172 “THE ERROR NUMBER IS 172

005104 000422 BR END25S *SKIP REST OF TEST

005106 122767 000000 173316 TSA2S: C(MPB  #000. $PSW  :CHECK PS (EXCEPT T BIT)

005114 001402 BEQ .+6 *BRANCH IF OK

005116 104000 HLT *PS NOT EQUAL TO 000

005120 000173 173 “THE ERROR NUMBER IS 173

005122 022767 002460 173306 CMP #002460 ,ANS1 :CHECK FIRST HALF OF ANSWER

005130 001402 BEQ . +6 *BRANCH IF OK

005132 104002 HLT+2 *ANST NOT EQUAL TO 002460

005134 000174 174 *THE ERROR NUMBER 1S 174

005136 022767 123456 173274 CMP #123456,ANS2  :CHECK SECOND HALF OF ANSWER

005144 001402 BEQ .+6 *BRANCH IF OK

005146 104002 HLT+2 *ANS2 NOT EQUAL TO 123456

005150 000175 175 “THE ERROR NUMBER 1S 175

005152 122767 000025 173224 END25: CMPB  #25,  STESTN ;CHECK THE TEST NUMBER

005160 001402 BEQ R *BRANCH IF OK

005162 104000 LT "WRONG TEST! PC MUST HAVE FOULED UP.

005164 000176 176 “THE ERROR NUMBER 15 176
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE 33
P11 16-AUG-78 08:41 FSUB TEST SECTION SEQ 0041

:tltttttttttttttttttttQﬁt‘..t.ttttttii.tl.itit..tttttttlQt!tt't!.t.tt.tt
“TEST 26: C FSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
; 000425,052525 - 000252,125252 = 000200,000000
: PS = 200, STACK POINTER = R4 |
:tttt*tttttitiitittttttlttttt*tttt.!t.‘.tltitttt"iﬁﬁtt..iittt'tt'..lQt!

005166 104400 SCOPE

005170 004567 011012 IST26: JSR RS PUSHR  :PUSH &4 WORDS ONTO R4 STACK, SET PRIORITY

005174 000252 125252 _WORD  000252,125252 :SECOND OPERAND ON TOP

005200 000425 052525 "WORD  000425.052525  :FIRST OPERAND ON BOTTOM

005204 000217 "WORD 217 *PROCESSOR PRIORITY LEVEL

005206 016456 000340 "WORD  TRAPER, 340 *FIS TRAP VECTOR

005212 012704 000510 MOV #STACKO R4 “SET UP STACK POINTER

005216 000240 NOP \

005220 075014 FSUB  R& :FLOATING SUBTRACT ON THE Ré& STACK

005222 004767 011012 JSR PC, POPR  :POP THE ANSWER

005226 010467 173202 MOV R& $SP "SAVE ''STACK POINTER''

005232 122767 000200 173172 cMPB 4200, $PSWw  :CHECK PS (EXCEPT T BIT)

005240 001402 BEQ +6 *BRANCH IF OK

005242 104000 HLT *PS NOT EQUAL TO 200

005244 000177 177 *THE ERROR NUMBER IS 177

005246 022767 000514 173160 CMP #STACKG , $SP :CHECK THE STACK POINTER (R&)

005254 001402 BEQ .+6 *BRANCH IF OK

005256 104000 HLT “STACK POINTER (R4) NOT EQUAL TO #STACK&

005260 000200 200 *THE ERROR NUMBER IS 200

005262 022767 000200 173146 CMP #000200,ANS 1 :CHECK FIRST HALF OF ANSWER

005270 001402 ’ BEQ .46 *BRANCH IF OK

005272 104002 HLT+2 SANST NOT EQUAL TO 000200

005274 000201 201 *THE ERROR NUMBER IS 201

005276 005767 173136 ST ANS2 :CHECK SECOND HALF OF ANSWER

005302 001402 BEQ .+6 *BRANCH IF OK

005304 104002 HLT+2 “ANS2 NOT EQUAL TO 000000

005306 000202 ‘ 202 “THE ERROR NUMBER IS 202

005310 122767 000026 173066 END26: (MPB  #26,  STESTN ;CHECK THE TEST NUMBER

005316 001402 BEQ .+6 . ‘BRANCH IF OK

005320 104000 HLT "WRONG TEST! PC MUST HAVE FOULED UP.

005322 000203 203 “THE ERROR NUMBER 15 2(3
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16=-AUG~78 08:41

104400
004567
077652
177452
000357
016456

000240
075016

004767
022706

001405
012706

104000
000204
000422

122767

000205
022767

022767
001402
104002
000207

122767

00G210

010514
000600

000600

000210

177777

177777

000027

FSUB TEST SECTION SEQ 004

212222222222 2:0223 2233333t s Rttt

STEST 27: - FSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
2 177452,125252 = 077652,125252 = 177777,17777
PS = 210, STACK POINTER = SP

:IttiQ‘titttﬁiii.ttltttt*tﬁ"*“iit*t"‘...Qi..ﬁ..tt'.Qi'Qt."."...ttt.

SCOPE

1ST27: JSR RS PUSHS :PUSH 4 WORDS ONTO STACK, SET PRIORITY
LWORD 077652,125252 :SECOND OPERAND ON TOP

- WORD 17;452.125252 *FIRST OPERAND ON BOTTOM

.WORD 35 *PROCESSOR PRIORITY LEVEL

.WORD TRAPER, 340 *F1S TRAP VECTOR

NOP

FSUB  SP :FLOATING SUBTRACT ON THE STACK

JSR PC, POPS :POP THE ANSWER

CMP #BEGIN, SP “CHECK THE STACK POINTER

BEQ TSA27 *BRANCH IF OK

M0V #BEGIN, SP “RESTORE STACK POINTER

HLT :STACK POINTER FOULED UP

204 >THE ERROR NUMBER IS 204

BR END27 “SKIP REST OF TEST
173024 TSA27: CMPB #2110, $PSW  :CHECK PS (EXCEPT T BIT)

BEQ .+6 :BRANCH IF OK

HLT *PS NOT EQUAL TO 210

205 *THE ERROR NUMBER [S 205
173014 CMP #177777 ,ANS] :CHECK FIRST HALF OF ANSWER

BEQ L+6 *BRANCH IF OK

HLT+2 *ANS1 NOT EQUAL TO 177777

206 “THE ERROR NUMBER IS 206
173002 CMP 8177777 ,ANS2 :CHECK SECOND HALF OF ANSWER

BEQ .46 *BRANCH IF OK

HLT+2 :ANS2 NOT EQUAL TO 177777

207 *THE ERROR NUMBER [S 207
172732 END27: (MPB 427, $TESTN :CHECK THE TEST NUMBER

BEQ 6 :BRANCH IF OK

HT "WRONG TEST! PC MUST HAVE FOULED UP.

210 “THE ERROR NUMBER IS 210
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P11 16=-AUG=-78 08:41 FSUB TEST SECTION SEQ 0043

;tttttttttttttttlttﬁtttttttttttt&ltQt.!tlltlttittttitt'tittlt.nttl..ttIQ
“TEST 30: FSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
; 035152,125252 - 043125,052525 = 143125,052524
: PS = 010, STACK POINTER = R3
.'ltittttiittttttttttttttttt*ii.'itttttti*tttttttitttt"t‘tQ'tt"tttttttt

005460 104400 SCOPE

005462 004567 010520 IST30: JSR RS PUSHR  :PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY

5466 043125 052525 JWORD  043125,052525 :SECOND OPERAND ON TOP

005472 035152 125252 - "WORD 035152.125252 :FIRST OPERAND ON BOTTOM

005476 000147 "WORD 147 “PROCESSOR PRIORITY LEVEL

005500 016456 000340 "WORD TRAPER, 340 “FIS TRAP VECTOR

005506 012703 000510 MOV #STACKO,R3 *SET UP STACK POINTER

005510 000240 NOP

005512 075013 FSuB R3 :FLOATING SUBTRACT ON THE R3 STA(K

005514 004767 010520 JSR PC, POPR  :POP THE ANSWER

005520 010367 172710 MOV R3, $SP “SAVE ''STACK POINTER''

005524 122767 000010 172700 CMPB #0710, $PSW  :CHECK PS (EXCEPT T BIT)

005532 001402 BEG .+6 *BRANCH IF OK

005534 104000 . HLT *PS NOT EQUAL TO 010

005536 U00211 211 “THE ERROR NUMBER IS 211

005540 022767 000514 172666 CMP #STACK4 , $SP :CHECK THE STACK POINTER (R3)

005546 001402 BEQ .+6 *BRANCH IF OK

005550 104000 HLT “STACK POINTER (R3) NOT EQUAL TO #STACK4

005552 000212 212 “THE ERROR NUMBER IS 212

005554 022767 143125 172654 CMP #143125 ,ANS1 :CHECK FIRST HALF OF ANSWER

005562 001402 BEQ .+6 *BRANCH IF OK

005564 104002 HLT+2 *ANST NOT EQUAL TO 143125

005566 000213 213 *THE ERROR NUMBER IS 213

005570 022767 (52524 172642 CMP #052524 ,ANS2  :CHECK SECOND HALF OF ANSWER

005576 007402 BEQ  .+6 “BRANCH IF OK

005600 104002 HLT+2 *ANS2 NOT EQUAL TO 052524

005602 000214 214 *THE ERROR NUMBER IS 214

005604 122767 000030 172572 END30: C(MPB  #30.,  STESTN ;CHECK THE TEST NUMBER

005612 001402 BEQ .+6 *BRANCH IF OK

005614 104000 HLT WRONG TEST! PC MUST HAVE FOULED UP,

005616 000215 215 “THE ERROR NUMBER IS 215
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1461
146
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1464 005620 104400
1465 005622 004567
1466 005626 135152
1467 005632 143325
1468 005636 000243
1469 005640 016456
;2;? 005644 012700
1472 005650 000240
}2;2 005652 075010
1475 005654 004767
1476 005660 010067
1477 005664 122767
1478 005672 001402
1479 005674 104000
}28? 005676 000216
148% 005700 022767
1483 005706 001402
1484 005710 104000
;232 005712 000217
1487 005714 022767
1488 005722 (001402
1489 005724 104002
}23? 005726 000220
1492 005730 022767
1493 005736 001402
1494 005740 104002
}282 005742 000227
16497 005744 122767
1498 005752 001402
1499 005754 104000
1500 005756 000222
15?1
1502

. F o4
15:28 PAGE 36

21-AUG-78
08:41 FSUB TEST SECTION SEQ 0044
:tt.ittitttttttttttt*lttﬁttltﬁt.Q!.t'.tt!tttt.ti.lt.tli‘.'it.tttt..ti‘it
STEST 31: . FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
: 143325,052525 = 135152,125252 = 143325,052525
ps = 210, STACK POINTER = RO
:tttttttittttitttittitttittttt!‘Q‘it'ittitttitttitttt'tttttQt!tt.'.it.tt
SCOPE
010260 IST31: JSR RS PUSHR  :PUSH & WORDS ONTO RO STACK, SET PRIORITY
125252 WORD  135152,125252  :SECOND OPERAND ON TOP
052525 "WORD  143325.052525 :FIRST OPERAND ON BOTTOM
‘WORD 243 *PROCESSOR PRIORITY LEVEL
000340 "WORD TRAPER, 340 *FIS TRAP VECTOR
000510 MOV #STACKO RO “SET UP STACK POINTER
NOP
FSUB RO :FLOATING SUBTRACT ON THE RO STACK
010360 JSR PC, POPR  :POP THE ANSWER .
172550 MOV RO, $SP “SAVE ''STACK POINTER''
000210 172540 (MPB #2710, $PSW  :CHECK PS (EXCEPT T BIT)
BEQG . +6 *BRANCH IF OK
HLT *PS NOT EQUAL TO 210
216 “THE ERROR NUMBER IS 216
000514 172526 CMP #STACKS , $SP :CHECK THE STACK POINTER (RO)
BEQ .+6 *BRANCH IF OK
HLT “STACK POINTER (RO) NOT EQUAL TO #STACK4
217 “THE ERROR NUMBER IS 217
143325 172514 CMP #143325,ANS 1 SCHECK FIRST HALF OF ANSWER
BEQ .+6 "BRANCH IF 0K
HLT+2 “ANST NOT EQUAL TO 143325
220 “THE ERROR NUMBER IS 220
052525 172502 CMP #052525,ANS2  :CHECK SECOND HALF OF ANSWER
BEQ .46 “BRANCH IF OK
HLT+2 “ANS2 NOT EQUAL TO 052525
221 “THE ERROR NUMBER IS 221
000031 172432 END31: C(MPB  #31,  S$TESTN ;CHECK THE TEST NUMBER
BEQ 46 ‘BRANCH IF OK
HLT {WRONG TEST! PC MUST HAVE FOULED UP.
222 “THE ERROR NUMBER 1S 227
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P11 16=AUG-78 08:41 FSUB TEST SECTION SEQ 0045
:i.ii‘it'itittt.itﬁ*ﬁtiﬁ"."."tl.tii.t'.'t'.""".‘..tt.'!.'tti'itiit
STEST 32:  FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
: 135152,125252 - 143325,052525 = 043325,052525
PS = 200, STACK POINTER = RS

:ttl.ﬁlﬁiit'iii*ttt.ttll.I'*ttt&l*Q'QQﬁﬁ.".ii‘it..tt.l'tt'ttt.'ﬁQ.t.'..

00 SCOPE

S
g
g

FA

005762 004567 010220 TST32: JSR RS " :PUSH 4 WORDS ONTO RS STACK, SET PRIORITY

5766 143325 052525 WORD 143325, 525 “SECOND OPERAND ON TOP
005772 135152 125252 "WORD 135152.125252  :FIRST OPERAND ON BOTTOM
005776 000357 "WORD 357 *PROCESSOR PRIORITY LEVEL

016456 000340 ‘WORD  TRAPER, 340 *FIS TRAP VECTOR

006004 012705 000510 MOV #STACKO RS “SET UP STACK POINTER
006010 000240 NOP
006012 075015 FSuUB RS :FLOATING SUBTRACT ON THE RS STA(K
006014 004767 010220 JSR PC, POPR  :POP_THE ANSWER
006020 010567 172410 MOV RS $SP *SAVE ''STACK POINTER'
006024 122767 000200 172400 cMeB #200. $PSW  -CHECK PS (EXCEPT T BIT)
006032 001402 BEC .+6 , *BRANCH IF OK
006034 104000 HLT *PS NOT EQUAL TO 200
006036 000223 223 “THE ERROR NUMBER IS 223
006040 022767 000514 172366 CMP RSTA(KSG ,$5P :CHECK THE STACK POINTER (RS)
006046 001402 BEQ .46 *BRANCH IF OK
006050 104000 HLT :STACK POINTER (R5) NOT EQUAL TO #STA(K&
006052 000224 224 *THE ERROR NUMBER IS 224
006054 022767 043325 172354 CMP #043325 ,ANS1 ;CHECK FIRST HALF OF ANSWER
006062 001402 BEQ .6 *BRANCH IF OK
006064 104002 HLT+2 “ANS1 NOT EQUAL TO 043325
006066 000225 225 *THE ERROR NUMBER IS 225
006070 022767 (52525 172342 cMP #052525,ANS2  :CHECK SECOND MALF OF ANSWER
006076 001402 BEQ .46 *BRANCH IF OK
006100 104002 HLT+2 . “ANS2 NOT EQUAL TO (52525
006102 000226 226 *THE ERROR NUMBER IS 226
006106 122767 000032 172272 END32: .CMPB  #32,  S$TESTN CHECK THE TEST NUMBER
006112 001402 BEG .46 ;BRANCH [F 0K
006114 104000 LT [WRONG TEST! PC MUST WAVE FOULED UP.
006116 000227 207 “THE ERROR NUMBER 1S 227
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CVKACC.PY 16~AUG-78 08:41 FSUB TEST SECTION SEQ 004t
1549
1550 L L L L L LA L L A R A bbbl hoioheieieiuleiuioteioiuibeieiedetubniuuliadilillllllld
1551 sTEST 33: - FSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
155% s 043125,052525 = 035152,125252 = 043125,052524
155 : PS = 000, STACK POINTER = R2
1554 :tt-tttttitttltttttIitﬁtl.t'tl&tttttttti'ttttttttttt‘ttttttt.t.'..‘ttt-.
1555
1556 006120 104400 - SCOPE
1557 006122 004567 010060 TST33: JSR RS PUSHR  ;PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY
1558 006126 033152 123¢5¢2 .WORD  035152,125252  :SECOND OPERAND ON TOP
1559 006132 043125 052525 WORD 043125,052525 ;FIRST OPERAND ON BOTTOM
1560 006136 000040 .WORD 040 ;PROCESSOR PRIORITY LEVEL
1561 006140 016456 000340 .WORD  TRAPER, 340 ;FIS TRAP VECTOR
1362 006144 012702 000510 MOV #STACKO,R2 *SET UP STACK POINTER
1564 006150 000240 NOP
}ggg 006152 075012 FSuB R2 ;FLOATING SUBTRACT ON THE RZ STA(K
1567 006154 004767 (10060 JSR PL, POPR ;POP THE ANSWER
1568 006160 010267 172250 MOV R2, $SP ;SAVE ''STACK POINTER''
1569 006164 105767 1722472 T1STB $PSW JCHECK PS (EXCEPT T BIT)
1570 006170 001402 BEU .*6 ;BRANCH IF OK
1571 006172 104000 HLT ;PS NOT EQUAL TO 000
]'g;% 006174 000230 230 :THE ERROR NUMBER IS 230
1574 006176 022767 000514 172230 CMP #STA(KS ,$5P :CHECK THE STACK POINTER (R2)
1575 006204 001402 BEQ .*+6 ;BRANCH IF OK
1576 0062 104000 HLT :STACK POINTER (R2) NOT EQUAL TO #STACKS
}g;g 006210 000231 231 ;THE ERROR NUMBER IS 231
1579 006212 022767 043125 172216 (MP #043125 ,ANS1 ;CHECK FIRST HALF OF ANSWER
1580 006220 001402 BEQ .6 ;BRANCH IF OK
1581 006222 104002 HLT+2 ;ANST NOT EQUAL TO 043125
}ggg 006224 000232 232 ;THE ERROR NUMBER IS 232
1584 006226 022767 052524 172204 (MP #052524 ,ANS2 ;CHECK SECOND HALF OF ANSWER
1585 006234 001402 BEC .*6 ;BRANCH [F OK
1586 006236 104002 HLT+2 ;ANSZ2 NOT EQUAL TO 052524
123; 006240 000233 233 :THE ERROR NUMBER IS 233
1589 006242 122767 000033 172134 END33: (MPB »33, $TESTN ;CHECK THE TEST NUMBER
1590 006250 001402 BEQ .6 ;BRANCH IF OK
1591 006252 104000 HLT ;WRONG TEST! PC MUST HAVE FOULED UP,
:?g% 006254 000234 2% ;THE ERROR NUMBER [S 234
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FSUB TEST SECTION SEQ 0047
:.I‘.'...‘lttiiﬁ‘tﬁ‘.i“.‘.ﬁ....'.'..ﬁi.i..i.Ii..tl.'..i.i‘...l.|.!.!'.'
STEST 34: CFSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
: 000000,000000 - 000000,000000 = 000000, 000000
PS = 204, STACK POINTER = RO
;tttttttttittittttttttittﬁ"*.‘.“‘ttt“‘....‘it'.ti‘i"tQQQi.....ttt!t.
SCOPE
007722 1ST34: JSR RS, PUSHR  :PUSH & WORDS ONTO RO STACK, SET PRIORITY
000000 .WORD  000000,000000 :SECOND OPERAND ON TOP
000000 "WORD  000000.000000 :FIRST OPERAND ON BOTTOM
WORD 217 *PROCESSOR PRIORITY LEVEL
000340 "WORD  TRAPER, 340 *FIS TRAP VECTOR
000510 MOV #STACKO,RO “SET UP STACK POINTER
NOP
FSUB RO :FLOATING SUBTRACT ON THE RO STACK
007722 JSR PC, POPR  :POP THE ANSWER
172112 MOV RO, $SP “SAVE ''STACK POINTER''
000204 172102 cMPB #204.  $PSW  :CHECK PS (EXCEPT T BIT)
BEG .+6 *BRANCH IF OK
HLT *PS NOT EQUAL TO 204
235 “THE ERROR NUMBER IS 235
000514 172070 CMP #STACK4 , $SP :CHECK THE STACK POINTER (RO)
BEQ .46 *BRANCH IF OK
HLT “STACK POINTER (RO) NOT EQUAL TO #STACKé
236 “THE ERROR NUMBER IS 236
172060 1S1 ANS1 :CHECK FIRST HALF OF ANSWER
BEQ .46 *BRANCH IF OK
HLT+2 *ANST NOT EQUAL TO 000000
: 237 *THE ERROR NUMBER IS 237
172050 ST ANS?2 :CHECK SECOND HALF OF ANSWER
BEC .46 *BRANCH IF OK
HLT+2 *ANS2 NOT EQUAL TO 000000
240 *THE ERROR NUMBER 1S 240
000034 172000 END34: C(MPB  #34,  STESTN ;CHECK THE TEST NUMBER
BEQ 6 "BRANCH IF OK
LT "WRONG TEST! PC MUST HAVE FOULED UP.
241 “THE ERROR NUMBER 15 241
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022767
0071402
104002
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122767
001402
104000
000246

067566
177777
000000
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007566
171756
171750

000514

077777

177777

000035

FSUB TEST SECTION SEC 0048

232222222222 2222:33323333 3333333333020t il

:-TEST 3$5: CFSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
2 000000

000000 = 177777.177777 = 077777,177777
Ps = 000, STACK POINTER = R2
:tttﬁtt.ittttiititit.ttti!ttt'tttt*ti.tt.tl.'l.ii.ittittiittitt...'tlllt
SCOPE
1ST35: JSR PUSHR  :PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY

RS
LWORD 177777.177777  :SECOND OPERAND ON TOP
.WORD gogooo.oooooo *FIRST OPERAND ON BOTTOM

WwORD 10 *PROCESSOR PRIORITY LEVEL

'WORD TRAPER, 340 *FIS TRAP VECTOR

MOV #STACKO,R2 “SET UP STACK POINTER

NOP

FSUB  R2 :FLOATING SUBTRACT ON THE R2 STACK

JSR L. POPR ;POP THE ANSWER
MOV R2, - $SP :SAVE "‘STACK POINTER''

TSTB $PSW :CHECK PS (EXCEPT T BIT)
BECG . +6 ;BRANCH IF OK
HLT :PS NOT EQUAL TO 000
242 :THE ERROR NUMBER S 242
17173%6 , CMP ASTACKSL ,$5P :CHECK THE STACK POINTER (RZ)
BEQ «*6 :BRANCH IF OK
HLT :STACK POINTER (R2) NOT EQUAL TO #STA(K&
’ 243 :THE ERROR NUMBER [S 243
171724 CMP 8077777 ,ANS1 :CHECK FIRST HALF OF ANSWER
BEQ .46 :BRANCH IF OK
HLT+2 :ANS1 NOT EQUAL TO 077777
244 :THE ERROR NUMBER [S 244.
171712 . (MP 8177777 ,ANS2 :CHECK SECOND HALF OF ANSWER
BEQ .6 :BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 177777
245 :THE ERROR NUMBER IS 245
171642 END3S: (MPB r35, $TESTN  ;CHECK THE TEST NUMBER
BEQ .6 ;BRANCH IF 0K
HLT :WRONG TEST! PC MUST HAVE FOULED UP.
246 :THE ERROR NUMBER ]S 246
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007256
177777

000000
000340

007270
C00600

000600

000210

177777

177777

000036

FSUB TEST SECTION SEQ 0049

Y222 2222222222%2%2xz2z2z2%:2235333233333332333333 80 RRRRRRRRRRRlllll dl

STEST 36: C FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
: 000000.000000 = 077777,177777 = 177777 ,127777
Ps = 210, STACK POINTER = SP

:'tﬁttttttitttﬁﬁﬁttttl.l.lt'ti'.iiittt‘i..ttit.'.'.tt."'!'....t!.t"'tt

SCOPE
TST36: JSR R5 PUSHS  ;PUSH 4 WORDS ONTO STA(CK, SET PRIORITY

.WORD 077777,177777  :SECOND OPERAND ON TOP

.WORD  000000,000000 ;FIRST OPERAND ON BOTTOM

.WORD 217 ;PROCESSOR PRIORITY LEVEL

.WORD  TRAPER, 340 ;F1S TRAP VECTOR

NOP

FSuB SP ;FLOATING SUBTRACT ON THE STACK

JSR - POPS ;POP THE ANSWER

CMP #BEGIN, SP ;CHECK THE STACK POINTER

BEQ TSA36 ;BRANCH IF OK

MOY #BEGIN, SP ;RESTORE STACK POINTER

HLT ;STACK POINTER FOULED UP

247 ;THE ERROR NUMBER IS 247

BR END36 ;SKIP REST OF TEST
171600 TSA36: C(MPB #210,  $PSW ;CHECK PS (EXCEPT T BIT)

BEQ .*6 ;BRANCH IF OK

HLT ;PS NOT EQUAL TO 210

250 : THE ERROR NUMBER IS 250
171570 (MP #177777 ,ANS1 ;CHECK FIRST HALF OF ANSWER

BEQ .*6 ;BRANCH IF OK

HLT+2 ;ANS1 NOT EQUAL T0 177777

251 ;THE ERROR NUMBER IS 251
17%556 (MP 8177777 ,ANS2 :CHECK SECOND HALF OF ANSWER

BEQ .6 ;BRANCH IF OK

HLT+2 ;ANS2 NOT EQUAL TO 177777

25¢ :THE ERROR NUMBER IS 252
171506 END36: (MPB 436, $TESTN ;CHECK THE TEST NUMBER

BEQ .46 ;BRANCH IF OK

HLT JWRONG TEST! PC MUST HAVE FOULED UP,

25% :THE ERROR NUMBER IS 253
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TEST FLOATING SUB. INSTRUCTION WITH UNDERFLOW SEQ 0050

e 223232222322 233223 32223t R R Rl Al

“TEST 37:  FSUB (LSI=1) FLOATING; SUBTRACT INSTRUCTION)
: 000425,052525 = 000252,125253 ==> UNDERFLOW
PS(ON STACK) = 212, STACK POINTER = SP
"ttttttttttti'tttttt‘iﬁQtlﬁtiit.ttiti..itt'titttttiitttt!tttQttt‘.t'tttlO
SCOPE
067122 1ST37: JSR RS PUSHS  :PUSH 4 WORDS ONTO STACK, SET PRIORITY
125253 "WORD  000252,125253  -SECOND OPERAND ON TOP
052525 "WORD 000425.052525 :FIRST OPERAND ON BOTTOM
"WORD 257 *PROCESSOR PRIORITY LEVEL
000340 "WORD  ISR37, 340 “FIS TRAP VECTOR
NOF
FSUB  SP :FLOATING SUBTRACT ON THE STACK
007134 RTA37: JSR P . POPS  ;POP THE ''ANSWER.
HLT+2 “FIS TRAP DIDN'T ‘OCCURE'
254 “THE ERROR NUMBER IS 254
000600 MOV #BEGIN, SP *RESTORE THE STACK POINTER
BR END37
007150 ISR37: JSR PC, POPES  :POP ALL DATA OFF THE STACK
000600 CMP #BEGIN, SP "CHECK THE STACK POINTER
BEQ 1SA37 *BRANCH IF OK
000600 MOV #BEGIN, SP "RESTORE THE STACK POINTER
HLT *STACK POINTER FOULED UP
255 *THE ERROR NUMBER IS 255
BR END37 *SKIP REST OF TEST
000340 171426 1SA37: (MPB #340, $PSW :CHECK PS AFTER FIS TRAP
BEQ .46 *BRANCH IF OK
HLT :PS AFTER FIS TRAP NOT EQUAL TO 340
256 “THE ERROR NUMBER 1S 256
006734 171416 CMP #RTA37. ANS1  :CHECK FIS TRAP RETURN ADDRESS
BEQ .+6 *BRANCH IF OK
HLT+1 ‘FIS TRAP AT WRONG ADDRESS
257 “THE ERROR NUMBER 1S 257
000212 171404 CMP #212, ANS2  ;CHECK PS BEFORE FIS TRAP
BEQ .+6 *BRANCH IF OK i
HLT+2 . ‘PS AT FIS TRAP TIME NCT 212
260 “THE ERROR NUMBER IS 260
000252 171372 CMP #000252.,ANS3  :CHECK DATA FROM THE STACK
BEQ .+6 *BRANCH IF OK |
HL T+4 :DATA ON STACK (000252) CHANGED
261 *THE ERROR NUMBER IS 261
12525% 171360 CMP #12525%,ANS4 :CHECK DATA FROM STA(CK
BEQ . +6 *BRANCH IF OK
HL T +4 :DATA ON STACK (125253) (HANGED
262 “THE ERROR NUMBER 1S 262
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P11 16~AUG~78 08:4 TEST FLOATING SUB. INSTRUCTION WITH UNDERFLOW SEQ 0051
007072 022767 000425 171346 CMP #000425 ,ANSS ;CHECK DATA FROM STACK

007100 001402 BEQ .*+6 :BRANCH IF OK

007102 104006 HLT+6 . ;DATA ON STACK (000425) CHANGED
007104 000263 263 :THE ERROR NUMBER [S 263

007106 022767 052525 171334 CMP 4052525 ,ANS6 ;CHECK DATA FROM STACK

007114 001402+ BEQ .+6 :BRANCH IF 0K

007116 104906 HLT+6 ;DATA ON STACK (052525) C(HANGED
007120 000264 264 :THE ERROR NUMBER [S 264

007122 122767 000037 171254 END37: (MPB #37, $TESTN ;CHECK THE TEST NUMBER

007130 001402 BEQ .+6 JBRANCH IF OK

007132 104000 HLT JWRONG TEST! PC MUST HAVE FOULED UP.
007134 000265 265 ; THE ERROR MJ'BER IS 265
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TEST FLOATING SUB. INSTRUCTION WITH OVERFLOW

N &

SEQ 0052

3122222222222 22228223 823222333 SRRttt ld)

FSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
25253 - 177452,125252 ==> QVERFLOW

STEST 40

.

TST40:

RTALQ:

ISR40:
171204

171172 -
171160
171146

171134

077652.1

PS(ON STACK) = 002,

;ttttttttttttt*tttititttt*t**itittiittt‘.!t'tt!i't.ttt'.tttttttt.tt't"t'

SCOPE
JSR

.WORD
.WORD
.WORD
. WORD
mMov

NOP
FSuB

JSR
MOV
HLT+2
266
BR

JSR
MOV
CMPB
BEQ
HLT
267

CMP
BEQ
HLT
270
CMP
BEG
HLT+1
271

CMP
BEQ
HLT+2
272

CMP
BEQ
HLT+4
273

CMP
BEQ
HLT+4
274

RS PUSHR
177452,125252
077652,125253
015

ISR40, 344
#STACKO,R3

R3

PC, POPR
R3, $SP
END4O

PC, POPER
R3, $SP
#344,  $PSW
.+6
#STACKO, $SP
.+6

#RTA4D, ANST

.6
#002,  ANSZ
.+6
#177452 ,ANS3
.46
#125252 ,ANS4
.+6

STACK POINTER = R3

;PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY
;SECOND OPERAND ON TOP

;FIRST OPERAND ON BOTTOM

;PROCESSOR PRIORITY LEVEL

;F1S TRAP _VECTOR

;SET UP R3 AS STACK POINTER

;FLOATING SUBTRACT ON THE R3 STACK

;POP THE ‘'ANSWER''

;SAVE STACK POINTER (R3)
;FIS TRAP DIDN'T OCCURE!
;THE ERROR NUMBER IS 266

:POP ALL DATA OFF THE STACKS
SAVE STACK_POINTER (R3)

*CHECK PS AFTER FIS TRAP

“BRANCH IF OK

PS AFTER FIS TRAP NOT EQUAL TO 344
“THE ERROR NUMBER IS 267

;CHECK THE STACK POINTER (R3)

;BRANCH IF OK

;STACK POINTER (R3) NOT EQUAL TO #STACKO
;THE ERROR NUMBER IS 270

;CHECK FIS TRAP RETURN ADDRESS
sBRANCH IF OK

JFIS TRAP AT WRONG ADDRESS

: THE ERROR NUMBER IS 271

:CHECK PS BEFORE FIS TRAP .
:BRANCH IF OK

:PS AT FIS TRAP TIME NCT 002
:THE ERROR NUMBER IS 272

:CHECK DATA FROM THF STACK

;BRANCH IF 0K A
;DATA ON STACK (177452) CHANGED

. ;THE ERROR NUMBER S 273

:CHECK DATA FROM STA(CK

:BRANCH [F 0K

:DATA ON STACK (125252) C(HANGED
:THE ERROR NUMBER [S 274
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PN 6~AUG-78 08:41 TEST FLOATING SUB. INSTRUCTION WITH OVERFLOW SEQ 0053
0073;2 022767 077652 17111C MP #077652 ,ANSS :CHECK DATA FROM STACK :

0073 001402 BEQ .+6 anmcnl 0K

00730 104006 HLT+6 - :DATA ON STACK (077652) CHANGED
007342 000275 275 IHE ERROR NUMBER S 275

0073%4& 022767 12525% 171076 C™MP 8125253 ,ANS6 :CHECK DATA FROM STACK

007352 001402 BEQ .+6 “BRANCH IF OK

00735¢ 104006 HLT+6 :DATA ON STACK (125253) CHANGED
007356 000276 276 :THE ERROR NUMBER ]S 276

007360 122767 000040 171016 END4O: (MPB 240, $TESTN ;CHECK THE TEST NUMBE R

007366 0011.02 : BEQ .+6 :BRANCH IF NK

007%70 01-000 HLT :WRONG TEST  PC MUST HAVE FOULED UP.
007%72 000277 277 :THE ERROR » MBER S 277
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FMUL TEST SECTION

SEQ 0054

CARAR R AR AR AR AR AN AARAAAAAAAAAAARRRAA R AR AR AR AR R R RA AR R TR AR TRan

STEST 41:

000000
PS = 004,

- FMUL (LSI-11 FLOATING MULTIPLY INSTRUCTION)
000000 * 000000,000000 = 000000,000000
STACK POINTER = R4

;ttttttitttttiittttltt*i.ttt"ti.iitQ'li.liti...li....'ilQ.QlQt..t!tt."

SCOPE
TST41: JSR
.WORD
.WORD
.WORD
.WORD
MoV

NOP
FMUL

JSR
MOV

170764 CMPB

BEQ
HLT
300

170752 CMP

BEQ
HLT
301

TST
BEQ
HLT+2
202

| § 34
BEQ
HLT+2
303 .-

170662 END41:  CMPB

BEQ
HLT
304

PUSHR

RS
000900.,000000

(1)??000 ,000000
TRAPER, 340
#STACKO R4

R4

PC. POPR

R4, $SP
#004,  $PSW
.+6

H#STACKS ,$5P
.*6

ANS1
.+6

ANSZ2
.46

41, $TESTN
.6

;PUSH 4 WORDS ONTO R4 STACK, SET PRIORITY
;SECOND OPERAND ON TOP

;FIRST OPERAND ON BOTOM

;PROCESSOR PRIORITY LEVEL

;F1S TRAP VECTOR

;SET UP STACK POINTER

JFLOATING MULTIPLY ON THE R4 STACK

;POP THE ANSWER

;SAVE ''STACK POINTER''
;CHECK PS (EXCEPT T BIT)
;BRANCH IF OK

:PS NOT EQUAL TO 004
:THE ERROR NUMBER IS 300

;CHECK THE STACK POINTER (R&)

;BRANCH IF OK

:STACK POINTER (R4) NOT EQUAL TO #STACK4
:THE ERROR NUMBER IS 301

:CHECK FIRST HALF OF ANSWER
:BRANCH IF OK

;ANST NOT EQUAL TO 000000
:THE ERROR NUMBER IS 302

;CHECK SECOND HALF OF ANSWER
;BRANCH IF OK

;ANS2 NOT EQUAL TO 000000

: THE ERROR NUMBER IS 303

;CHECK THE TEST NUMBER

sBRANCH IF OK

;WRONG TEST! PC MUST HAVE FOULED UP,
: THE ERROR NUMBER |S 3C4
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE 47 .
P11 16~AUG~-78 0B:41 FMUL TEST SECTION SEQ 0055

;I..QttQ'..‘t.itl.IQ.."'..Q.l“tﬁ‘l‘.‘t.ti............'Ql'..‘!."..‘...
“TEST 42: ~ FMUL (LSI=11 FLOATING MULTIPLY INSTRUCTION)
3 140200,000000 = 052345,123456 = 152345,123456

ps = 210, STACK POINTER = R2

:'.tttttttttttt\ittt‘“'....Q..iii.iiﬁiit.lttttt""QI"..'Q!.QQ...'.."

&
R
8
3

8
~
wn
N
o
s
o

S
006450 TST42: JSR

7 RS PUSHR  :PUSH 4 WORDS ONTQ R2 STACK, SET PRIORITY
007536 052345 123456 WORD  052345,123456  -SECOND OPERAND ON TOP
007542 140200 000000 "WORD  140200.000000 :FIRST OPERAND ON BOTOM
007546 000343 "WORD 343 *PROCESSOR PRIORITY LEVEL
007550 016456 000340 "WORD TRAPER, 340 *FIS TRAP VECTOR
007554 012702 000510 MOV #STACKD,R2 “SET UP STACK POINTER
007560 000240 NOP
007562 075022 FMUL  R2 <FLOATING MULTIPLY ON THE R2 STACK
007564 004767 006450 JSR PC, POPR :POP THE ANSWER
007570 010267 170640 MOV R2. $SP "SAVE ''STACK POINTER''
007574 122767 000210 170630 cmeB #2710, $PSW  :CHECK PS (EXCEPT T BIT)
007602 001402 BEC .+6 *BRANCH IF OK
007604 104000 HLT *PS NOT EQUAL TO 210
007606 000305 305 “THE ERROR NUMBER IS 305
007610 022767 000514 170616 CMP #STACK4 , $SP :CHECK THE STACK POINTER (R2)
007616 001402 BEQ .+6 "BRANCH IF OK
007620 104000 HLT "STACK POINTER (R2) NOT EQUAL TO #STACK4
007622 000306 306 “THE ERROR NUMBER IS 306
007624 022767 152345 170604 MP #152345 ,ANST :CHECK FIRST HALF OF ANSWER
007632 001402 BEQ .+6 *BRANCH IF OK
007634 104002 HLT+2 *ANS1 NOT EQUAL TO 152345
007636 000307 207 “THE ERROR NUMBER 1S 307
007640 022767 123456 170572 CMP #123456 ,ANS2  :CHECK SECOND HALF OF ANSWER
007646 001402 BEQ .+6 *BRANCH IF OK
007650 104002 HLT+2 TANS2 NOT EQUAL TO 123456
007652 000310 310 *THE ERROR NUMBER 1S 310
007654 122767 000042 170522 END42: C(MPB  #42,  STESTN ;CHECK THE TEST NUMBER
007662 001402 BEQ 46 *BRANCH IF OK
007664 104000 HLT "WRONG TEST! PC MUST HAVE FOULED UP.
007666 000311 311 “THE ERROR NUMBER 15 311
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VKACC MACY1T 30A(1052) 21-AUG-78 15:28 PAGE 48 p

VKACC.P11  16=-AUG-78 0B:41 FMUL TEST SECTION SEQ 0056
1975

197 IARREARRAARRARR P ANANARAANRARRRACRAARRARRACRARRARRRATAARRRERRR SRR RRRRRannn
197 STEST 43: . FMUL (LSI=11 FLOATING MULTIPLY INSTRUCTION)

1978 : 100125,052525 * 135753,024642 = 000000,000009

1979 : PS = 004, STACK POINTER = RS

1980 :tttt*ttiﬁtttttt.'ttttttttttttﬁtﬁt't.'it"i'."i't..i'i.ﬁ!ti!"t...Q.tt!
1981 '

1982 104 SCOPE |

1983 004 006310 TST43: JSR RS PUSHR :PUSH 4 WORDS ONTO RS STACK, SET PRIORITY
1984 135 024642 _WORD  135753,024642 :SECOND OPERAND ON TOP

1985 100 052525 "WORD  100125.052525 :FIRST OPERAND ON BOTOM

1986 000 "WORD 117 *PROCESSOR PRIORITY LEVEL

1987 016456 000340 "WORD  TRAPER, 340 *FI1S TRAP VECTOR

}ggg 012705 000510 MOV #STACKO RS “SET UP STACK POINTER

1990 0002 NOP

}3312 0750 FMUL RS :FLOATING MULTIPLY ON THE RS STACK

1993 7 006310 JSR PC, POPR :POP THE ANSWER

1994 0567 170500 MOV RS, $SP “SAVE ''STACK POINTER''

1995 2767 000004 170470 CMPB  #004. $PSW  :CHECK PS (EXCEPT T BIT) .

1996 14 BEC .+6 ‘BRANCH IF OK

1997 007744 104000 HLT *PS NOT EQUAL TO 004

}% 007746 000312 312 “THE ERROR NUMBER IS 312

2000 007750 022767 000514 170456 CMP #STACKS , $SP :CHECK THE STACK POINTER (RS)

2001 007756 001402 BEQ .46 "BRANCH IF OK

2002 007760 104000 HLT :STACK POINTER (R5) NOT EQUAL TO #STACK4
5%3 007762 000313 313 “THE ERROR NUMBER IS 313

2005 007764 005767 170446 TST ANS 1 :CHECK FIRST HALF OF ANSWER

2006 007770 001402 BEQ . +6 ‘BRANCH IF OK

2007 007772 104002 HLT+2 *ANST NOT EQUAL TO 000000

5%3 007774 000314 214 “THE ERROR NUMBER IS 314

2010 007776 005767 170436 ST ANS?2 :CHECK SECOND HALF OF ANSWER

2011 010002 001402 BEC .46 BRANCH IF OK

2012 010004 104002 HLT+2 "ANSZ NOT EQUAL TO 000000

58}2 010006 000315 315 *THE ERROR NUMBER IS 315

2015 010010 122767 000043 170366 END43: C(MPB  #43,  STESTN :CHECK THE TEST NUMBER

2016 010016 001402 BEQ . +6 "BRANCH IF OK

2017 010020 104000 HLT "WRONG TEST' PC MUST HAVE FOULED UP.
018 010022 000316 316 . “THE ERROR NUMBER 1S 314
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P11 16=-AUG=-78 08:41 FMUL TEST SECTION SEQ 0057
.'tttl'tQtttt'tl’tttlttttttti.ttttttttttﬁ*tttﬁ.tt.l.tt!tt.i..ttitttt'.t.ttt
“TEST 44: ~ FMUL (LSI=11 FLOATING MULTIPLY INSTRUCTION)
. 161616,161616 * 000052,125252 = 000000, 000000
Ps = 204, STACK POINTER = R3

'-tltl*tt*ttttttttttttttttttttﬁtttitﬁitittﬂttttttttttttttiili.tt.t..!ﬁ!tn

010024 104400 SCOPE

010026 004567 006154 TST44:  JSR RS PUSHR :PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY

010032 000052 125252 _WORD  000052.125252  :SECOND OPERAND ON TOP

010036 161616 161616 "WORD 161616.161616  :FIRST OPERAND ON BOTOM

010042 000217 - 'WORD 217 *PROCESSOR PRIORITY LEVEL

010044 016456 000340 "WORD TRAPER, 340 *FIS TRAP VECTOR

010050 012703 000510 MOV #STACK0.R3 :SET UP STACK POINTER

010054 000240 NOP

010056 075023 FMUL  R3 :FLOATING MULTIPLY ON THE R3 STACK

010060 004767 006154 JSR PC, POPR  :POP THE ANSWER

010064 010367 170344 MOV R3 $SP “SAVE '‘STACK POINTER''

010070 122767 000204 170334 v cmPpB 4204, $PSW  :CHECK PS (EXCEPT T BIT)

010076 001402 BEG .+6 *BRANCH IF OK

010100 104000 HLT *PS NOT EQUAL TO 204

010102 000317 317 “THE ERROR NUMBER IS 317

010104 022767 000514 170322 CMP #STACKS , $SP :CHECK THE STACK POINTER (R3)

010112 001402 BEQ .+6 *BRANCH IF OK

010114 104000 HLT “STACK POINTER (R3) NOT EQUAL TO #STACK&

010116 000320 320 *THE ERROR NUMBER IS 320

010120 005767 170312 ST ANS1 :CHECK FIRST HALF OF ANSWER

010124 001402 BEQ .+6 *BRANCH IF OK

010126 104002 HLT+2 *ANS1 NOT EQUAL TO 000000

010130 000321 751 “THE ERROR NUMBER IS 321

010132 005767 170302 ST ANS2 :CHECK SECOND HALF OF ANSWER

010136 001402 BEQ .46 *BRANCH IF OK

010140 104002 HLT+2 *ANS2 NOT EQUAL TO 000000

010142 000322 322 “THE ERROR NUMBER IS 322

010144 122767 000044 170232 END44: (MPB P44, $TESTN :CHECK THE TEST NUMBER

010152 001402 BEQ .6 *BRANCH IF OK

010154 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP,

010156 000323 323 | *THE ERROR NUMBER IS 323
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FMUL TEST SECTION

SEQ 0058

'ttiittitt'ttt.tittﬁ.ttt&i'tl“i‘ﬁ..Q"i.tii..tttltii'."ttl..t..t'.tt'.

STEST 45: MUL (LSI-11 FLOATING MULTIPLY INSTRUCTION)
: 176452 125252 *~ 041500,000000 = 177777 177777
: 20, STACK POINTER =
;ttttttttttitttittittti*tttttttl!ﬁttﬁiti.‘tﬂ'ﬁtlittttttt'.t'tt't't.QQlt.
SCOPE
TST45: JSR PUSHS  :PUSH 4 WORDS ONTO STACK, SET PRIORITY
.WORD 041500 000000  :SECOND OPERAND ON TOP
.WORD  176452,125252  :FIRST OPERAND ON BOTTOM
.WORD 357 *PROCESSOR PRIORITY LEVEL
.WORD  TRAPER, 340 *FIS TRAP VECTOR :
NOP
FMUL  SP :FLOATING MULTIPLY ON THE STACK
JSR PC, POPS  ;POP THE ANSWER
CMP #BEGIN, SP *CHECK THE STACK POINTER
BEQ TSA4S *BRANCH IF OK
MOY #BEGIN, SP :RESTORE STACK POINTER
HLT :STACK POINTER FOULED UP
324, :THE ERROR NUMBER IS 324
AR END4S *SKIP REST OF TEST
170170 TSA4S: (MPB 4210, $PSW  ;CHECK PS (EXCEPT T BIT)
BEQ .46 :BRANCH IF OK
HLT :PS NOT EQUAL TO 210
325 :THE ERROR NUMBER IS 325
170160 CMP #177777 ANST  :CHECK FIRST HALF OF ANSWER
BEQ .46 :BRANCH IF OK
HLT+2 *ANS1 NOT EQUAL TO 177777
226 :THE ERROR NUMBER IS 326
170146 (MP #177777 ,ANS2  :;CHECK SECOND HALF OF ANSWER
BEQ .46 :BRANCH IF OK
HLT#2 *ANS2 NOT EQUAL TO 177777
327 :THE ERROR NUMBER [S 327
170076 END4S: (MPB  p45,  STESTN [CHECK THE rssr NUMBE R
BEQ .+ *BRANCH IF OK
HLT :WRONG TEST! PC MUST_HAVE FOULED UP.
330 :THE ERROR NUMBER [S 330
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010314 104400
010316 004567
010322 114100
010326 124252
010332 000200
01033 016456
01030 012701
010344 000240
010346 075021
010350 004767
010356 010167
010360 122767
010366 001402
010370 104000
010372 000331
010374 022767
010402 001402
010404 104000
010406 000332
010410 022767
010416 001402
010420 104002
010402 000333
010624 005767
010430 001402
0106432 104002
010434 000334
010436 122767
010644 001402
016446 104000
010450 000325

MAC Y11 30A(1OSS)
P11 08

41

005664
000001
125252

000340
000510

005064
170054
000200

000514
000200
170010

00004¢

21-AUG~78

H 5
15:28 PAGE 5

FMUL TEST SECTION SEQ 0059

X 23322222222222322232323233 3333333333333 22200l

TTEST 46: CFMUL (LSI-11 FLOATING MULTIPLY INSTRUCTION)
: 124252,125252 ~ 114100,000001 = 000200,000000
PS = 200, STACK POINTER = R1
.'t‘tﬁ‘tﬁ‘t"t.t"ttit‘tii.tli*tl’.ﬁ.‘.......'.t'.....i.i.ti'ii.tﬁ.QQ.!II..
SCOPE
TST46: JSR RS, PUSHR  :PUSH &4 WORDS ONTO R1 STACK, SET PRIORITY
_WORD  114100.000001 :SECOND OPERAND ON TOP
"WORD  124252.125252  :FIRST OPERAND ON BOTOM
"WORD 200 *PROCESSOR PRIORITY LEVEL
"WORD TRAPER, 340 “FIS TRAP VECTOR
MOV #STACKO,R1 “SET UP STACK POINTER
NOP
FMUL  R1 :FLOATING MULTIPLY ON THE R1 STACK
JSR PC, POPR  :POP THE ANSWER
MOV R1. $SP “SAVE '‘STACK POINTER''
170064 cMPB 4200, $PSW  -CHECK PS (EXCEPT T BIT)
BEC +6 *BRANCH IF OK
HLT *PS NOT EQUAL TO 200
331 “THE ERROR NUMBER IS 331
170032 CMP #STACKS ,$SP :CHECK THE STACK POINTER (R1}
BEQ .+6 ‘BRANCH IF OK
HLT “STACK POINTER (R1) NOT EQUAL TO #STACK4
332 :THE ERROR NUMBER IS 332
170020 CMP #000200,ANS 1 :CHECK FIRST HALF OF ANSWER
BEG 46 *BRANCH IF OK
HLT+2 *ANS1 NOT EQUAL TO 000200
233 “THE ERROR NUMBER 1S 333
ST ANS2 SCHECK SECOND HALF OF ANSWER
BEQ .6 *BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 000000
334 "THE ERROR NUMBER 1S 334
7740 END4G: C(MPB P46,  STESTN' :CHECK THE TEST NUMBER
BEQ .46 "BRANCH IF OK
LT "WRONG TEST! PC MUST HAVE FOULED UP.
335 “THE ERROR NUMBER 15 3325




88383
2833

B

38838558828

8

E

o o le)

229998
383838

'S
&

RRRRRRS2222922
228338333333

S LS L LN N N NS S LN VLN LN L ST VLN LS LS LWL S WS AN L VNN LWL S LS AW LN LS LAV N LN LAV N LV LV LV N LN LN LS LW LN L VTN WIS LW

o
3
CIOO0OC O000 OO0 OO0OO00 O0OO0OC OO00O00 O0000O0

04900

i

™

~
< <
™

x x
P

oo
-0 Ve

RO

il e il o ot D o D B e e el D el el il el e e lh — — el el D el D D B Bl B
B R RN 28 R R R RN EE IR IF AN INIITEUE SR

D
OOO§
—

53

<%

Fufu
AN LW
B ol
o

4
mJ!
U 3

MACY1T 30A(1052) 21-AUG~78

L1 16=-AUG~-78 08:41

065700

104000
105004

000340

3823

wn AU v i

alalelelelelie
o
—a
n
o

g

~

v

8
O ~NO

bt 2D
BRE

S 3
N
& 8
NN S

005670
000210

O=aC—

~J
o
~

104000

SRR REXSRE RoRRRE IERBKX
H
o
no

%
ggSK 833K
53 ¥253 g2

104000

N AN
g: o
OO

100401

N ororoN N

wn
~
~n
8R
—any

0800 jolele)
~
o
—

W
~
o

WOS N W

167640

-

o

W
oo
N =

8
828
2

3 38

000047

e §

~)

—hy
o
NOMrON Mo

el il el —_— D —d — — o —2 —D — b 3 = ) — ed —h —h D R
SES

-
L=
(]
AN
&~

'\!'\J§
HrrooOh O

F&

167704

1€7674

167667

167650

167564

15:28 PAGE 52

SEQ 0060

AR R R R TR AR AR RN AR AR R RARARAAAA AR AN AARR AR AR RO ARARAETN G AR ARseRRnnn

- FSUB (LSI=11 FLOATING SUBTRACT INSTRUCTION)
000000

04000 = 100401,
STACK POINTER = PC

:QQt‘ﬁtti'itilttll'il*It.ttt‘..‘.‘.ﬁ.t.ii‘ittitliﬁlﬂt"tﬁ"‘.‘.....ttt.t

TEST SECTION

TEST 47:

3 104000, 105004 - 104000,1
PS = 210,
SCOPE

TST47: JSR RS, PUSH7
.WORD  STK&7
.WORD  104000,104000
.WORD  104000,105004
.WORD 252
.WORD TRAPER, 340
NOP
FSuUB PC

STk&47: 104000
104000
104000
105004
JSR PC., POP7
(MPB #210, $PSW
BEQ .+6
HLT
236
{MpP 4#104000,ANS1
BEQ .+6
HLT+2
337
CMP #104000,ANS?2
BEQ .+6
HLT+2
340
(MP #100401 ,ANS3
BEQ .46
HL T+4
341
TST ANS4
BEQ .6
ML T+4
347

END4LT7: TMPB 847, $TESTN
BEC . *6
HLT

:PUSH 4 WORDS ONTO STACK, SET PRIORITY
;TOP OF STACK

;SECOND OPERAND ON TOP

sFIRST OPERAND ON BOTTOM

:PROCESSOR PRIORITY LEVEL

:FIS TRAP VECTOR

:FLOATING SUBTRACT ON
:SHOULD CONTAIN 104000
:SHOULD CONTAIN 104000
:BEFORE FSUB, 104000; AFTER, 100401
BEFORE FSUB, 105004; AFTER, 000000

;POP THE ANSWER

;CHECK PS (EXCEPT T BIT)
JBRANCH IF OK

;PS NOT EQUAL TO 210
;THE ERROR NUMBER IS 336

;CHECK FIRST HALF OF INPUT DATA (STk&47)
;BRANCH IF OK

;ANST NOT EQUAL TO 104000

;THE ERROR NUMBER IS 337

:CHECK SECOND HALF OF INPUT DATA™ (STK47+2)
:BRANCH [F OK

:ANS2 NOT EQUAL TO 104000

:THE ERROR NUMBER IS 340

;CHECK FIRST HALF OF ANSWER
;BRANCH IF OK

;ANS3 NOT EQUAL TO 100401
;THE ERROR NUMBER IS 341

;CHECK SECOND HALF OF ANSWER
JBRANCH IF OK

:ANS4 NOT EQUAL TO 000000

: THE ERROR NUMBER IS 342

;CHECK THE TEST NUMBER

JBRANCH IF OK

JWRONG TEST! PC MUST HAVE FOULED UP,
;THE FRROR NUMBER [S 343

FOLLOWING & WORDS
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P 16-AUG-78 0R:41 FMUL TEST SECTION SEQ 0061

2222222322222 22233zz232:333 3333333333300 R R Rl

“TEST SO: CFMUL (LSI=11 FLOATING MULTIPLY INSTRUCTION)
: 134600,073601 ~ 104000,104000 = 000401,000000
ps = 200, STACK POINTER = PC

:'.tttttititit.ttlt.l‘t.t....ti‘.“ii.iti.t"".""“'.Q.Q.l'l...t..t.tt

0106%8 104400 SCOPE

0106 004567 005524 TST50: JSR RS, PUSH7  ;PUSH 4 WORDS ONTO STACK, SET PRIORITY
010634 010660 .WORD  STK50 ;TOP OF STACK

010636 104000 104000 .WORD  104000,104000  :SECOND OPERAND ON TOP

010642 134600 073601 .WORD  134600,073601  ;FIRST OPERAND ON BOTTOM

010646 000246 .WORD 246 sPROCESSOR PRIORITY LEVEL

010650 016456 000340 .WORD  TRAPER,340 ;FIS TRAP VECTOR

010654 000240 NOP

010656 075027 FMUL PC ;FLOATING MULTIPLY ON FOLLOWING 4 WORDS
010660 104000 STK50: 104000 ;SHOULD CONTAIN 104000

010662 104000 104000 :SHOULD CONTAIN_ 104000

010664 134600 134600 ;BEFORE FMUL, 134600: AFTER, 000401
010666 073601 073601 ;BEFORE FMUL, 073601; AFTER, 000000
010670 004767 005574 JSR PL. POP7 ;POP THE ANSWER

010674 122767 000200 167530 CMPB #200, $PSW ;CHECK PS (EXCEPT T BIT)

010702 001402 BEQ .+6 ;BRANCH IF OK

010704 104000 - Y :PS NOT EQUAL TO 200

010706 000344 344 ;THE ERROR NUMBER [S 344

010710 022767 104000 167520 {MP #104000,ANS1 ;CHECK FIRST HALF OF INPUT DATA (STK50)
010716 001402 BFQ .*+6 ;BRANCH IF OK

010720 104002 HLT+2 ;ANST NOT EQUAL TO 104000

010722 000345 245 :THE ERROR NUMBER IS 345

010724 022767 104000 167506 (MP #104000 ,ANS2 ;CHECK SECOND HALF OF INPUT DATA (STK50+2)
010732 001402 ' BEQ .*+6 ;BRANCH IF OK

010734 104002 HLT+2 JANS2 NOT EQUAL TO 104000

01073 000346 346 :THE ERROR NUMBER IS 346

010740 022767 000401 167474 CMP #000401,ANS3 ;CHECK FIRST HALF OF ANSWER

010746 001402 BEQ .6 ;BRANCH [F OK

010750 104004 HL T +4 ;ANS3 NOT EQUAL TO 000401

010752 000347 347 ;THE ERROR NUMBER IS 347

010754 005767 167464 TST ANS4 ;CHECK SECOND HALF OF ANSWER

010760 001402 BEQ . *6 sBRANCH IF OK

010762 104004 HLT+4 ;ANS4 NOT EQUAL TO 000000

010764 000350 350 :THE ERROR NUMBER IS 350

010766 122767 000050 167470 ENDSC:  CMPB 450, $TESTN ;CHECK THE TEST NUMBER

010774 001402 BEG . +6 ;BRANCH IF OK

010776 104000 HLT JWRONG TEST! PC MUST HAVE FOULED UP,
011000 000351 351 ;THE ERROR NUMBER [S 357

‘0.‘&."'..'..1.‘.'..i.r...0".t.....l'......'..‘.'.t.‘......'............
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MACY1T1 30AX1052) 21-AUG-78 15:28 PAGE 54
P 16=-AUG=78 08:41 TEST FLOATING MUL. INSTRUCTION WITH UNDERFLOW SEQ 0062
STEST S1: v FMUL (LSI=11 FLOATING MULTIPLY INSTRUCTION)
: 024252,125252 = 114100,000000 ==> UNDERFLOW
PS(ON STACK) = 212. STACK POINTER = RO
:ltt'tttttliitttttttitﬁttltt!Itﬁ.'.lt.t.'t"....tii.ttt..!t.'tl!ttttt.ttt
011002 104400 SCOPE
011004 004567 005176 TST51: JSR RS, PUSHR  :PUSH 4 WORDS ONTO RO STACK, SET PRIORITY
011010 114100 000000 _WORD  114100.000000 :SECOND OPERAND ON TOP
011014 024252 125252 "WORD  024252.125252 :FIRST OPERAND ON BOTTOM
011020 000305 .WORD 305 *PROCESSOR PRIORITY LEVEL
011022 011054 000057 "WORD ISRS1, 057 *FIS TRAP VECTOR
011026 012700 000510 MOV #STACKO.RO “SET UP RO AS STACK POINTER
011032 000240 NOP
01103 075020 FMUL RO <FLOATING MULTIPLY ON THE RO STACK
011036 004767 005176 RTAST: JSR PC, POPR  :POP THE ''ANSWER''
011042 010067 167366 MOV RO, $SP “SAVE STACK POINTER (RO)
011046 104002 HLT+2 “FIS TRAP DIDN'T OCCURE '
011050 000352 352 *THE ERROR NUMBER IS 352
011052 000463 BR ENDS1
011054 004767 0052 ISRS1: JSR PC, POPER  :POP ALL DATA OFF THE STACKS
011060 010067 1673 MOV RO $SP “SAVE STACK POINTER (RO)
011064 122767 000057 167340 CMPB  #057, $PSW  :CHECK PS AFTZR FIS TRAP
011072 001402 BEQ . +6 “BRANCH IF OK
011074 104000 HLT *PS AFTER FIS TRAP NOT EQUAL TO 057
011076 000353 753 “THE ERROR NUMBER IS 353
011100 022767 000510 167326 cMe #STACKO,$SP :CHECK THE STACK POINTER (RO)
011106 001402 BEQ . +6 “BRANCH IF OK
011110 104000 HLT “STACK POINTER (RO) NOT EQUAL TO #STACKO
011112 000354 354 *THE ERROR NUMBER IS 354
011114 022767 011036 167314 CMP #RTAS1, ANS? :CHECK FIS TRAP RETURN ADDRESS
011122 001402 BEQ .6 *BRANCH IF 0K |
011124 104001 HLT+1 : ‘FIS TRAP AT WRONG ADDRESS
011126 000355 355 *THE ERROR NUMBER IS 355
011130 022767 167302 CMP 4212, ANS2  :CHECK PS BEFORE FIS TRAP
011136 001402 BEQ .+6 *BRANCH IF OK
011140 104002 HLT+2 "PS AT FIS TRAP TIME NOT 212
011142 000356 356 *THE ERROR NUMBER IS 356
011144 022767 114100 167270 CMP #114100,ANS3  :CHECK DATA FROM THE STACK
011152 001402 BEQ .+6 *BRANCH IF OK
011154 104004 HL T +4 *DATA ON STACK (114100) CHANGED
011156 000357 357 “THE ERROR NUMBER S 357
011160 005767 167260 ST ANS 4 :(CHECK DATA FROM STACK
011164 001402 BEQ .+6 *BRANCH IF OK
011166 104004 HL T *4 “DATA ON STACK (00000Q) CHANGED
011170 000360 360 “THE ERROR NUMBER IS 360
011172 022767 026257 '1(L724¢ C™MP 8024252 ,ANSS :(HECK DATA FROM STACK
011200 001402 BEG 6 ‘BRANCH 1F OK
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CVKACC
CVKACC.P11 16=AUG-78 08:4 TEST FLOATING MUL. INSTRUCTION WITH UNDERFLOW SEQ 0063
5 811502 104006 HLT+6 :DATA ON STACK (024252) CHANGED
? 11204 000361 361 “THE ERROR NUMBER IS 361
8 011206 022767 125252 167234 (MP  #125252.ANS6 :CHECK DATA FROM STACK
0112164 007402 BEQ .46 *BRANCH IF Ok
5; 011216 104006 HLT+6 DATA ON STACK (125252) (HANGED
% ; 011220 000362 362 :THE ERROR NUMBER IS 362
a;?; 0112%2 122767 0G00S1 167154 ENDS1: C(MPB  #51, $TESTN :CHECK THE TEST NUMBER
333, 011230 001402 BEQ .+6 "BRANCH IF OK
2325 011232 104000 HLT “WRONG TEST! PC MUST HAVE FOULED UP.
g;gg 01123 0003263 263 *THE ERROR NUMBER [S 363
2738 -

P
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11 16=-AUG-78 08:4 TEST FLOATING MUL. INSTRUCTION WITH OVERFLOW SEQ 0064
;t*ttttttttittttittﬁ*‘ttﬁﬁ"Q‘t..ﬁttt.ttttiitt.t.iitﬁi...'."t.I'.ttitttt
“TEST 52: CFMUL (LSI=11 FLOATING MULTIPLY INSTRUCTION)
: 076452.125252 * 041500,000001 ==> OVERFLOW
PS(ON STACK) = 002, STACK POINTER = SP

:ttttttiitttt‘tlt!ﬁﬁﬁi&iil.ttt'.'i‘lit“‘ﬁtﬁ‘ﬁt'ﬁ*."‘l.Qtitlii'it.'l'ttt

011236 104400 SCOPE

011240 004567 004570 TSTS2: JSR RS, PUSHS :PUSH 4 WORDS ONTO STACK, SET PRIORITY

011244 041500 000007 WORD  041500,000001 :SECOND OPERAND ON TOP

011250 076452 125252 "WORD  076452.125252 :FIRST OPERAND ON BOTTOM

011254 000105 "WORD 105 “PROCESSOR PRIORITY LEVEL

011256 011304 000357 "WORD  ISRS52, 357 “FIS TRAP VECTOR

011262 000240 NOP

011264 075026 FMUL  SP -FLOATING MULTIPLY ON THE STACK

011266 004767 006602 RTAS2: JSR PC, POPS  :POP THE ''ANSWER''

011272 104002 HLT+2 “FI1S TRAP DIDN'T OCCURE'

011274 000364 364 “THE ERROR NUMBER IS 364

011276 012706 000600 MOV #BEGIN, SP “RESTORE THE STACK POINTER

011302 000464 BR END52

011304 004767 004616 ISRS2: JSR PC, POPES  :POP ALL DATA OFF THE STACK

011310 022706 000600 CMP #BEGIN, SP "CHECK THE STACK POINTER

011314 001405 BEQ 1SAS52 "BRANCH IF OK

011316 012706 000600 MOV #BEGIN, SP "RESTORE THE STACK POINTER

011322 104000 HLT *STACK POINTER FOULED UP

011324 000365 365 “THE ERROR NUMBER IS 365

011326 000452 BR ENDS2 “SKIP REST OF TEST

011330 122767 000357 167074 ISAS2: CMPB  #357. $PSW  :CHECK PS AFTER FIS TRAP

011336 001402 BEQ .+6 "BRANCH IF OK

011340 104000 HLT "PS AFTER FIS TRAP NOT EQUAL TO 357

011342 000366 366 “THE ERROR NUMBER IS 366

011344 022767 011266 167064 CMP #RTAS?. ANS1  :CHECK FIS TRAP RETURN ADDRESS

011352 001402 BEQ +6 "BRANCH IF OK

011354 104001 HLT+1 "F1S TRAP AT WRONG ADDRESS

011356 000367 367 "THE ERROR NUMBER IS 367

011360 022767 000002 167052 CMP #002., ANSZ  :CHECK PS BEFORE FIS TRAP

011366 001402 BEQ .+6 *BRANCH IF OK

011370 104002 HLT+2 “PS AT FIS TRAP TIME NOT 002

011372 000370 : 370 “THE ERROR NUMBER 1S 370

011374 022767 041500 167040 CMP #041500,ANS3  :CHECK DATA FROM THE STACK

011402 001402 BEQ .46 "BRANCH IF OK

011406 104004 HLT+4 ‘DATA ON STACK (041500) CHANGED

011406 000371 371 “THE ERROR NUMBER IS 371

011410 022767 000001 167026 CMP #000001 ,ANS4  :CHECK DATA FROM STACK

011416 001402 . BEC .+6 *BRANCH IF OK

011420 104004 HLT +4 "DATA ON STACK (000001) CHANGED

011422 000372 372 “THE ERROR NUMBER [S 372
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CVKACC.P11  16=AUG-78 08:41 TEST FLOATING MUL. INSTRUCTION WITH OVERFLOW SEQ 0065
2395 011426 022767 076452 167014 (MP  #O76452,ANSS5  ;CHECK DATA FROM STACK
2396 011432 001402 . - BEQ .+6 *BRANCH IF OK
2397 011434 104006 HLT+6 ‘DATA ON STACK (076452) CHANGED
2308 011436 000373 373 THE ERROR NUMBER S 373
2400 011640 022767 125252 167002 C(MP  #125252,ANS6  ;CHECK DATA FROM STACK
2401 011446 001402 BEQ .+6 *BRANCH IF OK
2402 011450 104006 HLT +6 “DATA ON STACK (125252) CHANGED
2403 011452 0007 374 :THE ERROR NUMBER 1S 374
2405 011454 122767 000052 166722 ENDS2: C(MPB  #52,  STESTN ;CHECK THE TEST NUMBER
2406 011462 001402 BEQ .+6 *BRANCH IF OK
2407 011464 104000 HLT WRONG TEST! PC MUST HAVE FOULED UP.
2408 011466 000375 375 THE ERROR NUMBER S 375
[ 1 H
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00100 CVKACC MACY11 30A(1052)
00 CVKACC.P? 16-AUG-78 08 FDIV TEST SECTION SEQ 0066
004 2611
w ?‘1' .'Itttﬁt’i‘tttttt'ttttt.tti.t“tt!t'l“iil.t....l.it'..tti."..'tt‘...t'ttt
00988 241? “TEST 53: FDIV (LSI=11 FLOATING oxv10§ NSTRUCT ION?

414 : 167452,125251 /7 127652,125252 = 077777,177776
88aoo 415 : PS = 000, STACK POINTER = RO
00900 416 IR AR AR AR AR R A AR AR AR AR AR AR R RAAR AR AR AR AR AR R ARA AR RO RRT Rt R R
01000 417
01100 2418 011470 104400 SCOPE
01588 2419 011472 004567 004510 TST53: JSR RS PUSHR  :PUSH & WORDS ONTO RO STACK, SET PRIORITY
01 2420 011476 127652 125252 _WORD  127652,125252 :SECOND OPERAND ON TOP
01400 421 011502 167452 125251 "WORD 167452.125251  -FIRST OPERAND ON BOTTOM
01500 422 011506 000111 "WORD 111 *PROCESSOR PRIORITY LEVEL
01600 423 011510 016456 000340 'WORD TRAPER, 340 “FIS TRAP VECTOR
8};88 52 g 011514 012700 000510 MOV #STACKO RO “SHECK STACK POINTER
01900 3459 011520 000240 NOP :
0. 1 3223 011522 075030 FDIV RO :FLOATING DIVIDE ON THE RO STACK
0 538 2429 011524 004767 004510 JSR PC, POPR  ;POP THE ANSWER
0 2430 011530 010067 166700 MOV RO, $SP “SAVE ''STACK POINTER''
0 488 2431 011534 105767 166672 TSTB  $PSW “CHECK PS (EXCEPT T BIT)
025 2432 011540 0071402 BEC .+6 *BRANCH IF OK
0 goo 2433 011542 104000 HLT *PS NOT EQUAL TO 000
0 088 5232 011544 000376 376 *THE ERROR NUMBER IS 376
0 24%6 011546 022767 000514 166660 CMP #STACKS . $SP :CHECK THE STACK POINTER (RO)
0 2437 011554 001402 BEQ .+6 *BRANCH IF OK
03100 2438 011556 104000 HLT ‘STACK POINTER (RO) NOT EQUAL TO #STACK4
8 3228 011560 000377 377 "T4E ERROR NUMBER 15 377

(4

03400 2441 011562 022767 077777 166646 CMP 8077777 LANS :CHECK FIRST HALF OF ANSWER
03500 42 011570 001402 BEQ .46 *BRANCH IF OK
0300 5443 011572 104002 HLT+2 "ANS1 NOT EQUAL TO 077777
8 Szzg 011574 000400 «00 *THE ERROR NUMBER 1S 400
03900 2446 011576 022767 177776 166634 CMP #177776 ,ANS2  ;CHECK SECOND HALF OF ANSWER
0k 2447 011606 007402 BEQ .46 *BRANCH IF OK
041 2448 011606 104002 HLT+2 *ANS2 NOT EQUAL TO 177776
& 5228 011610 000401 401 “THE ERROR NUMBER 1S 401
044 2451 011612 122767 000053 166564 END53: CMPB  #53,  STESTN ;CHECK THE TEST NUMBER
045 2652 011620 001402 BEU . +6 ‘BRANCH IF OK
04 453 011622 104000 HLT "WRONG TEST! PC MUST HAVE FOULED UP.
04 700 454 011624 000402 402 *THE ERROR NUMBER 1S 4C2
04800 455
04900 456
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15:28 PAGE 59
FDIV TEST SECTION SEQ 0067
;tt"tltt‘it‘ttttttitiitttltﬂttilttt"'.*‘t.tt'i.ttttttttﬁitit"i..‘.tii
STEST S4: CFDIV (LSI=11 FLOATING DIVID; NSTRUC T ION)
; 167452,125252 /7 027652,125253 = 177777 ,177777
: ps = 210, STACK POINTER = SP
;ttttttttttttttt'tttttitttttﬁ*‘t.tttttiittttiitt.tttt.t!tQ.!iQQ..Q'Q.ltt
SCOPE
ISTS4: JSR :PUSH 4 WORDS ONTO STACK, SET PRIORITY

RS PUSHS
LWORD 027652,125253 :SECOND OPERAND ON TOP
"WORD 167452.125252  :FIRST OPERAND ON BOTTOM

.WORD 300 ;PROCESSOR PRIORITY LEVEL

.WORD  TRAPER, 340 ;FIS TRAP VECTOR

NOP

FDIV SP ;FLOATING DIVIDE ON THE STACK

JSR PC, POPS ;POP THE ANSWER

CMP #BEGIN, SP ;CHECK THE STACK POINTER

BEQ TSAS4 sBRANCH IF OK

MOV #BEGIN, SP ;RESTORE STACK POINTER

HLT ;STACK POINTER FOULED UP

403 :THE_ERROR NUMBER IS 403

BR END54 ;SKIP REST OF TEST
166522 TSAS4: (MPB #210, $PSW ;CHECK PS (EXCEPT T BIT)

BEQ .*+6 ;BRANCH IF OK

HLT ;PS NOT EQUAL TO 210

404 :THE ERROR NUMBER IS 404
166512 {MP 8177777 ,ANST ;CHECK FIRST HALF OF ANSWER

BEQ .*6 ;BRANCH IF OK

HLT+2 ;ANST NOT EQUAL TO 177777

405 :THE ERROR NUMBER IS 405
166500 (MP #177777 ,ANS2 ;CHECK SECOND HALF OF ANSWER

BEQ .46 sBRANCH IF OK

HLT+2 JANS2 NOT EQUAL TO 177777

406 ;THE ERROR NUMBER IS 406
166430 END54: CMPB r54, $TESTN ;CHECK THE TEST NUMBER

BEQ .*+6 ;BRANCH IF OK

HLT ;WRONG TEST! PC MUST HAVE FOULED UP.

407 ; THE ERROR NUMBER 1S 4C7
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MACY11 30A(1052) 21-AUG-78 15:28 PAGE 60
P11 16~AUG-78 08:41 FDIV TEST SECTION SEQ 0068

A AR AR AR AR A AT AR R AR AR A RAAAAAAARAAAAAAR AR AR AR RA AR A AR AR A RN R R AN

“TEST 55: CFDIV (LSI=11 FLOATING DIVIDE INSTRUCTION)
: 125252.125252 /7 065252,125252 = 100200,000000
: PS = 210, STACK POINTER = R2

.
;ittttittt*t*ﬁ‘til*i**ttti‘iitiiti'tlt‘t't""'.“'tt"'...iittittIﬁtttl

g
2

011 SC
0117 004567 004216 TST55: JSR RS PUSHR :PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY
011770 065252 125252 WORD  065252,125252  :SECOND OPERAND ON TOP

011774 125252 125252 'WORD 125252.125252 :FIRST OPERAND ON BOTTOM

012000 000217 "WORD 217 "PROCESSOR PRIORITY LEVEL

012002 016456 000340 .WORD TRAPER, 340 ;FIS TRAP VECTOR

012006 012702 000510 MOV #STACKO.R2 "SHECK STACK POINTER

012012 000240 NOP -

012014 075032 FDIV R2 :FLOATING DIVIDE ON THE R2 STACK
012016 004767 004216 JSR PC, POPR :POP THE ANSWER

012022 010267 166406 MOV R2. $SP *SAVE ''STACK POINTER''

0120%2 122767 000210 166376 CMPB -#210, $PSW :CHECK PS (EXCEPT T BIT)

0120 001402 BEG . .*+6 :BRANCH IF 0K

012036 104000 HLT *PS NOT EQUAL TO 210

012040 000410 410 “THE ERROR NUMBER IS 410

012042 022767 000514 1663¢€4 CMP #STACKS ,$SP :CHECK THE STACK POINTER (RZ2)

012050 001402 BEQ .+6 ’ *BRANCH IF OK

012052 104000 HLT :STACK POINTER (R2) NOT EQUAL TO #STACK4
012054 000411 411 “THE ERROR NUMBER IS 411

012056 022767 100200 166352 CMP #100200,ANS1 :CHECK FIRST HALF OF ANSWER

012064 001402 BEQ .6 :BRANCH IF OK

012066 104002 HLT+2 *ANS1 NOT EQUAL TO 100200

012070 000412 412 :THE ERROR NUMBER IS 412

012072 005767 166342 ST ANS?2 :CHECK SECOND HALF OF ANSWER

012076 001402 BEQ .+6 *BRANCH IF OK

013100 104002 HLT+2 *ANS2 NOT EQUAL TO 000000

012102 000413 413 *THE ERROR NUMBER IS 413

012104 122767 000055 166272 ENDSS: CMPB  #55,  S$TESTN ;CHECK THE TEST NUMBER

012112 001402 BEQ .+6 *BRANCH IF OK

012114 .104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.
012116 000414 414 :THE ERROR NUMBER [S 414
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P 16=-AUG-78 08:41 FDIV TEST SECTION SEQ 0069
;ittttttiiﬁittt.ttltiiittttttltlQt!ttttt‘.ﬁ"‘ﬂl.......t.tt'ttttt.Qttl..
“TEST 56: " FDIV (LSI-11 FLOATING DIVIDE INSTRUCTION)
: 000000,000000 / 140670,123456 = 000000,000000
PS = 004, STACK POINTER = R3
;ttttttitttttttttttttttittlttttt!ﬁ.ti.l&li..tiiitittit.ttttttttt'!Qt-.ti
0%2120 104400 SCOPE
012122 004567 004060 ISTS6: JSR RS PUSHR  :PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY
0121%6 140670 123456 _WORD  140670,123456  :SECOND OPERAND ON TOP
012132 000000 000000 "WORD  000000,000000 :FIRST OPERAND ON BOTTOM
012136 000105 .WORD 105 *PROCESSOR PRIORITY LEVEL
012140 016456 000340 "WORD TRAPER, 340 “FIS TRAP VECTOR
012144 012703 000510 MOV #STACKO .R3 “SHECK STACK POINTER
012150 000240 NOP
012152 075033 FDIV  R3 :FLOATING DIVIDE ON THE R3 STACK
012154 004767 004060 JSR PC, POPR  :POP THE ANSWER K
012160 010367 166250 MOV R3 $SP “SAVE ''STACK POINTER
012166 122767 0000046 166240 cmeB  #004, $PSW  :CHECK PS (EXCEPT T BIT)
012172 001402 BEC .+6 *BRANCH IF OK
012174 104000 HLT *PS NOT EQUAL TO 004
012176 000415 415 “THE ERROR NUMBER IS 415
012200 022767 000514 16622€ CMP #STACKSG ,$5P :CHECK THE STACK POINTER (R3)
012206 001402 BEQ .+6 “BRANCH IF OK
012210 104000 LT “STACK POINTER (R3) NOT EQUAL TO #STACK4
012212 000416 416 *THE ERROR NUMBER IS 416
012214 005767 166216 TST ANS 1 :CHECK FIRST HALF OF ANSWER
012220 001402 BEQ .+6 “BRANCH IF OK
012222 104602 HLT+2 *ANS1 NOT EQUAL TO 000000
012224 000417 417 “THE ERROR NUMBER 1S 417
012226 005767 166206 ST ANS?2 :CHECK SECOND HALF OF ANSWER
012232 001402 BEQ .46 "BRANCH IF OK
012234 104002 HLT+2 *ANS2 NOT EQUAL TO 000000
012236 000420 420 *THE ERROR NUMBER IS 420
012240 122767 000056 166136 ENDS6: C(MPB  #56.  STESTN ;CHECK THE TEST NUMBER
012246 001402 BEQ L6 *BRANCH IF OK
012250 104000 HLT JWRONG TEST! PC MUST HAVE FOULED UP.
012252 000421 421 “THE ERROR NUMBER 15 427
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CVKACC.P11 16=-AUG=78 08:41 FDIV TEST SECTION SEQ 0070

595
S .-tttttttttttttttItlttttlttttttltttttttttttti!t'ttt.tlttttt-tttttt'tottt.
59 “TEST 57: CFDIV (LSI=11 FLOATING DIVIDE INSTRUCTION)
§98 : 102500, 146000 7/ 104000,104000 = 036700,000000

2599 : ps = 200, STACK POINTER = PC

zm ;ttttttt'ttttttitttlttttttttt.tttttttttttttttttt'tttttit.t.ttQQQtttt!ttt

2601

2602 012254 104400 SCOPE

2603 012256 004567 004076 TST57: JSR RS. PUSH7 :PUSH 4 WORDS ONTO STACK, SET PRIORITY

2604 012262 012306 .WORD STKS?7 :TOP OF STACK

2605 0122664 104000 104000 "WORD  104000,104000 :SECOND OPERAND ON TOP

2606 012270 102500 146000 .WORD 102500, 146000 :FIRST OPERAND ON BOTTOM

2607 012276 000357 "WORD 357 *PROCESSOR PRIORITY LEVEL

5288 012276 016456 000340 .WORD TRAPER, 340 :FIS TRAP VECTOR

2610 012302 000240 NOP

2611 012304 075037 FDIV PC ;FLOATING DIVIDE ON FOLLOWING & WORDS

2612 012306 104000 STK57: 104000 *SHOULD CONTAIN 104000

2613 012310 104000 104000 “SHOULD CONTAIN 104000

2614 012312 102500 ~ 102500 “BEFORE FDIV, 102500; AFTER, 036700

52}2 012314 146000 146000 “BEFORE FDIV. 146000: AFTER, 000000

2617 012316 004767 004066 JSR PC POP7  :;POP THE ANSWER

2618 012322 122767 000200 166102 cmpe  #200, $PSW  :CHECK PS (EXCEPT T BIT)

2619 012330 001402 BEQ .46 *BRANCH IF OK

2620 012332 104000 HLT *PS NOT EQUAL TO 200

ggsg 012334 000422 622 :THE ERROR NUMBER [S 422

2623 012336 022767 104000 1€60G72 CMP #104000,ANST :CHECK FIRST HALF OF INPUT DATA (STKS7)

2624 012344 001402 BEQ *6 :BRANCH IF OK

2625 012346 104002 HLT+2 *ANST NOT EQUAL TO 104000

525(7: 012350 000423 423 :THE ERROR NUMBER IS 423

2628 012352 022767 104000 166060 (MP #104000,ANS2 :CHECK SECOND HALF OF INPUT DATA (STKS57+2)

2629 012360 001402 BEQ L6 *BRANCH IF OK

2630 012362 104002 HLT+2 *ANS2 NOT EQUAL TO 104000

gggg 012364 000424 424 “THE ERROR NUMBER IS 424

2633 012366 022767 036700 166046 CMP #036700,ANS3 :CHECK FIRST HALF OF ANSWER

2634 012374 001402 BEQ .+6 *BRANCH IF OK

2635 012376 104004 HL T+4 *ANS3 NOT EQUAL TO 036700

52;9 012400 000425 425 “THE ERROR NUMBER 1S 425

2638 012402 00576? 166036 ST ANS4 :CHECK SECOND HALF OF ANSWER

2639 012406 001402 8EQ .+6 “BRANCH IF OK

2660 012410 104004 HLT+4 :ANS4 NOT EQUAL TO 000000

Sﬁ‘l 012412 000426 426 :THE ERROR NUMBER [S 426

264 012414 122767 000057 165762 ENLS7: CMPB 857, $TESTN ;CHECK THE TEST NUMBER

2644 012422 001402 BEC 6 *BRANCH IF OK

2645 012424 104000 HL T "WRONG TEST' PC MUST HAVE FOULED UP.

5229 012426 000427 427 “THE ERROR NUMBER 1S 427

2648

'\(t‘(‘: ;.......'QQ"..‘t-.t......O_‘t...!.'...I-........‘...".'..‘....'...'.'...
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CVKACC P 16~AUG~78 08:41 TEST FLOATING DIV. INSTRUCTION WITH UNDERFLOW SEQ 0071
2651 :TEST 60: FDIV (LSI=11 FLOATING DIVIDE INSTRUCTION)
365 2 025252,125251 7 065252.125252 ==> UNDERFLOW
65 : PS(ON STACK) = 012, STACK POINTER = R1
265{. '-ttttttttttitttttt'tﬂtltttttttttt'ttitttitii.ttittttttt.tt.t!tt..!tttttt.
2655
2656 012430 104400 SCOPE
2657 012432 004567 003550 TST60: JSR RS PUSHR  :PUSH 4 WORDS ONTO R1 STACK, SET PRIORITY
2658 012436 065252 125252 LWORD  065252.125252  :SECOND OPERAND ON TOP
2659 012442 (025252 1c5251 .WORD 025252,125251 :FIRST OPERAND ON BOTTOM
2660 012446 000015 .WORD 015 :PROCESSOR PRIORITY LEVEL
2661 012450 012502 000300 .WORD ISR60, 300 :FIS TRAP VECTOR
sgg; 012454 012701 000510 MOV #STACKO R :SET UP R1 AS STACK POINTER
|
2664 012460 00C240 NOP
sggg 012462 075031 FDIV R1 :FLOATING DIVIDE ON THE R1 STACK
2667 012464 004767 003550 RTA60: JSR PC, POPR :POP THE ''ANSWER''
2668 012470 010167 165740 MOV R1, $SP :SAVE STACK POINTER (R1)
2669 012474 106002 HLT+2 :FIS TRAP DIDN'T OCCURE !
2670 012476 000430 430 :THE ERROR NUMBER IS 430
5255 012500 000464 BR END60
2673 012502 004767 003562 ISR60: JSR PC, POPER  :POP ALL DATA OFF THE STACKS
2674 012506 010167 165722 MOV R1 $SP :SAVE STACK POINTER (R1)
2675 012512 122767 000300 165712 (MPB  #300, $PSW  :CHECK PS AFTZR FIS TRAP
2676 012520 001402 BEQ .+6 :BRANCH IF OK
2677 012522 104000 HLT :PS AFTER FIS TRAP NOT EQUAL TO 300
gg;g 012524 000431 431 :THE ERROR NUMBER IS 431
2680 012526 022767 000510 165700 (Mme #STACKQ,$SP :CHECK THE STACK POINTER (R1)
2681 0125 001402 BEQ .+6 :BRANCH IF OK
2682 012536 104000 HLT :STACK POINTER (R1) NOT EQUAL TO #STACKO
gggz 012540 000432 432 :THE ERROR NUMBER IS 432
2685 012542 022767 012464 165666 (MP #RTAGD, ANST :CHECK FIS TRAP RETURN ADDRESS
2689 012550 001402 BEQ .+6 :BRANCH IF 0K
2687 012552 104001 HLT+1 :FIS TRAP AT WRONG ADDRESS
Sggg 012554 000433 433 :THE ERROR NUMBER IS 433
2690 012556 022767 000012 165654 CMP #012, ANS? :CHECK PS BEFORE FIS TRAP
2691 012564 001402 BEQ .+6 :BRANCH [F 0K
2692 012566 104002 HLT+2 :PS AT FIS TRAP TIME NOT 012
gggz 012570 000434 4% :THE ERROR NUMBER S 434
2695 012572 022767 065252 165647 CMP #065252 ,ANS3 :CHECK DATA FROM THE STACK
2696 012600 001402 BEQ L+6 :BRANCH [F OK
2697 0126G2 104004 < HLT+4 :DATA ON STACK (065252) CHANGED
520 012 000435 435 :THE ERROR NUMBER |S 435
2700 012606 022767 125252 165630 CMP 8125252 ,ANS4 :CHECK DATA FROM STACK
2701 012614 001402 BEQ . *6 ;BRANCH [F 0K
s?Og 012616 104004 HLT+4 :DATA ON STACK (125252) C(HANGED
27?8‘ 012620 000436. 436 :THE ERROR NUMBER IS 436
27205 012622 022767 025252 45474 “MP 8025252 ,ANSS ;CHECK DATA FROM STA(K
706 012630 001402 BEQ .6 :BRANCH 1F Ok
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P 16-AUG-78 0B:41 TEST FLOATING DIV. INSTRUCTION WITH UNDERFLOW SEQ 00772
012632 104006, HLT+6 :DATA ON STACK (025252) C(HANGED
01263 000437 437 :THE ERROR NUMBER |S 437
012636 022767 125257 165604 CMP " #125251 ,ANS6 :CHECK DATA FROM STACK
012644 001402 BEQ .+6 :BRANCH IF 0K
015646 104006 HLT+6 :DATA ON STACK (125251) (HANGED
012650 000440 440 :THE ERROR NUMBER |S 440
012652 122767 0CO060 165524 END60: (MPB #60, $TESTN :CHECK THE TEST NUMBER
012660 001402 BEQ .*6 :BRANCH [F OK
012667 104000 HLT :WRONG TEST! PC MUST HAVE FOULED uP.
012664 Q00441 441 :THE ERROR NUMBER [S 441
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104400
004567
127652
067452
000242
012740
012704

000240
075034

004767
010467

000464

004767
010467
122767
001402
104000
000443

022767

003324
165464
000357

000510

01272¢

000202

127652

I
15:28 PAGE 65

TEST FLOATING DIV INSTRUCTION WITH OVERFLOW

SEQ 0073

Y2222 2222222222%22223%3222323333333 3 iR AR R R Al

STEST &1:

PS(ON STACK) = 202,

:!ttil‘ttlit"tﬁﬁﬁﬁﬁ‘ﬁ‘lﬁ“'.ﬁ....t.t.t'.i'..i..'t......'l‘..t.tttt.t.titt

SCOPE
TST61: JSR

RTA61:

ISR61: JSR
165454
BEQ
HLT
4463

CMP
BEQ
HLT
ANA

(MP
BEQ
HLT+1
445

CMP
BEQ
HLT+2
446

CMP
BEG
HLT+4
G467

CMP
BEG
HLT+4
450

165442
165430 -
165416

165404

RS PUSHR
127652.,125252
067452,125252
242

ISR61, 357
#STACKO R4

R4

PC, POPR
R4, $SP
END61

PC, POPER
R4 $SP
#357. $PSW
.+6
#STACKO,$SP
.+6

#RTAET, ANS1

.+6
#202,  ANS?
.+6
#127652.AN53
l?iS?S?,ANSL

&

FDIV _(LSI=11 FLOATING DIVIDE INSTRUCTION)
067452,125252 /7 127652,125252 ==> QVERFLOW

STACK POINTER = Ré&

;PUSH 4 WORDS ONTO R4 STACK, SET PRIORITY
;SECOND OPERAND ON TOP

;FIRST OPERAND ON BOTTOM

;PROCESSOR PRIORITY LEVEL

JFIS TRAP VECTOR

;SET UP R4 AS STACK POINTER

sFLOATING DIVIDE ON THE R4 STA(K

;POP_THE ‘'ANSWER"'

;SAVE STACK POINTER (R&)
;FIS TRAP DIDN'T OCCURE!
:THE ERROR NUMBER IS 442

]
:POP ALL DATA OFF THE STACKS
*SAVE STACK POINTER (R&)
:CHECK PS AFTER FIS TRAP
:BRANCH IF 0K
PS AFTER FIS TRAP NOT EQUAL TO 357
:THE ERROR BUMBER IS 443

:CHECK THE STACK POINTER (R4)

:BRANCH IF OK

STACK POINTER (R4) NOT EQUAL TO #STACKO
:THE ERROR NUMBER IS 444

;CHECK FIS TRAP RETURN ADDRESS
;BRANCH IF OK

;FIS TRAP AT WRONG ADDRESS
:THE ERROR NUMBER IS 445

;CHECK PS BEFORE FIS TRAP

JBRANCH IF OK R
;PS AT FIS TRAP TIME NCT 202
:THE ERROR NUMBER [S 446 hJ

;CHECK DATA FROM THE STACK
“BRANCH IF OK

“DATA ON STACK (127652) CHANGED
:THE ERROR NUMBER 1S 447

;CHECK DATA FROM STACK

;BRANCH IF OK _

:DATA ON STACK (12525¢) (HANGED
:THE ERROR NUMBER [S 45C
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x CVKACC P11 16~AUG~-78 08:4 TEST FLOATING DIV INSTRUCTION WITH OVERFLOW SEQ 0074
88‘ 777 013060 022767 067452 165360 cMP #067452 ,ANSS :CHECK DATA FROM STACK
2778 01 001402 BEQ .+6 :BRANCH IF 0K
38;88 2779 M 104006 HLT+6 . :DATA ON STACK (067452) (HANGED
g;gg 013072 000451 451 :THE ERROR NUMBER [S 451
00900 %78 013076 022767 125252 165346 cMP #125252 ,ANS6 :CHECK DATA FROM STACK
01000 7 013102 001402 BEQ .+6 :BRANCH [F Ok
G1100 27 013104 104006 HLT+6 :DATA ON STACK (125252) CHANGED
8} g;az 013106 000452 452 :THE ERROR NUMBER IS 452
01600 2787 013110 122767 000061 165266 END61: CMPB 261, $TESTN :CHECK THE TEST NUMBER
01 2;33 013116 001402 BEQ . +6 :BRANCH IF OK
01 2 01%120 104 HLT :WRONG TEST! PC MUST HAVE FOULED UP,
M 2790 01%122 00045 453 :THE ERROR NUMBER |S 453
01800 2791
01900 2792
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88 CVKACC.PTY 16-AUG-78 08:47 TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY ZERO SEQ 0075
00400 793
00500 794 AR AR AR R AR AR AR RRRANRAERAAA AR RRARAR AR AR R AR AR AR R RS R AR aas
00600 795 ;TEST 62: _FDIV (LSI=11 _FLOATING DIVIDE INSTRUCTION)
00700 796 : 052525,052525 7 100125,125252 ==> DIVIDE BY ZERO
00800 2797 : PS(ON STACK) = 013, STACK POINTER = R5
00900 5798 AR RRAN AR AR AR A AR AR AR RRRR AR AR RRACRERRR AR AR R AR AR AR AR AR AR TR AR aae
01000 799
01100 2800 013124 104400 SCOPE
01;88 2801 013126 004567 0063054 TST62: JSR R PUSHR  ;PUSH 4 WORDS ONTO R5 STACK, SET PRIORITY
01 2802 013132 100125 125252 .WORD  100125,125252  :SECOND OPERAND ON TOP
01400 2803 013136 052525 052525 .WORD  052525,052525  ;FIRST OPERAND ON BOTTOM
01500 2804 013142 000047 .WORD 047 ;PROCESSOR PRIORITY LEVEL
01600 2805 013144 013176 000113 .WORD  ISR62, 113 ;FIS TRAP VECTOR
8};88 5389 013150 012705 000510 MOV #STACKO,R5 :SET UP R5 AS STACK POINTER
01900 2808 013154 000240 NOP
85?88 Sg?g 013156 075035 FDIV R5 ;FLOATING DIVIDE ON THE R5 STACK
02200 2811 013160 004767 003054 RTA6Z: JSR PC, POPR ;POP_THE ''ANSWER''
02300 2812 013164 010567 165244 MOV RS, $SP :SAVE STACK POINTER (R5)
02400 2813 013170 104002 HLT+2 ;F1S TRAP DIDN'T OCCURE!
02500 2814 013172 000454 454 :THE ERROR NUMBER IS 454
83988 gg}g 013174 000464 BR END62
2817 013176 004767 003066 ISR62: JSR PC, POPER  ;POP ALL DATA OFF THE STACKS
2818 013202 010567 16522¢ MOV RS, $SP ;SAVE STACK POINTER (R5)
2819 013206 122747 000113 165216 CMPB #113, $PSW ;CHECK PS AFTER FIS TRAP
2820 013214 001402 BEQ .6 sBRANCH IF OK
2821 013216 104000 ' HLT : :PS AFTER FIS TRAP NOT EQUAL TO 113
Sgg% 013220 000455 455 ; THE ERROR NUMBER IS 455
2824 013222 022767 000510 165204 CMP #STACKO,$SP ;CHECK THE STACK POINTER (RS)
2825 013230 001402 BEQ .6 ;BRANCH IF OK
2826 013232 104000 HLT :STACK POINTER (R5) NOT EQUAL TO #STACKO
gggg 013234 000456 456 : THE ERROR NUMBER S 456
2829 013236 022767 013160 165172 (MP ' HRTA62, ANSI ;CHECK FIS TRAP RETURN ADDRESS
2830 013244 001402 BEC = .+6 ;BRANCH IF OK
2831 013246 104001 HLT+1® ;FIS TRAP AT WRONG ADDRESS
Sg%% 013250 000457 457 ’ :THE ERROR NUMBER S 457
2834 013252 022767 000013 165160 (MP #013,  ANSZ ;CHECK PS BEFORE FIS TRAP
2835 013260 001402 BEQ .46 ;BRANCH IF OK
2836 013262 104002 HLT+2 ;PS AT FIS TRAP TIME NCT 073
sg%g 013264 000460 460 : THE ERROR NUMBER IS 460
2839 013266 022767 100125 165146 CMP #100125 ,ANS3 ;CHECK DATA FROM THF STACK
2840 013274 001402 BEQ .+6 ;BRANCH IF OK
2841 013%76 104004 HLT+4 :DATA ON STACK (100125) CHANGED
sgz% 013300 000461 461 ;THE ERROR NUMBER [S 461
2844 013302 022767 125252 165134 (MP #125252 ,ANS4 ;CHECK DATA FROM STACK
2845 013310 001402 BEQ .*6 ;BRANCH IF OK ,
2846 013312 104006 * HLT+4 :DATA ON STACK (125252) C(HANGED
2847 013314 000462 Le2 :THE ERROR NUMBER [S 467
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P11 16~-AUG-7 TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY ZERO SEQ 0076
0 %?6 022767 052525 165122 cMP #052525 ,ANSS sCHECK DATA FROM STACK
013324 001402 BEQ .+6 ;BRANCH IF OK
013326 104006 HLT+6 ;DATA ON STACK (052525) C(HANGED
0133 000463 463 :THE ERROR NUMBER S 463
013332 022767 052525 165110 (MP - #052525 ,ANS6 sCHECK DATA FROM STACK
013340 001402 BEQ .+6 sBRANCH IF OK
013342 104006 . HLT+6 ;DATA ON STACK (052525) CHANGED
013344 000464 464 :THE ERROR NUMBER IS 464
01336 122767 000062 165030 END6Z: (MPB #62, $TESTN ;CHECK THE TEST NUMBER
01335« 001402 BEQ .*6 sBRANCH [F 0K
013356 104000 HLT JWRONG TEST! PC MUST HAVE FOULED UP.
013%0 000465 465 ;THE ERROR NUMBER IS 465
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21-AUG-78 15:28 PAGE 69
08:41 TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY ZEROC SEQ 0077
ttttttttttttttt.tttilttttttttttttttttﬁtttﬁltttttt'ttttttttt'itttt..tQttt
TEST 63: FDIV (LSI-1 FLOAT]NG DIVIDE INSTRUCTION)
: 100052,052525 7 000006,123456 ==> DIVIDE BY ZERO
PS(ON STACK) = 213, STACK POINTER = SP
;ttttttﬁtQﬁtttttttttttttttttttttttttttt‘tttttttttt.tttttttttttit.t.tttttt
SCOPE
002444 TST63: JSR RS, PUSHS :PUSH 4 WORDS ONTO STACK, SET PRIORITY
123456 .WORD 000006 123456 ;SECOND OPERAND ON TOP
052525 "WORD 100052.052525 :FIRST OPERAND ON BOTTOM
.WORD 357 PROCESSOR PRIORITY LEVEL
000311 .WORD ISR63, 311 :FIS TRAP VECTOR
NOP
FDIV SP :FLOATING DIVIDE ON THE STACK
002456 RTA63: JSR PC, POPS :POP THE 'ANSUER“
HLT+2 FIS TRAP DIDN'T OCCURE!
L66 :THE ERROR NUMBER IS 466
000600 MOV #ELGIN, SP RESTORE THE STACK POINTER
BR FND63
002472 ISR63: JSR PC, POPES :POP ALL DATA OFF THE STACK
000600 CMP #BEGIN, SP ;CHECK THE STACK POINTER
BEQ 1SA63 BRANCH IF OK
000600 MOV #BEGIN, SP :RESTORE THE STACK POINTER
HLT :STACK POINTER FOULED UP
467 :THE ERROR NUMBER 1S 467
BR END63 SKIP REST OF TEST
000311 164750 ISA63: (MPB #3117, $PSW :CHECK PS AFTER F1S TRAP
BEQ .6 BRANCH IF OK
HLT :PS AFTER FIS TRAP NOT EQUAL TO 311
470 :THE ERROR NUMBER IS 470
013412 164740 CMP #RTA63, ANS1 :CHECK FIS TRAP RETURN ADDRESS
BEQ M - BRANCH IF OK
HLT+1 :FIS TRAP AT WRONG ADDRESS
471 :THE ERROR NUMBER IS 471
000213 164726 CMP #213,  ANS2 :CHECK PS BEFORE FIS TRAP
|
BEQ .6 :BRANCH IF 0K
HLT+2 :PS AT FIS TRAP TIME NOT 213
47?2 :THE ERROR NUMBER IS 472
000006 164714 CMP #000006 ,ANS3 :CHECK DATA FROM THE STACK
&’FQ .+6 *BRANCH [F OK
HL T +4 :DATA ON STACK (000006) CHANGED
473 :THE ERROR NUMBER IS 477

M6
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%8% CVKACC.P11 16~AUG-78 08:41 TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY ZERO SEQ 0078
3

00400 2921 .

00500 - gggg 01;531. 022767 123456 164702 CMP #123456 ,ANS4 :CHECK DATA FROM STACK

00600 23 013542 001402 BEQ .46 :BRANCH IF OK

00700 24 013544 104004 HLT+4 <DATA ON STACK (123456) CHANGED

00800 952 013546 000474 474 :THE ERROR NUMBER IS 474

01000 2927 013550 022767 100052 164670 CMP #100052 ,ANSS :CHECK DATA FROMONG TK

01100 2928 013556 001402 BEQ .+6 :BRANCH IF 0K

0 29;3’3 013560 104006 HLT+6 *DATA ON STACK (100052) CHANGED

8}400 22331 013562 000475 475 :THE ERROR NUMBER IS 475

01500 293% 013564 022767 052525 164656 CMP #052525 ,ANS6 :CHECK DATA FROM STACK

01600 2933 013572 1402 BEQ .+6 :BRANCH IF 0K

01700 2934, 013574 104006 HLT+6 :DATA ON STACK (052525) CHANGED

8}% 5352 013576 000476 476 :THE ERROR NUMBER IS 476

02000 2937 013600 122767 000063 64576 END63: (MPB #63, $TESTN :CHECK THE TEST NUMBER

02100 2938 013606 001402 BEQ .46 :BRANCH IF OK

0 igg 2939 013610 10400C HLT “WREST! PC MUST HAVE FOULED UP.

0 2940 013612 000477 477 STHE ERROR NUMBER IS 477

02400 2941 :

02500 2942
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Y11 30A(105
1 TEST OF ALL FIS AT ONCE SEQ 0079

)
6-AUG-78 08

2223223232 22232233823332333233333333 333333320200 RR R RdRRllR iRl iRl

STEST 64: TEST ALL INSTRUCTION_TOGE THER
: 032107,065432 ~ 045670,123456
: 134343,107070 + = 137201,115230
: (135252,125252 - 040616,016161)
: PS=010, STACK POINTER=R&
:titiI!t*ititiiiil'*ﬁ**t*'.*"‘*t*'...l......tt...tlttiIttt'ﬁ"‘..ttitt'
3614 104400 SCOPE
3616 012704 000532 TST64: MOV #STAK10,R4 ;SET STACK POINTER
3622 012744 107070 MOV #107070.~(R4)  :LOAD DATA ONTO STACK
36%6 012744 134343 MOV #134343.~-(R4)
3632 012744 065432 MOV #065432.-(R4)
3636 012744 032107 MoV #032107 ,-(R&4)
2 012744 123456 MOV #123456,-(R4)
6 012744 045670 MOV #045670,-(R4)
3652 012744 125252 MOV #125252,~(R4)
3656 012744 135252 MOV #135252,-(R4)
3662 012744 0161617 MOV #016161.-(R4)
3666 012744 040616 MOV #040616,-(R4)
3672 MTPS  #144 :SET PROCESSOR STATUS
3672 106427 JWORD  106400:..C
3676 000240 NOP
3700 075014 FSUB R4 :135252,125252-040616,016161=140616,017434
3702 075034 FDIV R4 :045670,123456/140616,017434=145246,047065
3704 075024 FMUL R4 :032107,065432%145246,047065=137201,106137
3706 075004 FADD  Ré :134343.107070+137201,106137=137201,115230
3710 MFPS  $PSW :SAVE FINAL PS
3710 106767 .WORD  106700'..C
3714 042767 000020 164510 BIC #20, $PSW  :CLR T-BIT
3722 012467 164510 ° MOV (R4)+, ANS1  :SAVE FIRST HALF OF ANSWER
3726 012467 164506 MOV (R4)+. ANS2  :SAVE SECOND HALF OF ANSWER
3732 010467 164476 MOV R&, $5P :SAVE STACK POINTER
3736 122767 000010 164466 (MPB #0710, $PSW  :CHECK PS (EXCEPT T BIT)
3744 001402 BEQ .46 :BRANCH IF OK
3746 104000 HLT *PS NOT EQUAL TO 010
3750 000500 500 :THE ERROR NUMBER IS 500
3752 022767 000532 164454 CMP #STAK10,$5P :CHECK THE STACK POINTER (R4)
3760 001402 BEQ .+6 :BRANCH IF OK
3762 104000 HLT *STACK POINTER (R4) NOT FQUAL TO THE
3764 000501 501 :THE ERROR NUMBER IS 501
:ADDRESS OF STAK10
3766 022767 137201 164442 CMP #137201,ANST  ;CHECK FIRST HALF OF ANSWER
3774 001402 BEQ .+6 :BRANCH IF OK
3776 104002 HL T+2 *ANST NOT EQUAL TO 137201
4000 000502 502 “THE ERROR NUMBER IS 502
4002 022767 115230 164430 (MP #115230,ANS2  :;CHECK SECOND HALF OF ANSWER
4010 001402 BEQ .+6 :BRANCH IF OK
401¢ 104002 HLT+2 *ANS2 NOT EQUAL TO 115230
4014 000503 503 :THE ERROR NUMBER [S 503
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1 TEST OF ALL FIS AT ONCE

16-AUG-78 08:4

2767 000064
1402

164360 END64 :

7

CMPB no4,
BEQ .+6
HLT !

504

$TESTN

SEQ 0080

:CHECK THE TEST NUMBER
*BRANCH IF OK

*WRONG TEST! PC MUST HAVE FOULED UP.
:THE ERROR NUMBER S 504
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P11 16=-AUG-78 08:41 ADDRESS ERROR TEST SEQ 0081

;tttttttttttttttttttttttttiItttttttltttltttttttttttttttttttt.tlttt't'tttt
-TEST 65: "TEST THAT STACK POINTER ADDRESS ERROR CAUSES ABORT
: INSTRUCTION = FADD, STACK POINTER = R2
;tttttttttttttttttttttttttttttt*ttﬁﬁtttitttitttttttttitt.tttit.tﬁ.tttQtt'

014032 104400 SCOPE

014034 012737 014124 000004 TST65: MOV #ISRES, a4 :SET UP ADDRESS TRAP VECTOR

014042 012737 000340 000006 MOV #340,  awb

014050 004567 002132 JSR RS PUSHR  :PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY

014054 070707 016161 _WORD 070707.016161  :SECOND OPERAND ON TOP

014060 146314 14343% .WORD  146314,143434  ;FIRST OPERAND ON BOTTOM

014064 000143 .WORD 143 *PROCESSOR PRIORITY LEVEL

014066 016456 000340 .WORD TRAPER, 340 :FIS TRAP VECTOR

014072 MTPS #143 :SET PROCESSOR STATUS

014072 106427 .WORD 106400!'..C

014076 012702 177777 MOV #177777 ,R2 :SET UP R2 AS STACK POINTER

014102 000240 NOP

014104 075002 FADD R2 :FLOATING ADD ON THE R2 STACK

014106 004767 002126 RTA65: JSR PC, — POPR :POP THE '‘ANSWER''

014112 010267 164316 MOV R2, $SP :SAVE STACK POINTER (R2)

014116 104002 HLT+2 :FIS TRAP DIDN'T OCCURE!

014120 000505 505 :THE ERROR NUMBER IS 505

014122 000464 BR END65

014124 004767 002140 ISR65: JSR PC, POPER  :POP ALL DATA OFF THE STACKS

014130 C€10267 1¢°300 MOV R2, $SP :SAVE STACK POINTER (R2)

014134 122767 0Quu340 164270 CMeR #340, $PSW :CHECK PS AFTER ADR. ERR. TRAP

014142 001402 BEQ .+6 :BRANCH IF OK

014144 104000 HLT :PS AFTER TRAP NOT EQUAL TO 340

014146 000506 506 :THE ERROR NUMBER IS 506

014150 022767 177777 164256 CMP #177777,%SP :CHECK THE STACK POINTER (R2)

014156 001402 BEQ .+6 :BRANCH IF OK _

014160 104000 HLT *STACK POINTER (R2) NOT EQUAL TO #177777

014162 000507 507 :THE ERROR NUMBER IS 507

014164 022767 014106 164244 CMP #RTAGS5, ANS1 :CHECK FIS TRAP RETURN ADDRESS

014172 001402 BEQ . +6 ;BRANCH IF OK

014174 104001 HLT#+1 :FIS TRAP AT WRONG ADDRESS

014176 000510 510 :THE ERROR NUMBER IS 510

014200 022767 000151 164232 CMP #151,  ANS?2 :CHECK PS BEFORE FIS TRAP

014206 001402 BEQ .46 :BRANCH [F Ok

014210 104002 L+ HLT#2 :PS AT FIS TRAP TIMF NOT 151

014212 000511 v 511 :THE ERROR NUMBER [S 511

014214 022767 070707 164220 CMP #070707 ,ANS3 -(HECK DATA FROM THE STACK

014222 001402 BEQ .+6 :BRANCH IF OK

014224 104004 HL T +4 :DATA ON STACK (070707) (HANGED

014226 000512 . 812 :THE ERROR NUMBER [S 512

014230 022767 G16161 164206 CMP #016167 ,ANS4 :CHECK DATA FROM STACK

01423 001402 BEQ .6 :BRANCH IF OK
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15:28 PAGE 74
ADDRESS ERROR TEST

21-AUG-78

7

HLT+4
513

(MP
BEQ
HLT+6
514

CMP
BEQ
HLT+6
515
CMPB
BEQ
HLT
516

#146314 ,ANSS

n ast. 34, ANS6
- +

SEQ 0087

;DATA ON STACK (016161) C(HANGED
:THE ERROR NUMBER IS 513

s CHECK DATA FR(H STACK

:BRANCH IF

;DATA ON STACK (146314) (HANGED
;THE ERROR NUMBER IS 514

;CHECK DATA FROM STACK

:BRANCH IF OK

;DATA ON STACK (143434) CHANGED
:THE ERROR NUMBER IS 515

;CHECK THE TEST NUMBER

:BRANCH IF OK

;WRONG TEST! PC MUST HAVE FOULED UP.
;THE ERROR NUMBER IS 516
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78 08:41 ADDRESS ERROR TEST

SEQ 0083

T 222222222223 23222222%23232332333333333 333333200 Rttt bl l)

TEST THAT STACK POINTER ADDRESS ERROR CAUSES ABORT

“TEST 66:

INSTRUCTION = FMUL,

STACK POINTER = RS

;IIItQQt'tQttt*itiiﬁtt'tttitﬁ***IQ'tt..t...t.Q.tﬁ.‘.ii..t"tttt"ﬁ"l'Q..

014310 104400 SCOPE
014312 012737 014402 000004 TST66: MOV
014320 012737 0003%0 000006 MOV
014326 004567 001654 JSR
014332 065432 123456 .WORD
01433 037654 032107 .WORD
014342 000202 .WORD
014344 016456 000340 .WORD
014350 MTPS
014350 106427 .WORD
014354 012705 160000 MOV
014360 000240 NOP
014362 075025 FMUL
014364 RTA66: MFPS
014364 106767 .WORD
014370 010567 164040 MoV
014374 104000 HLT
014376 000517 517
014400 000434 BR
014402 004767 001662 ISR66: JSR
014406 010567 164022 MOV
014412 122767 000340 164012 CMPR
014420 001402 BEQ
014422 104000 HLT
014424 000520 €20
014426 022767 160000 144000 CMP
014434 001402 BEQ
014436 104000 HLT
014440 000521 521
014442 022767 014364 163766 CMP
014450 001402 BEG
014452 104001 HLT+1
014454 000522 522
014456 022767 000210 163754 CMP
014464 001402 BEQ
014466 104002 HLT+2
014470 000523 53
014472 122767 Q00066 163704 END&G:  (MPB
014500 001402 BEQ
014502 104000 LT

014504 000524 524

#ISR66, a#s
#340,  aH6
RS PUSHR
065432,123456
035654.032107

20
TRAPER, 340
#202

106400!..C
#160000,R5
RS

$PSW
106700!..C
RS, $SP
END66

L. POPER
RS, $SP
#3,0, $PSW
.+6

#160000,%$5P
.+6

PRTAGE, ANST
oM

0220, ANS?

ROG, $TESTN
.0

;SET UP ADDRESS TRAP VECTOR

;PUSH 4 WORDS ONTO R5 STACK, SET PRIORITY
;SECOND OPERAND ON TOP

;FIRST OPERAND ON BOTTOM

;PROCESSOR PRIORITY LEVEL

;FIS TRAP VECTOR

;SET PROCESSOR STATUS

;SET UP RS AS STACK POINTER

;FLOATING MULTIPLY ON THE RS STA(K
;SAVE THE PSW

;SAVE STACK POINTER (R5)
;F1S TRAP DIDN'T OCCURE !
;THE ERROR NUMBER IS 517

;POP ALL DATA OFF THE STACKS
;SAVE STACK POINTER (RS)

;CHECK PS AFTER ADR. ERR. TRAP
;BRANCH IF OK

;PS AFTER TRAP NOT EQUAL TO 340
:THE ERROR NUMBER IS 520

;CHECK THE STACK POINTER (R5)

;BRANCH IF OK

;STACK POINTER (RS) NOT EQUAL TO #160000
:THE ERROR NUMBER IS 521

;CHECK FIS TRAP RETURN ADDRESS
;BRANCH IF OK

;FIS TRAP AT WRONG ADDRESS
:THE ERROR NUMBER IS 5¢72

:CHECK PS BEFORE FIS TRAP
:BRANCH IF OK

:PS AT FIS TRAP TIME NQT 210
:THE ERROR NUMBER [S 523

;CHECK THE TEST NUMBER
*BRANCH IF OK

"WRONG TEST! PC MUST MAVE FOULED UP,
“THE ERROR NUMBER 1S 524
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P 16-AUG~78 08: ADDRESS ERROR TEST SEQ 0084
014506 012737 000006 000004 52200 MOV "6, s :RESTORE TIME-OUT VECTOR
014514 005037 000006 52300 CLR BV 1)
014520 7212767 000003 164010 52700 MOV #3, TIMES  ;REDUCE NUMBER OF ]TTERATIONS
:tttttttttttttttttttttt'lttﬁttttlttitttitlilttt.tltt!Qt'.tt!iittttttttit
TEST 67: TEST THAT FIS ABORTS PROPERLY WHEN INTERUPTED
: 035700,143235 + 000177,134543 = 035700,143235
; PS = .PS, STACK POINTER = R1
:tttttttQttttttttttttttttttttttittttﬁtttﬁ'tﬁttltt!tllttttl'titttttt'tQtt
014526 104400 SCOPE .
014530 132737 000040 000427 T1ST67: BITB #40,4SENVM
0145% 001177 BNE END67+2 sEXIT THIS TEST IF BIT 5 OF $ENVM [S HIGH
014540 013704 00054¢ MOV a#TTYOUT RS
014544 012726 Q714646 MOV #ISR67, (R4)+ :SET UP TELEPRINTER INTERUPT VECTOR
014550 012714 000340 MOV #340, (R4)
014554 032737 004000 (000422 BIT #SW11,a#8SWREG ;TEST FOR ITERATIONS
014562 001005 BNE 1% :BRANCH TO AVOID HANG UP
014564 000004 Q00473 TYPE, RETURN+1 :RETURN+1 CAN BE REPLACED WITH THE ADDRESS O
:TO TYPE CARRIAGE RETURN, LINE FEED
014570 012767 014576 163672 MOV #.+6, LADS :RESET LOOP ADDRESS
014576 004567 001404 1%: JSR RS PUSHR :PUSH 4 WORDS ONTO R1 STACK, SET PRIORITY
014602 000177 134543 .WORD 006177.134543 ;SECOND OPERAND ON TOP
014606 035700 143235 .WORD 035700,143235 ;FIRST OPERAND ON BOTTOM
014612 000143 .WORD 143 :PROCESSOR PRIORITY LEVEL
014614 016456 000340 .WORD TRAPER, 340 ;FIS TRAP VFCTOR
014620 012701 000510 MOV #STACKO ,R1 :SET UP STACK POINTER
014624 012767 000060 163702 MOV #60, TEMP sINITIALIZE COUNTER FOR FIS INTERRUPTS
014632 112777 000100 163710 MOVB #100, Q@$TPS  :SET TTY INTERUPT ENABLE
014640 075001 RTA67: FADD R1 :FLOATING ADD ON THE STACK
014642 024141 cMP -(R1), =(R1) :RESET THE STACK POINTER FOR NEXT PASS
014644 000775 BR RTAG7 :REPEAT UNTIL INTERUPTED
014646 105077 163676 ISR67:  (LRB a$TPS :CLEAR THE INTERUPT ENABLE
014652 022716 014640 CMP #RTAG7, (SP) sCHECK IF INTERUPT AT FIS INSTR.
014656 001424 BEQ 3% ;BRANCH IF IT DID
014660 022766 014640 000004 CMP #RTA67, 4(SP)  ;CHECK FOR INTERUPT WITH T-BIT SET
014666 001423 BEQ A 3 :BRANCH IF IT DID
014670 005337 000534 DEC aA#TEMP :DID INTERRUPTS OCCUR TEMP # OF TIMES
014674 001517 BEQ END67 :IF YES THEN SKIP TO END OF THIS TEST
014676 112777 000015 163646 1%: MOVB #15, a$7PB  :CONTINUE TO TYPE '‘CR"’
014704 105777 163640 2%: TSTB a$TPS :LOOP HERE UNTILL DONE BIT COMES ON
014710 100375 BPL 2%
014712 112777 000015 163632 MOVB #15, a$TPB  ;TYPE ANOTHER '‘CR"’
014720 012777 000100 163622 MOV #1060, Qa@%TPS  :;SET TTY [NTERUPT ENABLE
014726 000002 RTI
014730 004767 001334 8. JSR FC, POPER  :SAVE ALL THE STUFF ON THE STA(K
014734 000403 BR 5%
014736 022626 4%: CMP (SP)+, (SP)+  :;RESET THE STACK TO IGNORE THE TRACE TRAP
01647640 004767 001330 JSR PC, POPER1 :POP ALL THE STUFF OFF THE STACK
014744 005746 5%: TST -(SP) :SAVE PSW FOR FUTURE RT]
014746 012746 014640 MCV #RTAE7 ,=(SP} :PLACE THE RT] ADDRESS BA(K [N SP
014752 022706 Q00574 CMP #REGIN=4 ,SP S(HECK THE STACK POINTER
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CVKACC P11 16=-AUG=78 08:41 INTERUPT ABORT TEST SE(CTI SEQ 0085
3187 014756 001407 BEQ 6% :BRANCH IF 0K
2188 014760 010667 163450 MOV SP, $SP :SAVE FOR TYPING
3189 0147 012706 000574 MOV #BEGIN-4,SP RESTORE THE STACK POINTER
2190 014770 104000 HLT ' :STACK POINTER FOULED UP
§191 014772 000525 525 :THE ERROR NUMBER IS 525
S}gg 014774 000457 8R END67 :SKIP REST OF TEST
2194 014776 010167 163432 6%: MOV R1, $SP :SAVE STACK POINTER
2195 015002 122767 000344 163422 CMPB #3445,  $PSW :CHECK PS AFTER INTERUPT
3196 015010 001402 BEQ .+6 :BRANCH IF OK
2197 015012 104000 HLT :PS AFTER INTERUPT NOT EQUAL TO LVLA
;}gg 015014 000526 526 :THE ERROR NUMBER IS 526
3200 015016 022767 000510 1163410 CMP #STACKO,$SP :CHECK THE STACK POINTER (R1)
3201 015024 001402 BEC .+6 :BRANCH IF OK
3202 015026 104000 HLT :STACK POINTER (R1) NOT EQUAL TO #STA(KO
2582 015030 000527 527 :THE ERROR NUMBER IS 527
3205 015032 022767 (14640 163376 CMP #RTAG67, ANS1 :CHECK FIS TRAP RETURN ADDRESS
3206 015040 001402 BEQ .*6 :BRANCH IF OK
3207 015042 104001 HLT+1 :FIS TRAP AT WRONG ADDRESS
gggg 015044 000530 - 530 :THE ERROR NUMBER IS 530
3210
3211 015046 022767 000177 163366 CMP #000177 ,ANS3 :CHECK DATA FROM THE STACK
3212 015054 001402 BEQ .+6 :BRANCH IF OK
3213 015056 = 104004 KLT+4 :DATA ON STACK (000177) CHANGED
%g}g 015060 000531 £51 :THE ERROR NUMBER IS 531
3216 015062 022767 134543 163354 {Me #134543 ,ANSS :CHECK DATA FROM STACK
3217 015070 001402 BEQ .6 :BRANCH IF OK
3218 015072 104004 HLT +4 :DATA ON STACK (134543) CHANGED
gsgg 015074 000532 ) 532 :THE ERROR NUMBER IS 532
3221 015076 022767 035700 163347 (MP #035700,ANSS :CHECK DATA FROM STACK .
3222 015104 001402 BEQ .+6 :BRANCH IF OK
3223 015106 104006 HLT+6 :DATA ON STACK (035700) CHANGED
%ggg 015110 000533 533 :THE ERROR NUMBER IS 533
2226 015112 022767 143235 163330 CMP #143235,ANS6 ;CHECK DATA FROM STACK
3227 015120 001402 BEQ .*6 :BRANCH [F 0K
3228 015122 104006 HLT+6 :DATA ON STACK (143235) C(HANGED
%5%8 015124 000534 534 : THE ERROR NUMBER S 534
3231 015126 005367 163402 DEC TEMP :STAY IN THE LOOP FOR 3C TIMES
;ggg 015132 001261 BNE 1%
323, 015134 022626 ENDET: (MP (SP)+, (SP)+  :RESTORE STACK POINTER TO 500
3235 015136 122767 000067 163247 CMPB 867, $TESTN ;CHECK THE TEST NUMBER
323% 015144 001402 BE ) JBRANCH [F Ok
3237 015146 104000 HLT :WRONG TEST! PC MUST HAVE FOULED uP,
3238 015150 000535 525 :THE FRROR NUMBER [S 535
3239 Q15152 MTPS #2340
g?ag 015152 106427 JWORD 104400, ..
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P11 16~-AUG~78 0B:41 INTERUPT ABORT TEST SECTION SEQ 0086

222222222222 223223223223 2333333330332 Rt Rl Al

“TEST 70: TEST THAT FIS ABORTS PROPERLY WHEN INTERUPTED
; 107070,070707 = 040200,000000 = 107070,070707
: PS = .PS, STACK POINTER = RO
;ttttttt!t"tttt.itittitttttttt"ttttttttlQttt"ttlt'tt‘t.t'tQQ.'Qtt.'.n
015156 104400 SCOPE
015160 132737 060040 000421 1ST70: BITB 440, a4SENVM
015166 001176 BNE END70+2 :EXIT THIS TEST IF BIT S OF SENVM IS HIGH
015170 013704 000546 MOV a#TTYOUT R4
015174 0127264 015276 MOV #1SR70. (R4)+ :SET UP TELEPRINTER INTERUPT VECTOR
015200 012714 000340 MOV #340, ~ (R&4)
015206 032737 004000 000422 BIT #SW11,a#8SWREG :TEST FOR ITERATIONS
015212 001005 BNE 1% *BRANCH TO AVOID HANG UP
015214 000004 000473 TYPE, RETURN+I “RETURN+1 CAN BE REPLACED WITH THE ADDRESS O
“TO TYPE CARRIAGE RETURN, LINE FEED
015220 012767 015226 163242 MOV #.+6, LADS  -RESET LOOP ADDRESS
015226 004567 000754 1¢: JSR RS PUSHR  -PUSH 4 WORDS ONTO RO STACK, SET PRIORITY
015232 040200 000000 .WORD  040200,000000 :SECOND OPERAND ON TOP
015236 107070 070707 "WORD  107070.070707 :FIRST OPERAND ON BOTTOM
015242 000100 .WORD 100 "PROCESSOR PRIORITY LEVEL
015244 016456 000340 "WORD TRAPER, 340 *FIS TRAP VECTOR
015250 012700 000510 MOV #STACKO,RO “SET UP STACK POINTER
015254 012767 000060 163252 MOV #60, TEMP “INITIALIZE COUNTER FOR FIS INTERRUPTS
015262 112777 000100 163260 MOVB  #100, @a@$'PS  :SET TTY INTERUPT ENABLE
015270 075020 RTA70: FMUL RO :FLOATING MULTIPLY ON THE STACK
015272 024040 CMP -(R0), -(R0O)  :-RESET THE STACK POINTER FOR NEXT PASS
015274 000775 BR RTA70 *REPEAT UNTIL INTERUPTED
015276 105077 163246 ISR70: CLRB  a$TPS :CLEAR THE INTERUPT ENABLE
015302 022716 015270 cMP ARTA70, (SP) “CHECK IF INTERUPT AT FIS INSTR.
015306 001424 BEQ 3% *BRANCH IF IT DID
015310 022766 015270 000004 CMP BRTA70. 4(SP)  :CHECK FOR INTERUPT WITH T-BIT SET
015316 001423 BEQ 4% ‘BRANCH IF IT DID
015320 005337 000534 DEC ATEMP “DID INTERRUPTS OCCUR TEMP # OF TIMES
015324 001516 BEQ END70 “IF YES THEN SKIP TO END OF THIS TEST
015326 112777 000015 163216 1%: MOVB 415, a$TPB  :CONTINUE TO TYPE ''CR"
015334 105777 163210 2%: TSTB  a$TPsS *LOOP HERE UNTILL DONE BIT COMES ON
015340 100375 BPL 2% .
015342 112777 000015 163202 MOVB  #15,  a$TPR  ;TYPE ANOTHER '‘(R'’
015350 012777 000100 163172 MCV #100, @$TPS  :SET TTY INTERUPT ENABLE
015356 000002 RT]
015360 004767 000704 2§ JSR PC, POPER  :SAVE ALL THE STUFF ON THE STACK
015364 000403 BR 5%
015366 022626 4. CMP (SP)+, (SP)+  :RESET THE STACK TO IGNORE THE TRACE TRAP
015370 004767 000700 JSR T POPER1 :POP ALL THE STUFF OFF THE STACK
015374 005746 5 : ST -(5P) “SAVE PSw FOR FUTURE RTI
015376 012746 01527C MOV BRTA70,-(SP) "PLACE THE RTI ADDRESS BACK [N SP
015402 022706 000574 CMP #REGIN=4,SP “CHECK THE STACK POINTER
015406 001407 BEQ 6% *BRANCH IF OK
015410 010667 163020 MOV SP, $SP “SAVE FOR TYPING
015414 012706 000574 MOV #REGIN=4, SP "RESTORE THE STACK POINTER
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88;88 CVKACC P11 16-AUG-78 08:41 INTERUPT ABORT TEST SECTION SEQ 0087
00400 §298 015420 104000 HLT sSTACK POINTER FOULED

00500 538 015422 000536 536 :THE ERROR NUMBER IS S

88988 §301 015424 200456 BR END70 :SKIP REST OF TEST
00800 2302 015426 010067 163002 6%: MOV RO, $SP :SAVE STACK POINTER
00900 303 015432 122767 000346 162772 CMPB #3L4, SPSW :CHECK PS AFTER INTERUPIT
01000 3304 015440 001402 BEQ .+6 :BRANCH IF OK
01100 3305 015442 104000 HLT :PS AFTER INTERUPT NOT EQUAL TO LVLA
8} 00 33389 015444 000537 537 :THE ERROR NUMBER IS 537
01400 2308 015446 022767 000510 162760 CMP #STACKO,$SP :CHECK THE STACK POINTER (RO)
01500 3309 015454 001402 BEQ .+6 JBRANCH IF 0K
01 3310 015456 104000 HLY :STACK POINTER (RO) NOT EQUAL TC #STACKD
8}888 gg‘}} 015460 000540 540 :THE ERROR NUMBER IS 540
01900 2313 015462 022767 015270 162746 CMP #RTA70, ANSI :CHECK FIS TRAP RETURN ADDRESS
02000 3314 (15470 001402 BEQ . +6 :BRANCH IF OK
02100 23315 015472 104001 HLT+1 :FIS TRAP AT WRONG ADDRESS
02200 3316 015474 000541 541 :THE ERROR NUMBER IS 541
02300 3317 ,
02400 3218
02500 3319 015476 022767 040200 16273 CMP #040200,ANS3 :CHECK DATA FROM THE STACK
02600 3320 015504 001402 BEQ .*6 :BRANCH IF Ok
02700 3321 015506 104004 HLT+4 ;:DATA ON STACK (040200) CHANGED
82800 %gg% 015510 000542 542 :THE ERROR NUMBER IS 542
Ogggg 3324 015512 005767 16272¢ TSy ANS& :CHECK DATA FROM STACK
03100 3325 (015516 001402 BEQ . +6 :BRANCH IF 0K
0 3326 015520 104004 HLT+4 :DATA ON STACK (000000) CHANGED
8;400 g%g; 015522 000543 543 :THE ERROR NUMBER [S 543
03500 §3§8 015524 022767 107070 162714 CMP #107070,ANSS :CHECK DATA FROM STACK

3600 3 015532 001402 BEQ .*6 :BRANCH IF Ok
03700 3331 015534 104006 HLT+6 :DATA ON STACK (107070) (HANGED
o§$88 gg%% 015536 000544 4 544 :THE ERROR NUMBER IS 544
04000 333, 015540 022767 070707 162702 cMpP #070707 ,ANS6 :CHECK DATA FROM STA(CK
04100 3335 015546 001402 " BEQ . *6 JBRANCH IF OK
04200 333 015550 104006 HLT+*6 :DATA ON STACK (070707) CHANGED
&‘00 gggg 015552 000545 545 :THE ERROR NUMBER IS 545
04500 33390 (015554 005367 162754 DEC TEMP :STAY IN THE LOOP FOR 30 TIMES
82988 %gz? 015560 001262 BNE %
04800 334% 015562 022626 END7C: (MP (SP)+, (SP)+  :RESTORE STACK POINTER TO 500
04900 334 015564 122767 000070 16261¢ CMPB #70C, $TESTN ;(HECK THE TEST NUMBER
05000 334 015572 001402 BEQ .6 :BRANCH [F Ok
05100 3345 (015574 104000 HLT SWRONG TEST! PC MUST HAVE FOULED UP.
05200 3346 015576 000546 546 :THE ERROR NUMBER [S 546
05300 3347 015600 MTPS 2340
05400 33UR 015600 106427 JWORD 106400 ..
08550 TG
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(C.PI 16=-AUG~78 08:41 INTERUPT ABORT TEST SECTION SEQ 0088
350 015604 012767 000377 162724 53000 MOV #377, TIMES  ;SET NUMBER OF [TERATIONS 1O 377
351 015612 010477 162730 53100 MOV R4, ATTYOUT :RESTORE TTY INTERUPT VE(LTOR
225 015616 205014 2;%88 (LR (R&)
) v
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P11 16-AUG~78 08:41 INTERUPT ABORT TEST SECTION SEQ 0089

.‘l‘tiﬁt""..‘..ﬁ.ﬁi.‘iii'tllt'iittiit.tt!Q.‘ttt‘l..'.lt'.i'.!ili

.SBTTL END OF PASS ROUTINE

;*INCREMENT THE PASS NUMBER ($PASS)
;=TYPE "END PASS''

:«]F THERES A MONITOR GO TO IT

:«]F THERE ISN'T JUMP TO BEGIN

s«]F IT IS DESIRED TO HAVE A BELL INDICATE THE "END OF PASS'' LOCATION

:*$ENDMG CAN BE CHANGED TO 7.
015620 $EOP:
015620 104400 SCOPE
015622 005267 162560 INC $PASS : : INCREMENT THE PASS NUMBER
015626 042767 100000 162552 BIC #100000,$PASS  ::DON'T ALLOW A NEG. NUMBER
015634 005327 DEC (PC)+ ::LOOP?
015636 000001 $EOPCT: .WORD 1
015640 003015 BGT $DOAGN ::YES
015642 012737 MOV (PC)+,a(PC) + :RESTORE COUNTER
015644 000001 $ENDCT: .WORD 1
015646 015636 $EOPCT .
015650 000004 015700 TYPE , SENDMG ::TYPE "END PASS''
015654 $GET4L2:
015654 013700 000042 MOV a#s2 RO ::GET MONITOR ADDRESS
015660 001405 BEQ $DOAGN - :BRANCH IF NO MONITOR
015662 000005 RESET ::CLEAR THE WORLD
015664 004710 $ENDAD: JSR PC, (RO) ::GO TO MONITOR
015666 000240 NOP ::SAVE ROOM
015670 000240 NOP ::FOR
015672 000240 NOP ::ACT11
015674 $DOAGN :
015674 000137 000600 JMP aMBEGIN : :RETURN
015700 005015 G47105 020104 $ENDMG: .ASCII <15><12>/END PASS/
015706 040520 051523
015712 377 377 000 $ENULL: .BYTE =1,-1,0 ::NULL CHARACTER STRING

015716 .EVEN
53600

015644 000001 54100 ENDCT: 1
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78 0B:41

CVKACC.P11  16=AUG- END OF PASS ROUTINE SEQ 0090
3393 “I.."...".‘i..itt.".‘.ﬁt...ﬁ‘QQ‘Q.I’“.“t.t'....'I..tﬁ...lit.'
3394 .

339 . .SBTTL SCOPE ROUTINE

3397 015716 032737 000400 000422 SCOPES: BIT  ASWOB,a#$SWREG :KILL LDUB OR LOOP ON SPEC. TEST
3308 (015724 001404 BEQ 1% :
3309 (015706 123767 000422 162450 C(MPB  @ASSWREG,STESTN ;ON RIGHT TEST?  »Sw7=0s
3400 015734 001431 BEQ OVERS

201 015736 032737 040000 000422 1$: BIT  #SW14,a#$SWREG ;LOOP ON TEST

%02 015746 001023 BNE  KITS

3,03 015746 032737 004000 000422 BIT  #SW11,@#$SWREG :KILL ITERATIONS

3404 015754 001412 BEQ  SVLADS

34,05 015756 105767 162521 TSTB  SICNT

3406 015762 001404 BEQ 28 :BRANCH IF FIRST

3,07 015764 126767 162546 162511 CMPB  TIMES,S$ICNT : DONE ?

3408 015772 001010 BNE  KITS :BRANCH IF NOT

3,09 015774 112767 000001 162501 2%: MOVB  A1,SICNT *FIRST ITERATION

3410 016002 105267 162376 SVLADS: INCB  STESTN *COUNT TEST NUMBERS
3411 016006 011667 162456 MOV (6),LADS = ,:SAVE LOOP ADDRESS
3215 016012 000002 - RTI ;RETURN

34,14 016014 105267 162463 KIT$: INCB  SICNT

3415 016020 005767 162444 OVERS: TST  LADS :FIRST ONE?

3416 016024 001766 BEQ  SVLADS

3,17 016026 016716 162436 . MOV  LADS,(6) :FUDGE RETURN ADDRESS
3418 016032 000002 RT1 :FIXES PS
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00100
88 CVKACC.P11 16-AUG-78 08: PUSH AND POP SUBROUTINES SEQ 009"
00400 3420 55000
00500 3421 55100 :SUBROUTINE TO PUSH 4 WORDS ONTO THE STACK
00600 342§ 55200 - ;
00700 323 016034 005726 55300 PUSHS: TST (SP) + ;POP STACK BY 1
88388 324 016036 062705 000010 55400 ADD #10 RS ;POINT TO END OF DATA
3405 016042 014546 55500 MOV -(R5), =-(SP)  :PUSH DATA ONTO THE STACK
01000 3426 016044 014546 55600 MOV -(RS), =(SP) ;PUSH DATA ONTO THE STACK
01100 3427 016046 014546 , 55700 MOV -(R5), =(SP)  :PUSH DATA ONTO THE STACK
01 3428 016050 014546 55800 MOV -(RS), =(SP) :PUSH DATA ONTO THE STACK
0] 3429 016052 062705 000010 55900 ADD #10, R5 :POINT TO END OF DATA
01400 3430 016056 56300 MTPS (R5)+ :SET THE PROCESSOR STATUS
01500 3631 016056 106425 .WORD 106400!..C
01988 3432 016060 005205 56700 INC RS
01 34,33 016062 012577 162376 56800 MOV (RS)+, QFISVEC ;SET UP FIS ERROR TRAP VECTOR
01800 3434 016066 012577 162374 56900 MOV (RS)+, QFISLVL ;TRAP STATUS
01900 3435 016072 000115 57000 JMP (RS) :RETURN
02000 3436 57100
02100 3437 57200 ]
05%88 3438 57300 ;SUBROUTINE TO FPOP 2 WORDS OFF THE STACK
0] 3439 57400 :ALSO SAVES THE PROCESSOR STATUS WORD (EXCEPT T BIT)
02400 3440 57500
05500 3441 016074 57900 POPS: MFPS $PSW :SAVE PROCESSOR STATUS WORD
02600 3442 016074 106767 .WORD 106700!'..C '
02700 3443 016100 042767 000020 162324 58300 BIC #20, $PSW ;CLEAR T-BIT
N2800 3444 016106 012604 ; 58400 MoV (SP)+, R4 :SAVE RTS ADDRESS
0 3445 016110 012667 162322 58500 MOV  (SP)+, ANSI] :SAVE THE ANSWER
0 346 016114 012667 162320 58600 MOV (SP)+, ANS?2 :
031 3447 016120 010667 162310 58700 MOV SP, $SP :SAVE THE STACK POINTER
03;88 3448 016124 000114 58800 JMP (R4) :RETURN
03 3449 58900
03400 3450 59000
03500 3451 59100 ;SUBROUTNE TO POP 6 WORDS OFF THE STACK.
03900 345 59200 :THE FIRST TWO WERE PUT ON BY THE ERROR TRAP, p
03700 345 §9300 ;THF LAST FOUR WERE THE ORIGINAL INPUT DATA.
03388 3454 59400 :ALSO SAVES THE PS AND STACK POINTER.
03 3455 5950C )
04000 456 016126 59900 POPES: MFPS $PSW :SAVE PROCESSOR STATUS WORD
04100 57 016126 106767 | .WORD 106700!..C B
04§88 3458 016132 012604 60300 MOV (SP)+, R4 :SAVE RTS ADDRESS
04 3459 016134 012667 162276 60400 MOV (SP)+, ANSI :SAVE RT] ADDRESS
04400 3460 016140 011667 . 162274 60500 MOV (SP), ANS?2 :SAVE RT1 STATUS .
045 361 016144 042767 000020 162266 60600 BIC #20, ANS?2 :CLEAR THE T-BIT '
04 3462 016152 012746 016160 60700 MOV #s, -(SP)
82 34635 016156 0O 2 0800 RTI :RESTORE THE PROCESSOR STATUS
800 3464 016160 012667 162256 0900 1%: MOV (SP)+, ANS3 ,:;SAVE DATA
04900 3465 016164 012667 162254 €1000 MOV (SF)+, ANS4 :
05 3469 016170 012667 162252 61100 MOV (SP)+, ANS5 :
051 3467 016174 012667 162250 61200 MOV (SP)+, ANS6 :
05 ;268 016200 010667 162230 61300 MOV SP, $SP :SAVE SP
82‘ 93 016204 000114 2}?88 JMP (R4) :RTS
8§;§§ 3‘;1 23988 :SUBROUTINE TC PUSH 4 WORDS ONTO THE STACK
05 3473 Q16206 012704 Q00510 61800 PUSHR: MOV #STACKO R4 :SET R4 TO STA(K
05 3474 0162'2 012524 61900 . MOV (RS)+, (R&)+ ;PUT DATA ON STACK
08 75 Me21é 012526 £2000 MOV (RS)+, (R&)+ .
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78 08:41 PUSH

CVKACC.P11 16~AUC~-78 0 AND POP SUBROUTINES SEQ 0092
gzr 016216 012524 62100 MOV (RS)+, (R&)+ ;
77 016220 012524 62200 MOV (RS)+, (R4)+ ;
78 016222 62670 MTPS (R5) + :SET THE PROCESSOR STATUS
79 016222 106425 WORD 106400!..C
B0 016226 005205 63000 INC RS
281 016226 012577 162232 63100 MOV (RS)+, @FISVEC :SET UP FIS ERROR TRAP VECTOR
2482 016232 012577 162230 63200 MOV (RS)+, QFISLVL ;TRAP STATUS
3483 01623 000205 63300 RTS RS ;RETURN
3484 63400
3485 63500
3486 63600 :SUBROUTINE TO POP 2 WORDS OFF THE STACK
gzgg ggggg :ALSO SAVES THE PROCESSOR STATUS WORD (EXCEPT T BIT)
3489 016240 64200 POPR:  MFPS $PSW :SAVE PROCESSOR STATUS WORD
3490 016240 106767 JWORD 106700!'..C
3491 016244 042767 000020 162160 64600 BIC #20, $PSW :CLEAR T-BIT
349% 016252 016767 162236 162156 64700 MOV STACK4, ANST :SAVE THE ANSWER
3493 016260 016767 162232 162152 64800 MOV STACK6, ANSZ2 3
3494 016266 000207 64900 RTS PC
3495 65000
3496 65100
3497 65200 :SUBROUTNE TO POP & WORDS CFF THE STACKS.
3498 65300 :THE TWO OFF THE Ré STACK WERE PUT ON BY THE ERROR TRAP,
3499 65400 :THE FOUR OFF THE SOF TWARE STACK WERE THE ORIGINAL INPUT DATA.
%gg? 22288 :ALSO SAVES THE PS AND STACK POINTER AFTER THtc FIS TRAP.
350% 016270 66000 POPER: MFPS $PSW :SAVE PROCESSOR STATUS WORD
3503 016270 106767 .WORD 106700!'..C
3504 016274 012667 000056 66400 POPER1: MOV (SP)+, SAVRTS :SAVE RTS ADDRESS
3505 016300 012667 162132 66500 MOV (SP)+, ANS1 :SAVE RTI ADDRESS
3506 016304 011667 162130 66600 MOV (SP), ANS?2 :SAVE RT] STATUS
3507 016310 042767 000020 162122 66700 BIC #20, ANS?2 :CLEAR THE T-BIT
3508 016316 012746 016324 66800 - MOV #18, -(SP)
3509 016322 000002 66900 RTI :RESTORE PROCESSOR STATUS
3510 016324 016767 162160 162110 67000 1%: MOV STACKQ, ANS3 :SAVE DATA
3511 016332 016767 162154 162104 67100 MOV STACKZ2, ANS4 :
3512 016340 016767 162150 162100 67200 MOV STACK4, ANSS 2
3513 016346 016767 162144 162074 67300 MOV STACK6, ANS6 :
3514 016354 000137 67400 JMP a(PC)+ :SIMULATED RTS
3515 016356 000000 67500 SAVRTS: 0
3516 67600
%g}g 2;588 :SUBROUTINE TO PUSH 4 WORDS ONTOD THE P(C STACK
3519 016360 012504 67900 PUSH7: MOV (R5)+, R4 :SET R4 TO STACK
3520 016362 012524 68000 MOV (R5)+, (R4)+ ;PUT DATA ON STACK
3521 016364 012524 €¢8100 MOV (RS)+, (R4)+ :
3522 016366 012524 68200 MoV (RS)+, (R4)+ : ,
3523 016370 012524 68300 MOV (RS)+, (R4)+ ; :
3524 016372 68700 MTPS (R5) + :SET THE PROCESSOR STATUS
3525 016372 106425 LWORD 106400!..C
3506 016374 005205 69100 INC RS
3527 015376 012577 162062 69200 MOV (RS)+, @FISVEC :SET UP FIS ERROR TRAP VECTOR
3528 016402 012577 162060 69300 MOV (RS)+, @FISLVL ;TRAP STATUS
3529 016406 000205 69400 RTS RS :RETURN
3530 69500 , y
3531 69600 ;SUBROUTINE TO POP 4 WORDS OFF THE P( "'STACK
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P11 16~-AUG-78 08:41 PUSH AND POP SUBROUTINES SEQ 0093

23588 ;ALSO SAVES THE PROCESSOR STATUS WORD (EXCEPT T BIT)

016410 70200 POP7:  MFPS $PSW ;SAVE PROCESSOR STATUS WORD

016410 106767 .WORD 106700:..C '

016414 042767 000020 162010 70600 BIC #20, $PSW ;CLEAR T=-BIT

016422 011600 76700 MOV (SP), RO sGET RETURN ADDRESS

016424 162700 000014 70800 SuB #14, RO ;POINT TO TOP OF 'PC STACK''

016430 012067 162002 70900 MOV (RO)+, ANSI ;SAVE 1ST HALF INPUT DATA

016434 012067 162000 71000 MOV (RO)+, ANS2 ;SAVE 2ND HALF INPUT DATA

016440 010067 161770 71100 MOV RO, ] ;SAVE ASSUMED END PC "'STACK POINTER''

016444 012067 161772 71200 MOV (RO)+, ANS3 ;SAVE 1ST HALF OF ANSWEP

016450 012067 161770 71300 MOV (RO)+, ANS4 ;SAVE 2ND HALF OF ANSWER

016454 000207 ;}288 RTS PC
;}988 ;ERRONIOUS TRAP SERVICE ROUTINE

016456 104000 - 71800  TRAPER: HLT ;F1S SHOULDN'T HAVE TRAPED

016460 000547 547 :THE ERROR NUMBER IS 547

016462 000002 72000 RTI
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P11 16-AUG-78 08:41 PUSH AND POP SUBROUTINES SEQ 009

:ttii"tt'!t‘ltitttttlttﬁt*.t*tﬁ"..Qtii‘.Qtltl.ti.'t.tti.l‘!'tttl‘.
"SBTTL HLT ROUTINE (ERROR TYPEOUT)

016466 932737 002000 000422 HLTS: BIT  #SW10,@4SSWREG ;SHOULD IT RING THE BELL ON ERROR?

016472 001402 BEQ 13 ‘NO = SKIP

016474 000004 000504 TYPE  ,SBELL :RING BELL

016500 005267 161756 18: INC ERRORS :COUNT THE NUMBER OF ERRORS

016506 032737 020000 000422 BIT #SW13,a4SSWREG :SKIP TYPEOQUT IF SET

016512 001023 BNE 2% SKIP TYPEOUTS

016514 000004 000472 TYPE  ,RETURN

016520 013637 000402 MOV 3(6)+,a#SFATAL ;PLACE THE ERROR NUMBER IN LOCATION SFATAL

016504 014667 161700 ° MOV -(6) ,HLTADS *PUT ADDRESS OF INSTRUCTION ON STACK

016530 162767 000002 161672 SUB  #2,HLTADS

016536 017605 000000 MOV @(6),TTY :TYPE @(6) IN OCTAL

016542 004767 000124 JSR %7,PRINTR :TYPE LEADING ZERO'S

016546 062716 000002 ADD #2,(6) ADJUST THE RETURN ADDRESS

016552 000004 000500 TYPE  ,SPACE+3

016556 004767 000046 JSR PC,ERRORS ;GO TO USER ERROR ROUTINE

016562 105767 161632 28: TSTB  SENV ARE WE RUNNING UNDER APT?

016566 001403 , BEQ 43 IF NOT THEN GO TO 4$

016570 005237 000400 INC AFSMSGTY :OTHERWISE INFORM APT

016574 000777 BR . :AND LOOP

016576 005737 000422 4$: TST SSWREG *HALT ON ERROR

016602 100001 BPL .+ *SKIP IF CONTINUE

016604 000000 HAL T *HALT ON ERROR!

016606 032737 001000 000422 BIT #SW09, a4$SWREG  :CHECK FOR INAIBIT LOOP ON ERROR

016614 001001 BNE L+ *SKIP IF LOOP ON ERROR

016616 000002 RTI

016620 105067 161657 | CLRB  SICNT

016624 000167 177164 JMp <IT$ ;LOOP ON TEST UNTIL NO ERRORS

72300
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P 16~-AUG~78 HLT ROUTINE (ERROR TYPEOUT) SEQ 0095
72500
:Ql’.l’.."'ttit.t.titttt'tittttﬁﬁ!t.tttltt.ltl.t.l.titt.i........
72700

72800 .SBTTL USER ERROR ROUTINE

72900
016630 117767 161574 161702 73000 E£RRORS: MOVB @HLTADS , TYPCNT ;TYPE COUNT IS LOW BYTE OF HLT
016636 062767 000002 161674 73100 ADD ", TYPCNT ;TYPE COUNT = X+2
016644 012703 000430 73200 MOV #HLTADS ,R3 :TOP OF DATA TO BE TYPED
016650 73300 ERR1S: ,
016650 012305 MOV (R3)+,TTY ;TYPE (R3)+ IN OCTAL
016652 004767 000014 JSR X7 ,PRINTR ;TYPE LEADING ZERO'S
016656 000004 000501 73400 TYPE, SPACE+4 : SPACE
016662 105367 161652 73500 DECB TYPCNT ;CHECK FOR DONE
016666 100370 73600 BPL ERR1S ;BRANCH IF NOT DONE
016670 000207 ;%288 RTS PC '
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PAGE 88

F 8

TAL WORD B ADDRESS TYPER

PRINTR:
PRINTS:

.PRL:

.PRF:

.PRBUF :

MOVB
BR
CLR
MOVB
MOV
MOV
CLRB
BR
CLRB
ROL
ROLB
ROL
ROLB
ROL
ROLB
1ST8B
BEQ
INCB
1STB
BEQ
BISB
INCB
BNE
CMP
BNE
MOVB
CLRB
TYPE
MOV
RTS

.BLKW

#1,.PR
.46

PR
#-6,.PR+1
R4 ,-(6)

# .PRBUF R4
(4)

.PRF

(4)

TTY

(4)

TTY

(&)

TTY

(4)

(4)

.+6

oPR

.PR

.*6
#'0,(4)+
.PR+1

.PRL

# .PRBUF ,R4

.46
#'0,(4)+
(&)

. - PRBUF
(6)+,R4
PC

4

:gE}Pzeno FILL SWITCH
*SUPRESS LEADING 2ERO'S
“SET COUNT

“SAVE Ré

;SET POINTER TO FIRST ASCII (HAR.

:CLEAR FIRST BYTE
;ROTATE FIRST BIT
:CLEAR BYTE OF CHARA(TER
JROTATE BIT INTO C
;PACK IT

JROTATE BIT INTO C
JPACK IT

JROTATE BIT INTO C
JPACK IT

;1S IT ZERO?

;SKIP INC

;SET FILL SWITCH
JCHECK FILL SWITCH
;SKIP BITSET

:MAKE INTO ASCII CHAR
:INC COUNT

;REPEAT

:EMPTY BUFFER?
;SKIP IF NOT

:LOAD 1 ZERO

;NULL TERMINATOR
JTYPE IT

;RESTORE R4
JRETURN

:OUTPUT BUFFER

SEQ 0096
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017152
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OCTAL WORD & ADDRESS TYPER
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.SBTTL POWER DOWN AND UP ROUTINES
;POWER DOWN ROUTINE

$PWRDN: MOV #SILLUP,Q#PWRVEC ;;SET FOR FAST UP
MOV #340,9#PWRVEC+2 ;;PRIO:?7
MOV RO,=(SP) ::PUSH RO ON STACK
MOV R1,=-(SP) :;PUSH R1 ON STACK
MOV R2,=-(SP) ;:PUSH R2 ON STACK
MOV R3,-(SP) ;iPUSH R3 ON STACK
MOV R4 ,=-(SP) ;2PUSH R4 ON STACK
MOV RS,=(SP) :;PUSH RS ON STACK
MOV SP,$SAVR6 ::SAVE SP
ngT #SPWRUP ,a#PWRVEC ;;SET UP VECTOR
H
BR .~2 ; HANG UP
:POWER UP ROUTINE
$PWRUP: MOV $SAVR6,SP ::GET SP
(LR $SAVRE ;;WAIT LOOP FOR THE TTY
18: INC $SAVR6 ::WAIT FOR THE INC
BNE 1% ::0F WORD
MOV (SP)+,R5S ::POP STACK INTO R5
MOV (SP)+ R4 ::POP STACK INTO R4
MOV (SP)+,R3 ::POP STACK INTO R3
MOV (SP)+,R2 ::POP STACK INTO R2
MOV (SP)+ ,R1 ::POP STACK INTO R1
MOV (SP)+ RO ::POP STACK INTO RO
MOV #SPWRDN , a#PWRVEC ;;SET UP THE POWER DOWN VECTOR
MOV #340,a#PWRVEC+2 ;;PRIO:7
TYPE :REPORT THE POWER FAILURE
$PWRMG : é!?RD $POWER :;POWER FAIL MESSAGE POINTER
$ILLUP: HALT
B8R .~
$SAVRE: O :;PUT THE SP HERE
$POWER: .ASCIZ <15><12>"POWER"’
EVEN

;;THE POWER UP SEQUENCE WAS STARTED
;; BEFORE THE POWER DOWN WAS COMPLETE

SEQ 0097
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TR R

g

—
8

38333

8883

83

lolelelelelelsls

38

OO0
£38

¢

04000

71 74700
7 764800 ..~ TYPE OUT ROUTINE
7 74900 = :
74 75000 ;=
3675 75100 ;=
3676 75200 ;=* THIS ROUTINE 1S USED TO TYPE ASCIZ MESSAGES
3677 75300 ;=
3678 75400
3676 017170 132737 000040 000421 75500 $TYPE: BITB #60 ,4$ENVM :HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
3680 017176 0201007 75600 ~ BNE 3% :1F SO THEN RETURN FROM THE SUBROUTINE VIA 3
3681 017200 010046 75700 * MOV RO,=(SP) ;OTHERWISE SAVE RO
3682 017202 017600 000002 75800 MOV a2 (SP) RO :GFT THE ADDRESS OF THE ASSCIZ STRING
23683 017206 112046 75900 2%: MOvB (RO)+,-(SP) :PUSH THE CHARACTER TO BE TYPED ONTO STA(K
2684 017210 001005 76000 BNE 4% :BRANCH IF IT IS NOT THE TERMINATOR
3685 017212 005726 76100 TST (SP)+
3686 017214 012600 76200 MOV (SP)+ R0 :OTHERWISE RESTORE THE STACK AND RO
3687 017216 062716 000002 76300 3%: ADD #2,(SR) ;ADJUST THE RETURN PC
;233 017222 0000C°2 ;gggg RTI ;AND RETURN
3690 017224 105777 161320 76600 4%: TSTB a$TPS ;1S THE PRINTER AVAILABLE?
3691 017230 100375 76700 BPL 4% :IF NOT THEN LOOP HERE
3692 017232 112677 161314 76800 MOova (SP)+,a%TPB :0UT PUT THE CHARACTER
3693 017236 000763 76900 BR 2% ;AND GO BACK
2694 0172640 005015 053104 040513 77000 STTTLE: .ASCIZ <15><12>/DVKALC = LSI=11 FIS INSTRUCTION TEST/
3695 017246 041503 026440 046040
3696 017254 044523 030455 020061
3697 017262 044506 020123 044440
3698 017270 051516 051124 041525
3699 017276 044524 047117 052040
3700 017304 051505 000124
3701 77100 .EVEN :THAT WAS THE HEADING FOR THE DIAGNOSTIC
3702 017310 012206 000600 77200 NOOOP: MOV #BEGIN,SP ;INITIALIZE STACK POINTER TO 600
3703 017314 132737 000001 000420 77300 BITE &1 ,a48ENV ;JARE WE UNDER APT
3704 017322 001011 77400 BNE 22% :IF SO THEN DO NOT TYPE HEADING
3705 017324 132737 000040 000421 77450 BITB #40 ,a#SENVM :HAVE THE CONSOLE OUTPUTS BEEN SUPPRESSED
3706 017332 001005 77460 BNE 22% :IF SO THEN DO NOT PRINT HEADING
3707 01733 012737 017170 000020 77500 MOV #$TYPE ,a#20 :SET UP VECTOR 20 TO PRINT HEADING
3708 017342 4 017240 Ty ~r-c-c-e . LYPE ... JSTYVILE :TYPE HEADING '‘VKACC =-LSI-11 ..."
3709 01736 012767 000001 161162 77700 22%: MOV #,TIMES : # OF ITERATIONS IN THE FIRST PASS=1
2710 017354 012700 000410 77800 MOV #$DEVCT RO :PREPARE TO INITIALIZE THE PROGRAM
2711 017360 005040 77900 2%: (LR -(RO) ;
371§ 017362 022700 000400 78000 {MP #$MALL RO
3713 (017366 001374 78100 BNE 2% ?
714 077370 000167 160610 78200 IMP RESTRT :START THE PROGRAM
§715 000001 . 78300  .END
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CROSS REFERENCE TABLE =-- USER SYMBOLS

351
989
1671
2375
3117
356
994
1676
2380
3122
999
2917
1076
3059
1153

397
1061
1723
2441
305

402
1065
1728
2446

3446

1071
3054
1148
3216
1795

N — — W) — =

(O Ve LTV, N oWt [ NIV, |
Q0 =N NN = A
LS00 0 OO OWWNWV

NHO = NONO 00N NWVINIWKN

- AN =N = (NP S —a AN — —a
QOWSIN == DW=

ONPNUND =2 S~ OO 0O N S -2 00 N &~

581
1297
1959
2623
3492+

627
1343
2005
2685
3505+

632
1548
2010
2690
3507+

251

54,2+
2318

2777

SEQ 0099

71
144

282

72
144
210
283
238
263

292
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s CVKACC P 16~AUG~78 08:41 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0100
88‘5.88 ANSE 000450 1644 35{; ?3?2 ?Sgg. 13?;5‘ 1800 1872 2328 2400. 2710 782 85
4 3
00% 3069 3226 3334 3467« 3513« ’ . ”
00 APASS = %8888 100 108 “*«\
00800 APRIOR= 100
00900 ASWREG= 88%% 100 116 )
01000 ATESIN= 100 107 |
01100 AUNIT = 000000 100 170 |
01§00 AUSWR = 000000 100 117
01300 AVECT1= 000000 100 .- l
8&% S‘E’EG?'?: 000600 ;8? 2084 %) %33 477 476 707 709 3 5
y . C 75 75 973 977 97
01600 1117 1121 1123 1279 1281 1377 1379 1705 1707 1759 1763 1765 208
01700 2087 2359 2363 2\365 2475 2477 2885 2889 2891 3186 3189 3294 329
01800 3286 3702 :
01900 ENDCT 015644 33924 .
02000 END1 001040 2694
8 100 ENDI0 002254 5914 4
%% END11 002412 L3784
0 END1% 002550 6834
02400 END1 002702 712 7258
02500 END14 003036 758 7754
02600 END15 003176 g21#
700 END16 003350 8754
800 END17 003602 903 9478
0 END?2 001200 3154
0 END20 004032 974 982 10154
03100 END21 004270 1047 10914
0 588 END22 004522 1118 1126 11638
0 END23 004662 12094
0{400 END24 005016 12554
03500 ENDZ25 005152 1290 13074
0;600 END2 005310 13534
8 700 END?2 005444 1288 14054
3800 END3 001334 2614
03900 END30 005604 14514
04000 END31 005744 14974 -
04188 END3 006104 15434
o"ioo END3 006242 15894
04 END34 006376 16354
8:4% END35 006534 16814
5 END36 006670 1716 1733#
600 END37 007122 1760 1768 1805#
700 END4 001470 L4074
800 END4O 007360 1833 1877#
04900 END41 007514 1923%#
05000 END4 007654 19694
05100 END4 010010 20154
0s END4G 010144 20614
85 END4S Q103 2090 21074
5400 END46 (1104 3¢ 21534
05 END47 (10612 22074
0 ENDS 001922 436 453
05 ENDSO 010766 22614
0S800 ENDS!? 01122¢ 2289 23334
0S900 FNDS?2 011454 2360 23%68 26058
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g%;gg CVKACC.P1T 16~AUG~78 (08:41 CROSS REFERENCE TABLE == USER SYMBOLS SFQ

00600 ENDS3 017612 24514

00500 ENDSG 011746 2480 24978

00688 ENDSS 012104 25434

007 ENDS6 012240 258594

00800 ENDS7 012414 26434

END6 001754 482 L9994

81000 END6EO 01§652 2671 27154
01100 END61 013110 2743 27874
01;88 END6§ 013346 <815 28594
81 ENDS 013600 2886 2894 29374

1400 END64 014016 30004
01500 ENDES 014274 3030 30734
01600 END6E 014472 2103 31274
01700 END67 015134 2143 3171 3192 3234m
01800 END7 002114 5454
01900 END70 015562 3251 3279 3300 33424
02000 ERRORS 000462 1674 3557«
02100 ERRORS® 016630 3568 35884
02%88 ERR1® 016650 35914 3596
02 FISLVL 000466 1694  3434» 3482+ 3528«
026400 FISVEC 000464 1684 3433 3481+ 3527«
02500 HLT = 104000 564 251 256 261 266 271 297 302 307 312 317 363 34
02600 353 358 263 389 394 399 404 409 434 440 445 450 45
02700 480 486 491 496 501 527 532 537 542 547 573 578 58
02800 588 593 619 624 629 634 639 665 670 675 680 685 71
02900 716 7€) 726 731 756 762 767 772 777 803 808 813 81
03000 823 852 857 862 867 872 877 901 909 914 919 924 97
03100 934 939 944 949 971 980 986 991 996 1001 1006 1011 101
03200 - 1021 1045 1053 1058 1063 1068 1073 1078 1083 1088 1093 1115 112
0% 1130 1135 1140 1145 1150 1155 1160 1165 1191 1196 1201 1206 121
0%400 1237 1242 1247 1252 1257 1288 1294 1299 1304 1309 1335 1340 134
03500 1350 1355 1386 1392 1397 1602 1407 1433 1438 1443 1448 1453 147
03600 1484 1489 1494 1499 1525 1530 1535 1540 1545 1571 1576 1581 158
03700 15?1 1617 1622 1627 1632 1637 1663 1668 1673 1678 1683 1714 172
0 1725 1730 1735 1757 1766 1772 1777 1782 1787 1792 1797 1802 180
03 1831 1839 1844 1849 1854 1859 1864 1869 1874 1879 1905 1910 191
04000 1920 1925 1951 1956 1961 1966 1971 1997 2002 2007 2012 2017 204
04100 2048 2053 2058 2063 2088 2094 2099 2104 2109 2135 2140 2145 215
04;88 2155 2184 2189 2194 2199 2204 2209 2238 2243 2248 2253 2%22 226
04 2287 2295 2300 2305 2310 2315 2320 2325 2330 2335 2357 2 257
04s00 2377 2382 2387 2392 2397 2402 2407 2433 2438 2443 2448 245% 247
045 2484 2489 2494 2499 2525 2530 2535 2540 2545 2571 2576 2581 258
Ok 2591 2620 2625 2630 2635 2640 2645 2669 2677 2682 2687 2692 269
04 700 2702 2707 2712 2717 2741 2749 2754 2759 2764 2769 2774 2779 278
04g88 2789 2813 2821 2826 2831 2836 2841 2846 2851 2856 2861 2883 289
04 2898 2903 2914 2919 2924 2629 2934 2939 2981 2986 2997 300
05000 3028 2036 3041 3046 3051 3056 3061 3066 3071 3075 3101 3109 N
05100 3119 3124 3129 3190 3197 3202 3207 3213 3218 3223 3228 323%7 329
05 3305 3310 3315 3321 3326 3331 3336 3345 3548
85 HLTADS 000430 1504 151 3562« 3563+  3ER8 2590

400 HLTS 016464 214 35544 '

SSO0 ISA20 00%710 G78 OBL#

S% ISAZ2 004376 1122 1128#

S ISAS7? Q06775 1764 17704
05800 1SAS?2 011330 2364 2370#
05900 1SA63 (13454 2890 2899#
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(VKACC.P11  16=AUG-78 08:41 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0102

ISR17 003436 893 9054

ISR20 003664 965 9764

ISR21 004120 1037 10494

[SRee 004352 1109 11204

ISR37 006752 1751 17624

ISR40 007210 1823 18354

[SRST 011054 2279 22914

ISR52 011304 2351 23624

ISR60 012502 2661 06734

ISR61 012740 2733 2745H

[ SR62 013176 2805 28174

ISR63 013430 2877 28

ISR65 014124 3012 30324

ISR66 014402 3084 31054

ISR67 014646 3145 31654

ISR70 015276 3253 32734

KITS 016014 302 3408 34144 3580

LADS 70 1708 226% 3151* 3259%  3411x 3415 3417

N = 000071 778 229 2754 321 3674 4134 4594 5054  SS14  S974 643w 68w 73

7814  807# 8814 9534 10254 10974 11694 12154 12614 13134 13594 14114 145

1503¢ 15494 15954 16414 1687# 1739%# 18114 18834 19294 19754 20214 20674 211
21508 22134 22674 2339 24114 24574 25034 25494 25954  2649% 2721 27934 286
50438 2969 30054 30774 31314 3134 32424 33504

NOOOP 017310 200 3702

OVERS 016020 3400 34154 _ .

POPER 016270 905 1049 1835 2291 2673 2745 2817 3032 3105 3179 3287  3502#

POPER1 016274 3183 3291 35044

POPES 016126 976 . 1120 1762 2362 2888 3456 .

POPR 016240 % e 339 385 523 569 615 661 799 899 1043 1187 123
1331 1429 © 1475 1521 1567 1613 1659 _ 1829 1901 1947 1993 2039 213
2285 2429 2521 2567 2667 2739 2811 3006 3489

POPS 016074 430 476 706 752 970 1114 1278 1376 1704 1756 2084 2356 247

POP7 016410 869 2181 2235 2617 3534 3

PRINTR 016672 3565 3593 35994

PRINTS 016702 36014 ‘

PUSHR 016206 237 283 329 375 513 559 605 651 /89 889 1033 1177 122
1327 1419 1465 1511 1557 1603 1649 1819 1891 1937 1983 2029 212,
2275 2419 2511 2557 2657 2729 2801 3014 3086 3152 3260 3473«

PUSHS 016034 S5 a8 697 743 961 1105 1269 1367 1695 1747 2075 2347 246

PUSH? 016360 835 2167 2221 2603 35194

PWRVEC= 000024 66#  3636* 3637+ 3645+ 2660 3661+

RESTRT 000204 2014 3714

RETURN 000472 - 1714 3149 3257 3560

RTn17 003420 899#4 917

RTA20 003646 9704 989

RTAQ1 004102 10434 1061

RTA22 004334 11144 1133

RTA37 006734 17564 1775

RTAG0 007172 18294 1847

RTAST 011036 22854 2303

RTAS2 011266 23564 2375

RTAGD 072464 266748 2685 .

RTA61 012722 27398 2757 -

RTA62 013160 28114 2829




2388
2383

B

22222329222
SR88838828338

<

T

SSORS
8338

S

loleole

o
N
-
8

o lele]
ru
3

olelelele]
gu
8

w

RRRRRR
8383383

3

OO000C
VIVAL'N

§83835a8 2%

—
lolele

M 8
CVKACC MACYTT 30A(1052) 21-AUG-78 15:28 PAGE 96

CVKACC.P11  16=AUG-78 08:41 CROSS REFERENCE TABLE -- USER SYMBOLS
RTA63 013412 2882¢ 2901
RTA6S 014106 30064 3044
RTAGE 014364 30984 3117 _
RTAG7 014640 31614 3163 3166 3168 3185 3205
RTA70 o1s§70 3694 3271 3274 3276 3293 3313
SAVRTS 016356 3504% 35154
SAVTPS 000506 1774
SCOPE = 104400 674 236 282 328 374 420
788 834 888 960 1032 1104
1510 1556 1602 1648 169 1746
2166 2220 2274 2346 2418 2464
- 2952 3011 3083 3141 3249 3366
SCOPES 015716 216 33974
SPACE 000475 172¢ 3567 359
STACKO 000510 1784 185 242 288 33, 380
1038 1056 1182 1228 1326 1424
1896 1942 1988 2034 2126 2250
2752 2806 2826 3157 3200 3265
STACK1= 000511 1854
STACK2 000512 1798 3511
STACK4 + 000514 1804 254 300 3456 392 530
1436 1482 1528 1574 1620 1666
2576 3492 3512
STACK6 000516 1814 3493 3513
STACK8 000520 1824
STAK10 000532 184# 2953 2984
STK16 003244 836 B4LH
STk47 010504 2168 21764
STK50 010660 2222 22304
STK57 012306 2604 2612
SVLADS 016002 3,06 34108 3416
SW08 = 00 35 75# 3397
Sw09 = 001000 36 74# 3576
SW10 = 002000 37 734 3554
SWil = 38 72# 3147 3255 3403
Swi2 = 010000 39 714
Sw13 = 020000 40 704 3558
Swis = 040000 41 69% 3401
Sw15 = 100000 42 684
TEMP 000534 186# 3158+ 3170%  3231%  3266* 3278+
TIMES 000536 187# 3133« 3350+ 3407 3709+
TRAPER 016456 241 287 333 379 425 471
840 1181 1227 1273 1388 131
1895 1941 1987 2033 2079 2125
3018 3090 3156 326k 3548
TSA13 002640 708 7144
TSA14 002772 754 7604
TSA25 005106 1280  1292#
1SA27 005400 1378 13904
TSA36 006624 1706  1718#
TSAGS 010234 2086 20924
TSAS 001560 432 4384
TSAS4 011702 2476 24824
TSA6 001712 478 484H
1ST1 000722 2374 -
1ST10 002132 5594 IR

N—I—i

V0o — &~
— o SO
(e 1o oTo Jo 3

WY —

R SO0
O\
co 0O 00

604
1320
1982
2656

656
1608
2562

806
2046

655

1561

2469

SEQ 0103
696 T4
1418 146
2074 212
2800 287
894 91
1824 184
2680 273
1240 133
2436 252

747 79
1653 169
2561 260
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88 00 CvkACC.PN 16-AUG~78 08 CROSS REFERENCE TABLE =-- USER SYMBOLS SEQ 0104
00400 ST 002272 605#
00500 ST 002430 6514
00600 TST1 002566 6974
00700 TST14 002720 7438
00800 TST1S 003054 785
00900 T1ST16 003214 8354 .
01000 T1ST17 003366 8894
01100 T1ST?2 001056 2834
01§88 1ST20 003620 9614
01 1S121 004050 10334
01400 T1ST?2 004 306 1105# .
01500 TSTS 004540 11774
01600 TST24 004700 1223 °
01700 T1S12S 005034 12694
01800 TST26 005170 13214
01900 TST%? 005326 13674
02000 TST 001216 3294
02100 TST30 005462 1419%
02200 TST31 005622 14654
02300 T1ST32 005762 15114
02400 TST33 006122, 15574
02500 TST34 006260 16034
02600 TST3S 006414 16494
0 ;88 TST36 006552 16954
0 TST37 006706 17474
0%888 TST4 001352 3754
0 ' 1ST40 007140 18194
03100 TST41 007376 18914
0 1ST4 007532 19374
0 TST4 007672 ! 19834
03400 TST44 010026 20294
03500 T1ST45 010162 20754
03600 TST46 010316 21214
03700 TST47 010454 21674
0%800 TSTS 001506 Al
03900 TSISO 810630 22214
04088 TSTS1 11004 22754 :
041 TSTS 011240 2347k
82;88 TSTS 011472 24194
TSTS4 011630 24654
82400 TSTSS 011764 25114
500 1ST5S 015122 25574 1
04 TSTS 012256 26034
82 1STé 001640 L4674
TST 012432 26574
84 ISTé 01%670 27294
S000 TST 013126 28014
51 TSTé 013364 28734
5 TSTé64 013616 29534
5 1ST6S 014034 30124 "
54 TST66 014312 30844
855 7519? 014530 31424
TST 001772 513#
05 IST720 015160 ° 3250
0S800 TTYouT 000546 1914 3144 3252 7251
05900 TYPCNT Q00540 1884 3588+ 3589+ 3595~
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CVKACC.P11 16~AUG-78 08:41 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0105

TYPE = 000004 764 3149 3257 3375 3556 3560 3567 3594 3626 3662 3708

YESRT 888242 189# 209

SAPTHD 30 136 1424 149

$BELL 000504 1764 3556

$CPUOP 000426 1184

SDEVCT 000410 1094 3710

$DOAGN 015674 3371 3379 33854

SENDAD 015664 89 33814

SENDCT 015644 33734 3392

$ENDMG 015700 3375 33874

$ENULL 015712 33894

SENV 000420 1144 219 3569 3703

SENWM 000421 1154 3142 3250 3679 3705

$EOP 015620 33654

SEOPCT 015636 33704 3374

SETABL 000420 1134

SETEND 000430 125# 148

$F = 000550 784 252 2534 257 2584 262 2634 267 2684 272 2734 8 29
303 3044 308 3094 313 3144 318 3194 344 3454 9 3504 35
3554 359 3604 364 3654 390 3914 395 3964 o 4014 405 40
410 4114 435 L3564 441 442K 446 L47H 451 L4524 456 L4574 48
4824 487 4,884 492 4934 497 4984 502 5034 528 5 533 53
538 5394 543 5444 548 5494 574 S75#4 579 5804 584 585# 58
5904 594 5954 620 6214 625 6264 630 6314 635 6364 0 64
666 6674 671 6724 676 6774 681 6824 686 6874 4k 7124 71
7184 722 7234 727 7284 732 7334 757 7584 763 7644 7 76
773 7744 778 77948 804 8054 809 8104 814 815# 819 82

9364 940 9614 945 464 950 9514 972 9734 981 9824 987 98
992 9934 997 9984 1002 10034 1007 10084 1012 10134 1017 10184 102
10234 1046 1047# 1054 10554 1059 10604 1 10654 1069 1070# 1074 107
1079 1080# 1084 10854 1089 10904 1094 10954 1116 11174 1125 11264 113
11328 1136 11374 1741 11428 1146 1147# 1151 1152# 1156 1157# 1161 116
166 11674 1192 11934 1197 1198# 1202 12034 1207 12084 1212 12134 123
12394 1243 12444 1248 1249% 1253 1254% 1258 1259# 1289 12904 1%25 129
1390 1301# 1305 13064 1310 13114 1336 13378 1341 13428 1346 1347# 135
135% 1356 13574 1387 13884 1393 13944 1398 13994 1403 14044 1408 140
1434 14354 1439 14404 1444 14458 1449 1450% 1454 14554 1480 14814 148
1486% 1490 164914 1495 1496% - 1500 15014 1526 1527# 1531 15324 1536 153
1541 15424 1546 1547%# 1572 15734 1577 15784 1582 15834 1587 1588+ 159
115934 1618 16194 1623 1624# 1628 1629# 1633 16344 1638 1639# 1664 156
1669 16704 1674 16754 1679 16804 1684 16854 1715 17164 1721 1722¢ 172
17278 1731 17324 1736 1737 1758 17594 1767 17684 1773 17744 1778 177
' 1783 17844 1788 178% - 1797 17944 1798 17994 1803 18044 1808 1329# 183
18334 1840 18414 1845 18404 1850 18514 1855 18564 1860 18614 1865 186
1879 18714 1875 18764 1880 18814 1906 19074 1911 1912¢ 1916 1917 192
19224 1926 19274 1952 19534 1957 19584 1962 19634 1967 1968¢ 1972 197
1998 1999 2003 20044 2008 20094 2013 20144 2018 2019% 2044 20454 204
20504 2054 20554 2059 20608 2064 20654 2089 20904 2095 20964 2100 210
2105 2106# 2110 2111x 2136 21374 2141 21428 2146 21474 2151 2152¢ 215
2157# 2185 21864 2190 2191# 2195 21964 2200 22014 2205 22064 2210 221
2239 22404 2244 22458 2249 22504 2254 22554 2259 22604 2264 22654 228

/ 2289 2296 2297# 2301 2302¢ 2306 23074 2311 2312¢ 2316 2317x 2321 2
' 2326 23278  23%1 c3328 2 23374 2358 2359% 2367 2368% 2373 237644 237
23794 2383 423844 2388 2389 2393 2394 2398 2399 2403 26048 2408 260
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$FATAL 000402
SGET‘Z_

$HD
$HIBTS
$ICNT
$ILLUP
SMAIL
$MBADR
$MSGAD
$MSGLG
$MSGTvY
$PASS
$PASTM
$POWER
$PSW

$PWRDN

$SAVR6

$SE TUP=

$SP

$STUP
$SVP(

$SWREG
$TESTN
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24354
490

92
154

3147
225+

821
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3368+

249

850
1569
2236
2975
3535+
3660

3651+«

248~

622
1234~
1620
2046
2674
3100+

2360
3255
269
875

24454

3579«

387
1051
1718
2431
3099

2449

438
1128
1770
2482
3107
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- \UN00 —
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906+
1476%
1902+
2430
2818+
3296+
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SEQ 0106

248
253
59

275
279
S&k

89
293
302
1

53
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Vi~

SSPERE

145
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00
004 1497 1543 1589  1e35 1681 1733 1805 1877 1923 199 2015 2061 10
00500 2163 2207 2261 2333 2405 2451 2497 2543 2589 2643 2715 2787  28S
5937 3000 3073 3127 3235 333 3399 3410+
00 $TN = 000001 144
00800 $1P8 000952 193¢ 221 3172= 3175« 3280« 3283+ 3692+
$TPS 000550 1924 3159« 3165+ 3173 3176% 3267+ 3273« 3281  3284» 3690

01000 $TSTM 000434 1454
01100 S$TTILE 017240 36944 3708
01200  STYPE 017170 210 3679 3707
01 SUNIT 000412 1104
01400 SUNITM 000440 1478
01500 SUSWR 000424 1174
01 - = 017374 814 82 87 88# 904 924 964 132 1334 1354 1374 149 15
01700 153¢ 1554 1574 1594 1614 1994 2064 250 255 260 65 270 29
01800 301 306 311 316 342 347 352 357 32 388 93 398 40
01900 408 439 444 449 456 485 490 495 500 526 531 53 54
02000 546 572 577 582 587 592 618 623 628 633 638 664 66
021 676  &79 68 715 720 725 730 761 66 771 776 802 80
02 812 817 822 81 86 81 86 871 876 908 913 918 92
0 928 933 938 943 948 985 990 995 1000 1005 1010 1015 102
02400 1052 1057 1062 1067 1072 1077 1082 1087 1092 1129 113 1139 114
025 1149 1154 1159 1164 1190 1195 1200 1205 1210 1236 1241 1246 125

600 1256 1203 1298 1303 1308 133 1339 1344 1349 1354 1391  139% 140
02700 1506 1432 1437 1442 1447 1452 1478 1483 1488 1493 1498 1524 152
02 15%, 1539 154 1570 1575 1580 1585 1590 1616 1621 1626 1631 163

1662 1667 1672 1677 1682 1719 172k 1729  173& 1771 1776 1781 178

0 1791 1796 1801 1806 1838 1843 1848 1853 1858 1863 1868 1873 187
03100 1904 1909 1914 1919 1924 1950 1955 1960 1965 1970 1996 2001 200
03200 2011 2016 2042 2047 2052 2057 2062 2093 2098 2103 2108 213 213
03 2146 2149 2154 2183 2188 2193 2198 2203 2008 2237  gekl 2247 8¢5
03400 5257 2262 229 2299 2304 2309 2314 2319 2324 2329  233%  J371 7
035 5381 2386 0391 2396 Q401 2406 2432 2437 2442 2447 2452  Q4B3 248
03600 5,03 2498 2524 2529 2534 2539 2544 2570 2575 2580  25BS 2590 261
03700 2624 2629 2634 2639  g6Lh 2676 2681 2686 2691  2e% o701 2706 27
03800 5716 2748 2753 2758 2763 2768 Q773 2778 2783 2788 2820 2825 283
03900 5835 2840 0845 2850 Q855 2860 2897 2902 2913 2918 2923 8 o3
04000 9938  2965# 09664 2974k 29754 2980 2985 2991 2996 3001 30204 1w 303
04100 3040 3045 3050 3055 3060 3065 3070 3074 30900 30om 309 3100 310
04 3113 3118 3123 3128 3151 3196 3201 3206 3212 3217 3222 2 &3
04 300. 34,04 32414 3259 33064 3309 3314 3320 3325 3330 3335 3344 g 3
(04400 3387 33004 33024 33934 34314 34324  3h4ow 3443w 3457w 3u58 34794 3480 349
04500 34914 35034 3504# 35254 35264 35354 35364 3572 3574 3577 3600 3615 361
04600 3623 36304 3647 3666

700 .BIT = 177777 w35 36 37 38 39 40 41 42 3554 3558 3576

800 .PR 000544 1904 3599+ 3601+ 3602* 3616* 3617 3620«
04900 .PRBUF 017020 3604 3622 3626 36304
05 PRF 016740 3606 361oA _
051 PRL 016726 36074 3621
05200 18X - 000430 1320 137
05300 1.4 = 016410 20658 297ce 30204 3094 3099w 320 33484 34314 34428 34574 34794 3450w 350
05500 ..B = 014414 29654 2966 297aw 2975 3020w 3021 - 3092¢ 3093 3090w 3100 Zu0w 341 33
05600 3300 34314 3432  3kkow 3443 34574 3458 34704 3480 34904 3491 35034 350
05700 350 3526 35354 3536
05800 ..! 000067 20658 2974w 30208 792 30998 32404 3348 34314 3642m 34574 34794 36904 350

05900 35254  353°#
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3564 3591
297% 3098 3441
2964 2019 3091
Le 3654
L& 3638
LB 79 83
88" 1025
953 1097
229 275 321
413 459 689
3005 3077
2943
2969
2649 2721 2793
2865
2411 2503 2549
2457
252 257 262
390 395 400
528 533 538
666 671 676
804 809 814
925 930 935
1022 1046 1054
1141 1146 1151
1258 1289 1295
1408 1434 1439
1546 1572 1577
1684 1715 1721
1808 . 1832 1840
1926 - 1952 1957
2064 2089 2095
220° 2210 2239
2326 2331 2336
24644 2449 2454
2582 2587 2592
2703 2708 2713
2822 2827 28372
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?9%0 25 %320 2935 2940 2982 2987 2993 2998 2003 30%9 3037 3042 7 5
3057 4 7 3072 3076 3102 2110 3115 3120 3125 3130 3191 §198 3
2214 3219 3224 3229 3238 3299 3306 33N 3316 3322 . 3327 3332 337 6 4
1944 313 3242
1944 2%7 2159 2213 2595
278 3552
1944 2267
1964 2339
1944 1883 1929 1675 2021 2113
194 2067
2Br 2596
268 3393
1944 1811
1964 1739
1944 1169 1215 1313 1411 1457 1503 1549 1595 1641
1948 1261 1359 1687
i

184 e3¢ 257 262 267 272 298 303 308 313 318 344 349 354 35

390 295 400 408 410 435 441 446 451 456 481 487 492 49
502 528 533 538 543 548 574 579 584 589 594 620 625 630 63
640 666 671 676 681 686 711 17 722 727 732 757 763 768 77
778 804 809 814 g19 824 853 858 863 868 873 878 902 910 91
920 925 G30. - " 935 940 945 950 972 981 G987 99?2 997 1002 1007 101
1017 102¢° 1046 1054 1059 1064 1069 1074 1079 1084 1089 1094 1116 1125 113
1136 1141 1146 1151 1156 1161 1166 1192 1197 1202 1207 1212 1238 1243 124
125% 1258 1289 1295 1300 1305 1310 1336 1341 1346 1351 1356 1387 1393 139
1403 1408 1434 1439 1444 1449 1454 1480 1485 1490 1495 1500 1526 1531 153
1541 1546 1572 1577 1582 1587 1592 1618 1623 1628 1633 1638 1664 1669 167
1679 1684 1715 1721 1726 1731 1736 1758 1767 1773 1778 1783 1788 1793 179
1803 1808 1832 1840 1845 1850 1855 1860 1865 1870 1875 1880 1906 1911 191
1921 1926 1952 1957 1962 1967 1972 1998 2003 2008 2013 2018 2044 2049 205
2059 064 2089 2095 2100 2105 2110 2136 2141 2146 2151 2156 2185 2190 219
2200 2205 2210 2239 2244 2249 2254 2259 2264 2288 2296 2301 2306 2311 e
23521 2326 2331 2336 2358 2367 2373 2378 2383 2388 2393 2398 2403 2408 243
2439 24644 2449 2454 2479 2485 2490 2495 2500 2526 2531 2536 2541 2546 257
2577 2582 2587 2592 2621 2626 2631 2636 2641 2646 2670 2678 2683 688 269
2698 2703 2708 2713 2718 2742 2750 2755 2760 2765 2770 2775 2780 2785 279
2814 2822 2827 2832 2837 2842 2847 2852 2857 2862 2884 2893 2899 291
2920 2925 2930 2935 2940 2982 2987 2993 2998 3003 3029 3037 3042 3047 305
3057 3067 3067 3072 307€ 2102 3110 3115 3120 3125 3130 3191 3198 3203 320
321?' 3219 3224 3229 3238 3299 3306 371 3316 3322 3327 3332 3337 3346 354
4
1%
Y LR
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14 Lt 87
i
X i 83
4 LB 1l
i L 127
i
‘s
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. 30820 W
.gg?zo 1:

301V 1

. SEOP i L 3354
. SERRO '8
SERRT i
LIMULT i

. SPOWE 14 o 6%
. SRAND %

. SRDDE i

. SRDOC 4
.SREAD &
.SR2AZ %

. $SAVE %

. $SB2D |4

. $5820 i
.$SCOP 1%

$SI1Z¢ 1%

. $SUPR 4

$TRAP 14 .
.$TYPB %

$TYPD 1%

$TYPE 14

$TYPO 1%

$40CA Y

. ABS. 017374 000

ERRORS DETECTED: 0

CVKACC.BIN, CVKACC . LST/CRF /SOL=CVKACC. SML , CVKACC.P11
RUN-TIME: 17 23 1 SECONDS

RUN=TIME RATIO: 575/42=13.4 _

(ORE USED: 41k (81 PAGES) o
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